280 Melrose Street Providence, RI 02907 Phone 401-784-7263



December 13, 2023

VIA ELECTRONIC MAIL

Luly E. Massaro, Commission Clerk Rhode Island Public Utilities Commission 89 Jefferson Boulevard Warwick, RI 02888

RE: Docket No. 22-33-EE – 2023 Annual Energy Efficiency Program Plan Quarterly Report of EERMC Invoices – 2023 – Quarter 4

Dear Ms. Massaro:

On behalf of The Narragansett Electric Company d/b/a Rhode Island Energy (the "Company"), attached please find the 2023 – quarter 4 report showing Energy Efficiency Resource Management Council ("EERMC") expenses for work performed by EERMC vendors in connection with the 2023 energy efficiency program year that were paid by the Company between October 1, 2023 to December 31, 2023. For the remaining period of December, the expenses for work performed by EERMC vendors has been estimated.

This report is being filed in accordance with directives issued by the Public Utilities Commission ("PUC") at an open meeting that occurred on January 25, 2022. Specifically, the PUC directed the Company to file copies of all invoices paid to cover EERMC's expenses on a quarterly basis by the 15th of April, July, October, and December.

Please note that consistent with the directives issued by the PUC, the Company will also send a copy of this report to each member of the EERMC individually via e-mail.

Thank you for your attention to this filing. If you have any questions or concerns, please do not hesitate to contact me at 401-784-4263.

Sincerely,

Ched m

Andrew S. Marcaccio

Enclosures

cc: Docket No. 22-33-EE Service List Margaret Hogan, Esq. Christy Hetherington, Esq. John Bell, Division Joel Munoz, Division

					Date Invoice	Date Approval by EERMC Executive	Date Invoice
Vendor Name	Vendor Invoice #	Date Range for Time Worked	Inv	voice \$	Received	Director Received	Paid
Optimal Energy	337798	May-23	\$	63,117.00	8/24/2023	8/24/2023	10/4/2023
Optimal Energy	342763	Jun-23	\$	56,952.25	9/7/2023	9/7/2023	10/13/2023
Marissa Desautel	59	Aug-23	\$	825.00	10/5/2023	10/5/2023	10/20/2023
Marissa Desautel	89	23-Sep	\$	1,237.50	10/5/2023	10/5/2023	10/20/2023
Advocacy Solutions	541	Aug-23	\$	3,187.50	10/20/2023	10/20/2023	10/27/2023
Advocacy Solutions	558	Sep-23	\$	150.00	10/20/2023	10/20/2023	10/27/2023
Optimal Energy	347157	Jul-23	\$	59 <i>,</i> 567.74	11/1/2023	11/1/2023	11/8/2023
Advocacy Solutions	571	Oct-23	\$	7,537.50	11/9/2023	11/9/2023	11/17/2023
Optimal Energy	350768	23-Aug		\$73,705.00	11/20/2023	11/20/2023	11/23/2023
Marissa Desautel	135	Oct-23		\$11,260.96	11/27/2023	11/27/2023	12/1/2023
Optimal Energy	358226	Sep-23		\$68,575.00	11/27/2023	11/27/2023	11/29/2023

2023 EERMC Projected Expenses

Budget Category	CY 2023 All	ocated	Remaining Balance	Jar	nuary	Febru	iary	Mar	rch	Apri	1	May		June		July		Aug	ust	Septer	nber	Octo	ber	Nove	mber	Dece	ember
Consultant Services	\$	680,331	\$-	\$	47,388	\$	41,861	\$	48,036	\$	50,943	\$	63,117	\$	56,952	\$	59,568	\$	73,705	\$	68,575	\$	66,169	\$	52,009	\$	52,009
Legal Counsel	\$	71,162	\$ 13,64	3\$	4,720	\$	9,268	\$	5,363	\$	3,383	\$	413	\$	1,497	\$	2,053	\$	825	\$	1,238	\$	11,261	\$	8,750	\$	8,750
Annual Report and Misc. Printing & Distribution	\$	3,000	\$ 1,48	5														\$	1,514								
Council Travel and Education and Advancement	\$	900	\$-							\$	180													\$	179	\$	541
Public Education	\$	57,524																									
2023 Farm Energy Fellow	\$	7,500	\$-																							\$	7,500
Public Forum & Lecture Series	\$	25,024	\$-																							\$	25,024
K-12 Energy Education	\$	25,000	\$ 25,00	D																							
EE and Climate Awareness Campaign	\$	-	\$-																								
2023 Energy Expo	\$	40,000	\$-	\$	40,000																						
EERMC Website	\$	350	\$-																							\$	350
Potential Study Data Refresh	\$	107,884	\$ 6,21	0				\$	64,316	\$	28,542	\$	2,035					\$	6,781								
Market-Based Solutions Study	\$	-	\$-																								
Council Branding and Comms Development	\$	30,000	\$-							\$	1,125	\$	825	\$	300	\$	1,950	\$	3,188	\$	150	\$	7,538	\$	7,463	\$	7,463
Total	\$	991,151	\$ 46,34	0																							

VALUES IN RED ARE ESTIMATES AND HAVE NOT YET BEEN INVOICED FOR 2023

INVOICE Federal Tax ID# 03-0351557



Remit checks to:Remit ACH transfer to:Remit Wire Transfers to:Optimal Energy, Inc.ABA Routing Number 063100277ABA Routing Number 026009593PO Box 74008680Account Number 898052466590Account Number 898052466590Chicago, IL 60674-8680Email ACH/Wire remittance details to RemittanceNotifications@nv5.comSwift Code INTL. BOFAUS3N

May 31, 2023 Project No: 863223-0007525.00 Steven Chybowski Invoice No: 00000337798 Rhode Island Office of Energy Resources Professional Services from May 1, 2023 to May 31, 2023 001 EE Prg Planning & Implementation Oversig Phase Task 01 **Council Representation Professional Personnel** Hours Rate Amount Caesar, Adrian 140.00 1.00 140.00 Johnson, Craig 1.75 193.00 337.75 Keller, Michelle 1.00 206.00 206.00 Ross, Samuel 12.75 206.00 2,626.50 Totals 16.50 3,310.25 **Total Labor** 3,310.25 **Total this Task** \$3,310.25 Task 02 Implementation Oversight and Plan Develo **Professional Personnel** Hours Rate Amount Caesar, Adrian 52.00 140.00 7,280.00 Johnson, Craig 45.25 193.00 8,733.25 Keller, Michelle 7.00 206.00 1,442.00 Ross, Samuel 9.75 206.00 2,008.50 Totals 114.00 19,463.75 **Total Labor** 19,463.75 Consultants Glenn Reed dba: GDR Consulting 927.00 CORE ENERGY INSIGHTS INC. 1,109.75 Energy Futures Group, Inc. 2,832.50 Jennifer Chiodo 1,648.00 RALPH PRAHL 1,081.50 **Total Consultants** 7,598.75 7,598.75 **Total this Task** \$27,062.50 Task 03 **Education Initiatives**

Project	863223-0007525.00	Rhode Island EERMC -	- 2023		Invoice	00000033779
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar,			4.75	140.00	665.00	
Ross, S			3.00	206.00	618.00	
	Totals		7.75		1,283.00	
	Total Labor					1,283.00
Consultant	ts					
Rachel	Sholly				2,857.75	
	Total Consu	Iltants			2,857.75	2,857.75
				Total th	is Task	\$4,140.75
				Total this	s Phase	\$34,513.50
Phase	002	System Reliability Procur	rement			
Task	01	Council Representation				
Profession	al Personnel					
			Hours	Rate	Amount	
Ross, S			1.00	206.00	206.00	
	Totals		1.00		206.00	
	Total Labor					206.00
				Total th	is Task	\$206.00
– – – – – Fask	02	Plan Development and C				
	al Personnel		versignt			
			Hours	Rate	Amount	
Ross, S	amuel		2.50	206.00	515.00	
	Totals		2.50		515.00	
	Total Labor					515.00
				Total th	is Task	\$515.00
				Total this	s Phase	\$721.00
hase	003	Regulatory Proceedings				
「ask	01	Council Representation				
Profession	al Personnel					
			Hours	Rate	Amount	
	n, Craig		4.50	193.00	868.50	
Ross, S			6.00	206.00	1,236.00	
	Totals		10.50		2,104.50	
	Total Labor					2,104.50
				Total th	is Task	\$2,104.50
				i otai tii		+-,-••
 _						
	 02 al Personnel	Develop Technical Mater	- rials			
– – – – – Task Profession	-	Develop Technical Mater	rials Hours			

	223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000033779
Ross, Samuel			2.50	206.00	515.00	
	Totals		7.00		1,383.50	
	Total Labor					1,383.50
				Total th	lis Task	\$1,383.50
				Total this	s Phase	\$3,488.00
Phase	004	Council Sponsored Meet	ings and Mate	erials		
Гаѕк	01	Meeting Attendance				
Professional Pers	sonnel	-				
			Hours	Rate	Amount	
Caesar, Adrian			2.00	140.00	280.00	
Johnson, Craig			5.00	193.00	965.00	
	Totals		7.00		1,245.00	
	Total Labor					1,245.00
Consultants						
Rachel Sholly					563.50	
,	Total Consu	ltants			563.50	563.50
				Total th	is Task	\$1,808.50
Task	02	Develop Technical Mate	rials			
Professional Pers	sonnei					
Professional Pers	sonnei		Hours	Rate	Amount	
Professional Pers Caesar, Adrian			Hours 3.50	Rate 140.00	Amount 490.00	
Caesar, Adrian			3.50	140.00	490.00	
Caesar, Adrian Johnson, Craig			3.50 11.75	140.00 193.00	490.00 2,267.75	
Caesar, Adrian Johnson, Craig			3.50 11.75 7.50	140.00 193.00	490.00 2,267.75 1,545.00	4,302.75
Caesar, Adrian Johnson, Craig	Totals		3.50 11.75 7.50	140.00 193.00	490.00 2,267.75 1,545.00 4,302.75	4,302.75 \$4,302.75
Caesar, Adrian Johnson, Craig Ross, Samuel	Totals Total Labor	Other Council Responsit	3.50 11.75 7.50 22.75	140.00 193.00 206.00	490.00 2,267.75 1,545.00 4,302.75	-
Caesar, Adrian Johnson, Craig Ross, Samuel Task	Totals Total Labor 03	Other Council Responsit	3.50 11.75 7.50 22.75	140.00 193.00 206.00	490.00 2,267.75 1,545.00 4,302.75	-
Caesar, Adrian Johnson, Craig Ross, Samuel Fask	Totals Total Labor 03	Other Council Responsit	3.50 11.75 7.50 22.75	140.00 193.00 206.00	490.00 2,267.75 1,545.00 4,302.75	-
Caesar, Adrian Johnson, Craig Ross, Samuel Task	Totals Total Labor 03 sonnel	Other Council Responsit	3.50 11.75 7.50 22.75 Dilities	140.00 193.00 206.00 Total th	490.00 2,267.75 1,545.00 4,302.75	-
Johnson, Craig Ross, Samuel – – – – – – – Task Professional Pers	Totals Total Labor 03 sonnel	Other Council Responsit	3.50 11.75 7.50 22.75 Dilities Hours	140.00 193.00 206.00 Total th	490.00 2,267.75 1,545.00 4,302.75 his Task	-
Caesar, Adrian Johnson, Craig Ross, Samuel Task Professional Pers Caesar, Adrian	Totals Total Labor 03 sonnel	Other Council Responsit	3.50 11.75 7.50 22.75 Dilities Hours 1.00	140.00 193.00 206.00 Total th Rate 140.00	490.00 2,267.75 1,545.00 4,302.75 his Task Amount 140.00	-
Caesar, Adrian Johnson, Craig Ross, Samuel Fask Professional Pers Caesar, Adrian	Totals Total Labor 03 connel	Other Council Responsit	3.50 11.75 7.50 22.75 Dilities Hours 1.00 8.50	140.00 193.00 206.00 Total th Rate 140.00	490.00 2,267.75 1,545.00 4,302.75 his Task Amount 140.00 1,640.50	-
Caesar, Adrian Johnson, Craig Ross, Samuel Fask Professional Pers Caesar, Adrian Johnson, Craig	Totals Total Labor 03 sonnel Totals	Other Council Responsit	3.50 11.75 7.50 22.75 Dilities Hours 1.00 8.50	140.00 193.00 206.00 Total th Rate 140.00	490.00 2,267.75 1,545.00 4,302.75 his Task Amount 140.00 1,640.50	\$4,302.75
Caesar, Adrian Johnson, Craig Ross, Samuel Task Professional Pers Caesar, Adrian Johnson, Craig	Totals Total Labor 03 sonnel Totals	Other Council Responsit	3.50 11.75 7.50 22.75 Dilities Hours 1.00 8.50	140.00 193.00 206.00 Total th Rate 140.00	490.00 2,267.75 1,545.00 4,302.75 his Task Amount 140.00 1,640.50 1,780.50	\$4,302.75
Caesar, Adrian Johnson, Craig Ross, Samuel Task Professional Pers Caesar, Adrian Johnson, Craig	Totals Total Labor 03 sonnel Totals		3.50 11.75 7.50 22.75 Dilities Hours 1.00 8.50	140.00 193.00 206.00 Total th Rate 140.00	490.00 2,267.75 1,545.00 4,302.75 his Task Amount 140.00 1,640.50	\$4,302.75
Caesar, Adrian Johnson, Craig Ross, Samuel Task Professional Pers Caesar, Adrian Johnson, Craig	Totals Total Labor 03 sonnel Totals Totals Total Labor		3.50 11.75 7.50 22.75 Dilities Hours 1.00 8.50	140.00 193.00 206.00 Total th Rate 140.00	490.00 2,267.75 1,545.00 4,302.75 iis Task Amount 140.00 1,640.50 1,780.50 6,279.00 6,279.00	\$4,302.75

Project	863223-0007525	.00 Rhode Island	EERMC - 2023		Invoice	00000033779
Profession	al Personnel					
			Hours	Rate	Amount	
Johnsor	n, Craig		10.00	193.00	1,930.00	
Keating	, Griffith		1.50	140.00	210.00	
Ross, Sa	amuel		3.25	206.00	669.50	
Socks, 1	Matthew		1.25	206.00	257.50	
	Totals		16.00		3,067.00	
	Total Lab	oor				3,067.00
				Total thi	s Phase	\$3,067.00
	006	Administrative				
	al Personnel	Authinistrative				
Profession	ai Personnei					
	- .		Hours	Rate	Amount	
Johnsor	· -		2.75	80.00	220.00	
	Totals		2.75		220.00	
	Total Lat	or				220.00
Consultant	s					
Rachel S	Sholly				186.75	
	Total Co	nsultants			186.75	186.75
				Total thi	s Phase	\$406.75
Phase	007	EERMC Intern				
Reimbursa	ble Expenses					
Misc Re	imbursable Expense					
5/9/	2023 URI Energ	gy Fellows Program	THE UNIVERSITY	OF RHODE	3,000.00	
	Fee - Jorc	lan Galuzzo	ISLAND			
	Total Re	imbursables			3,000.00	3,000.00
Additional	Fees					
Monthly	/ Intern Fee (May 202	23)			3,750.00	
	Total Ad	ditional Fees			3,750.00	3,750.00
				Total this	s Phase	\$6,750.00
Billing Limi	ite		Current	Prior	To-Date	
Tabal D						
Total Bi	-		63,117.00	188,227.00	251,344.00	
Lim	nit		63,117.00	188,227.00	717,025.00	
Lim	-		63,117.00	188,227.00		
Lim	nit		63,117.00	188,227.00 Total this	717,025.00 465,681.00	\$63,117.00
Lim Rer	nit maining		63,117.00		717,025.00 465,681.00	\$63,117.00
Lim	nit maining	Current	63,117.00 Prior		717,025.00 465,681.00	\$63,117.00
Lim Rer	nit maining		Prior	Total this Total	717,025.00 465,681.00	\$63,117.00
Lim Rer Billings To Labor	nit maining Date	38,881.25	Prior 135,321.50	Total this Total 174,202.75	717,025.00 465,681.00	\$63,117.00
Lim Rer Billings To Labor Consulta	nit maining Date ant	38,881.25 17,485.75	Prior 135,321.50 52,905.50	Total this Total 174,202.75 70,391.25	717,025.00 465,681.00	\$63,117.00
Lim Rer Billings To Labor	nit maining Date ant e	38,881.25	Prior 135,321.50	Total this Total 174,202.75	717,025.00 465,681.00	\$63,117.00

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000033779
Billing	Backup				Thursday,	June 29, 2023
NV5, Inc.	•	Invoice 00	0000337798 D	Dated 5/31/2023		2:11:55 PM
						
Phase		EE Prg Planning & Imple	mentation OV	ersig		
Task	01	Council Representation				
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri		5/25/2023	1.00	140.00	140.00	
Johnson Cu	May RI Technical Work		75	102.00	144 75	
Johnson, Cra	•	5/9/2023	.75	193.00	144.75	
Johnson, Cra	=	RIE and OER, associated 5/25/2023	1.00	193.00	193.00	
JUIIISUII, CI	RI EE TWG Meeting at		1.00	193.00	195.00	
Keller, Miche	-	5/25/2023	1.00	206.00	206.00	
Rener, ment	Attend RI EE Technical		1.00	200.00	200.00	
Ross, Samue		5/1/2023	4.50	206.00	927.00	
,		tend EERMC LEAD Sessio				
Ross, Samue		5/4/2023	1.00	206.00	206.00	
	OER Check In					
Ross, Samue	el	5/9/2023	1.00	206.00	206.00	
	check in call with OER					
Ross, Samue		5/18/2023	4.25	206.00	875.50	
	Council meeting, prep	-				
Ross, Samue		5/23/2023	1.00	206.00	206.00	
Doce Comu	RIE/OER check in	E/2E/2022	1.00	206.00	206.00	
Ross, Samue	EE TWG attendance	5/25/2023	1.00	200.00	200.00	
	Totals		16.50		3,310.25	
	Total Labor		10.50		5,510.25	3,310.25
	10001 20001			T	- - 1	•
				Total this	lask	\$3,310.25
 _	02	Implementation Oversig	ht and Plan De	evelo		
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri	an	5/2/2023	3.00	140.00	420.00	
		view and report developm	nent; May C&I	Sector		
		nent; EM&V Study review				
	Heat Market Character tracker updates	ization Study, RNC Baseli	ne Study; EM8	kV study		
Caesar, Adri	-	5/3/2023	6.00	140.00	840.00	
cucsur, Aun		view and report developm			010.00	
		&I Gas program-level rep				
		gs goal attainment regres				
	Performance lighting a RI EE Plan Deep Dive	nd Networked Lighting Co	ontrois report i	review for		
Caesar, Adri	•	5/4/2023	4.75	140.00	665.00	
		prep; C&I Sector Team n			005.00	
		d C&I raw data reporting				
	check in - C&I EMV me	eting planning, Workforc	e needs asses	sment draft		
		equipment ISP comment t; NonRes New Construct				
	collection tool review		IUII DASEIIIIE S	luuy uala		

Project	863223-0007525.00	Rhode Island EERMC - 2	023		Invoice	000000337798
Caesar, Ad	rian	5/5/2023	1.25	140.00	175.00	
	NonRes New Construction design, and Working Groups of the second	on Baseline Study data coll oup discussion	ection tool,	sample		
Caesar, Ad	rian	5/8/2023	.50	140.00	70.00	
		development; C&I Deep di Census-block-level targetin				
Caesar, Ad	rian Preliminary Q1 Program	5/9/2023 Results analysis	.50	140.00	70.00	
Caesar, Ad		5/10/2023	3.00	140.00	420.00	
	May C&I EM&V Meeting	; EM&V study coordination Preliminary Q1 Program Res	/review - R	NC Baseline		
Caesar, Ad	rian	5/15/2023	.50	140.00	70.00	
	C&I EE Plan Deep Dive review	#1 Prep - Draft WF Analys	is Report a	nd results		
Caesar, Ad	2024-2026 BCR Model L	5/16/2023 Jpdates Discussion prep; R pdates; BCR Model update			350.00	
Caesar, Ad		5/17/2023	1.25	140.00	175.00	
	Deep Dive #1 Prep - RI	cussion debrief and slides r Energy materials review, c evelopment; RI Energy Q1	discussion o	juestions		
Caesar, Ad	rian	5/18/2023	2.25	140.00	315.00	
		n barriers and strategies m w and data report develop rt review				
Caesar, Ad	Irian	5/19/2023	4.00	140.00	560.00	
	results analysis, HVAC/E sources, and discussion Equity in C&I programs,	- MPS data refresh program MS/MBCx industry best pro- questions development; C Workforce Development, unity Engagement strategy	actice resea &I EE Deep Small Busir	arch, data Dive #1: ness		
Caesar, Ad	Irian	5/22/2023	2.50	140.00	350.00	
	Deep dive - HVAC, MBC	Deep dive mtg. prep; 2024 x/RCx, Building Analytics P May Residential EM&V age	rogram, En	ergy		
Caesar, Ad		5/23/2023	3.75	140.00	525.00	
	income-eligible program	ing debrief, RI carbon prici benchmarking and strated p; IES/Res program comp RI Energy Check in	gy research	, EM&V		
Caesar, Ad	Irian	5/24/2023	6.75	140.00	945.00	
	IES/Res program comps prep and study tracker r C&I EE Plan Deep Dive performance lighting res lighting tool and incentiv controls strategy; April tracking workbook upda	and MPS final results ana review; Monthly Res EM&V #3 prep and data analysis sults, MPS data refresh hig ve level review, SBDI lighti C&I Data Report developm tes; RI SEMP initiative des udy review - Res NC and C	Call and for - custom a hlights, per ng controls nent and qu ign review	Illow ups; nd formance and Iarterly for May		
Caesar, Ad		5/25/2023	2.75	140.00	385.00	
		rking session; IES/Res prog				
Caesar, Ad		5/26/2023	2.25	140.00	315.00	

Project	863223-0007525.00 Rhode Island EERMC - 2023	Invoice	000000337798
	Income Eligible program analysis and research check-in; RI Equity working group strategy discussion; C&I EE Plan Deep Dive #3: Lighting/Performance lighting offerings and updated tool		
Caesar, Ad	rian 5/30/2023 .25 140.00 C-Team Check in - Income Eligible and Residential program comps	35.00	
Caesar, Ad		595.00	
	C-Team Check in - Income Eligible and Residential program comps, 2024- 2026 EE plan narrative review coordination; Income Eligible and Residential program/end use-level comps and potential analysis; EM&V Study review - Draft Workforce Needs Assessment Report		
Johnson, C	-	386.00	
Johnson, C	Review res data report, prep materials for Thursday's sector team call.raig5/3/20231.75193.00	337.75	
John John C	Planning - prep materials and discussion topics for upcoming residential deep dive meetings on streamlining residential home service programs. Prep materials and topics for res NC deep dive meeting.	557.175	
Johnson, C	-	627.25	
	Res Sector Team - Review data report and flag questions for sector team meeting. Participate in monthly residential sector team call, associated meeting prep/debrief. C&I Sector Team - Discussion w/ Adrian re: reduced C&I data granularity and identify next steps for resolving.		
Johnson, C	-	337.75	
	Q1 data review in prep for developing Q1 update presentation for Council.		
Johnson, C	-	1,013.25	
	Q1 data review in prep for developing Q1 update presentation for Council. Work on assembling technical agenda for new construction planning deep dive meeting. Discussion w/ Richard re: same. Review recommendations from RNC baseline study. Plan Deep Dive meeting on residential home services streamlining - prep for meeting, conduct meetings, and meeting debrief with Richard and Margie.		
Johnson, C	raig 5/11/2023 1.50 193.00	289.50	
Johnson (Review draft memo to Equity Working Group regarding Council priorities.	200.00	
Johnson, C	raig 5/12/2023 2.00 193.00 Review Q1 report from RIE, incorporate results into presentation for Council. Working session with OER on income eligible program improvement considerations.	386.00	
Johnson, C	-	193.00	
1.1	Review targets, 3YP and annual planning process with Jordan	206.00	
Johnson, C	raig 5/16/2023 2.00 193.00 Review BC Models in prep for walkthrough call with Guidehouse, overview with Jordan re: same. Meeting w/ Guidehouse to review new BC Model setup.	386.00	
Johnson, C	•	820.25	
	Work on scoping out memo and work assignments for Income Eligible program support memo. Review Council memo on 2024-2026 Priorities to inform discussion points at Council meeting related to Plan updates from the Company. Sector Teams - work on planning activities related to upcoming deep dive and sector team meetings, work on setting up background info for EERMC intern to give overview of activities. Review RIE Q1 report.		
Johnson, C		820.25	
	Draft agenda and materials for NC deep dive meeting. Conduct analysis of recent participation and program performance for new construction programs as a material. Work on income eligible participation barriers research, including compiling sources and scoping out research tasks for team.		

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000337798
Johnson, Ci	raig	5/22/2023	3.00	193.00	579.00	
	Review upcoming EM&V Adrian about key topics strategy team - discusse June sector team meetii prep, and res retrofit SC	Monthly check-in meet d deep dive planning m ng, equity memo and EV	ing with intern eeting content	al res , upcoming		
Johnson, Ci	-	5/25/2023	5.50	193.00	1,061.50	
	Income Eligible participa with Adrian and Jordan defining income eligible studies, and outlining ta	on research tasks, outlir participants, review of p	ne next steps. participant/non	Work on		
Johnson, Ci	-	5/26/2023	2.25	193.00	434.25	
	Income Eligible participa session w/ Sam and Adr Continue research and a customers. Coordinate i	ian to discuss research analysis on participation	completed and rates of incom	l next steps. le eligible		
Johnson, Ci	raig	5/30/2023	2.25	193.00	434.25	
	Working session with Sa prep for first draft 3YP r for RNC deep dive meet	eview, and upcoming se				
Johnson, Ci	raig	5/31/2023	3.25	193.00	627.25	
	Sector Team Work - Fin meeting, send update to Prep res sector team for draft on June 1. Work o income eligible non-part	o meeting attendees. 20 plan review in anticipat on review of barriers and	24-2026 Plan I ion of delivery	Review - 9 of first		
Keller, Mich	elle	5/3/2023	.50	206.00	103.00	
	review RI Q1 data repor		&I Sector tean	n call		
Keller, Mich		5/4/2023	1.50	206.00	309.00	
	C&I Sector Team call; A C&I Deep Dive meeting	5				
Keller, Mich		5/16/2023	.50	206.00	103.00	
	Review RI data for C&I			201.00		
Keller, Mich		5/18/2023	.75	206.00	154.50	
Kallar Mich	Prep & Review materials	-	-	206.00		
Keller, Mich	C&I Deep Dive Call #1 ·	5/19/2023	1.75	206.00	360.50	
Keller, Mich	•	5/22/2023	1.50	206.00	309.00	
	C&I Sector Deep Dive # Commissioning, EMS an mtg w. Phil Kazlauskas	2 for C&I EE Planning: t d Building Analytics syst	opics of HVAC	,	507.00	
Keller, Mich	elle RI SEMP info to Adrian	5/23/2023	.25	206.00	51.50	
Keller, Mich		5/24/2023	.25	206.00	51.50	
-	Adrian coordination pre					
Ross, Samu	el work planning and task	5/2/2023	.50	206.00	103.00	
Doce Com	agenda/materials	5/5/2022	1.25	206.00	257.50	
Ross, Samu	task planning for next w same	5/5/2023 k with team; carbon pri			237.30	
Ross, Samu		5/9/2023	2.25	206.00	463.50	
·	DEM GHG emissions inv re: same; confirm roles wk	entory and EE call with	DEM; prep and	l follow up		
Ross, Samu		5/12/2023	1.00	206.00	206.00	

Project	863223-000752	5.00 Rhode Island EERMC -	2023		Invoice	0000003377
	income eligible ca	II w/OER, prep and follow up re	: same			
Ross, Samu	el	5/17/2023	.50	206.00	103.00	
	Initiate next IE re	search steps				
Ross, Samu		5/18/2023	.50	206.00	103.00	
,		: income eligible Qs for OER				
Ross, Samu	-	5/22/2023	3.00	206.00	618.00	
,		l, prep re: same; income eligible				
Ross, Samu		5/26/2023	.75	206.00	154.50	
		mt re: IE research, EWG next s	-			
	Totals		114.00		19,463.75	
	Total La	abor	11 1.00		19,1031/9	19,463.75
				Total th	is Task	\$27,062.50
ask	03	Education Initiatives				
rofession	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri	ian	5/1/2023	4.25	140.00	595.00	
Jacoury / lan		sion/Debrief; LEAD session follo			555100	
	documentation		in apo ana a			
Caesar, Adri	ian	5/2/2023	.50	140.00	70.00	
,		rief and action items discussion				
Ross, Samu		5/3/2023	.25	206.00	51.50	
	Educ next steps	0,0,=0=0			01.00	
Ross, Samu		5/11/2023	1.50	206.00	309.00	
(055, Sumu		on Advocacy Solutions scope of			505.00	
	w/RSholly	on Advocacy Solutions scope of	work, can to	c. sume		
Ross, Samu		5/12/2023	.75	206.00	154.50	
loooy ournu		is scope of work follow up mtg		200100	10 1100	
loss, Samu		5/18/2023	.50	206.00	103.00	
toss, sumu		is first bi-weekly check in	.50	200.00	105.00	
	Totals		7.75		1,283.00	
		hor	7.75		1,205.00	1 292 00
	Total La	abor				1,283.00
				Total th	is Task	\$4,140.75
				Total this	s Phase	\$34,513.50
hase	002		ement			
「ask	01	Council Representation				
rofession	al Personnel					
			Hours	Rate	Amount	
Ross, Samu	el	5/17/2023	1.00	206.00	206.00	
,	attend, present at					
	Totals		1.00		206.00	
	Total La	abor				206.00
						_00.00
				Total th	is Task	\$206.00
Гask	02	Plan Development and Ov	versight			

Ross, Samuel review SRP To	5/17/2023 P priorities deck, share same with 5/26/2023 2022 Year End Report otals	Hours 1.50 h OER 1.00	Rate	Amount 309.00	
develop SR Ross, Samuel review SRP To	P priorities deck, share same with 5/26/2023 2022 Year End Report	1.50 h OER	Rate		
develop SR Ross, Samuel review SRP To	P priorities deck, share same with 5/26/2023 2022 Year End Report	h OER	Rate	309.00	
Ross, Samuel review SRP To	5/26/2023 2022 Year End Report		206.00		
review SRP To	2022 Year End Report	1 00			
То		1.00	206.00	206.00	
	otals				
т		2.50		515.00	
	otal Labor				515.00
			Total th	is Task	\$515.00
			Total this	Phase	\$721.00
Fask 01	Council Representati	ION			
Professional Personne	<u>ا</u> د				
		Hours	Rate	Amount	
ohnson, Craig	5/30/2023	4.50	193.00	868.50	
Attend Fut	ure of Gas Docket Stakeholder Co	mmittee meeting.			
loss, Samuel	5/30/2023	6.00	206.00	1,236.00	
Represent	Councilor Oakley at future of gas	docket			
T	otals	10.50		2,104.50	
T	otal Labor				2,104.50
			Total th	is Task	\$2,104.50
Task 02	Develop Technical M	laterials			
Professional Personne	el de la constante de la consta				
		Hours	Rate	Amount	
ohnson, Craig	5/2/2023	1.00	193.00	193.00	
	te up of responses to PUC data re	equest to EERMC	in LCP		
		1.50	193.00	289.50	
ohnson, Craig	5/3/2023				
Discussion	5/3/2023 w/ OER on responses to PUC DRs		IIG DIC		
responses,	w/ OER on responses to PUC DRs discussion w/ legal re: same.	s. Work on finalizi	-	49.25	
Discussion responses, ohnson, Craig Review upo	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future	s. Work on finalizii .25 e of Gas Docket. R	193.00	48.25	
Discussion responses, ohnson, Craig Review upo responses t	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc	s. Work on finalizii .25 e of Gas Docket. R ket.	193.00 Review		
Discussion responses, ohnson, Craig Review upo responses t ohnson, Craig Prep reviev	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir	s. Work on finalizii .25 e of Gas Docket. R .ket. .50	193.00 Review 193.00	48.25 96.50	
Discussion responses, ohnson, Craig Review upo responses t ohnson, Craig	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir	s. Work on finalizii .25 e of Gas Docket. R .ket. .50	193.00 Review 193.00		
Discussion responses, ohnson, Craig Review upo responses t ohnson, Craig Prep reviev future of ga	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir	s. Work on finalizii .25 e of Gas Docket. R .ket. .50	193.00 Review 193.00		
Discussion responses, ohnson, Craig Review upo responses to ohnson, Craig Prep review future of ga ohnson, Craig Debrief on research as	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir as docket 5/30/2023 Future of Gas Docket Stakeholde ssignments on NEPOOL certificate	s. Work on finalizin .25 e of Gas Docket. R ket. .50 ng stakeholder me 1.25 er meeting with Sa es to inform thinkin	193.00 Review 193.00 Reting on 193.00 m. Plan out	96.50	
Discussion responses, ohnson, Craig Review upo responses t ohnson, Craig Prep review future of ga ohnson, Craig Debrief on research as of gas dock	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir as docket 5/30/2023 Future of Gas Docket Stakeholde ssignments on NEPOOL certificate set and in carbon accounting disc	s. Work on finalizin .25 e of Gas Docket. R ket. .50 ng stakeholder me 1.25 er meeting with Sa es to inform thinkin ussions.	193.00 Review 193.00 Peeting on 193.00 m. Plan out ng in future	96.50 241.25	
Discussion responses, ohnson, Craig Review upo responses to ohnson, Craig Prep review future of ga ohnson, Craig Debrief on research as of gas dock	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 w materials in advance of upcomir as docket 5/30/2023 Future of Gas Docket Stakeholder ssignments on NEPOOL certificate set and in carbon accounting discu 5/3/2023	s. Work on finalizin .25 e of Gas Docket. R ket. .50 ng stakeholder me 1.25 r meeting with Sa es to inform thinkin ussions. 2.00	193.00 Review 193.00 Reting on 193.00 m. Plan out	96.50	
Discussion responses, ohnson, Craig Review upo responses to ohnson, Craig Prep review future of ga ohnson, Craig Debrief on research as of gas dock toss, Samuel LCP DR res	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir as docket 5/30/2023 Future of Gas Docket Stakeholde ssignments on NEPOOL certificate set and in carbon accounting discu- 5/3/2023 ponse development, review, team	s. Work on finalizin .25 e of Gas Docket. R ket. .50 ng stakeholder me 1.25 er meeting with Sa es to inform thinkin ussions. 2.00 n discussion	193.00 Review 193.00 eeting on 193.00 m. Plan out ng in future 206.00	96.50 241.25 412.00	
Discussion responses, ohnson, Craig Review upo responses to ohnson, Craig Prep review future of ga ohnson, Craig Debrief on research as of gas dock coss, Samuel LCP DR res	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir as docket 5/30/2023 Future of Gas Docket Stakeholde ssignments on NEPOOL certificate ket and in carbon accounting discu 5/3/2023 ponse development, review, team 5/31/2023	s. Work on finalizin .25 e of Gas Docket. R ket. .50 ng stakeholder me 1.25 r meeting with Sa es to inform thinkin ussions. 2.00	193.00 Review 193.00 Peeting on 193.00 m. Plan out ng in future	96.50 241.25	
Discussion responses, ohnson, Craig Review upo responses to ohnson, Craig Prep review future of ga ohnson, Craig Debrief on research as of gas dock coss, Samuel LCP DR res	w/ OER on responses to PUC DRs discussion w/ legal re: same. 5/4/2023 coming meeting notices for Future to PUC DRs in LCP Standards doc 5/25/2023 v materials in advance of upcomir as docket 5/30/2023 Future of Gas Docket Stakeholde ssignments on NEPOOL certificate set and in carbon accounting discu- 5/3/2023 ponse development, review, team	s. Work on finalizin .25 e of Gas Docket. R ket. .50 ng stakeholder me 1.25 er meeting with Sa es to inform thinkin ussions. 2.00 n discussion	193.00 Review 193.00 eeting on 193.00 m. Plan out ng in future 206.00	96.50 241.25 412.00	

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000033779
				Total thi	s Task	\$1,383.50
				Total this	Phase	\$3,488.00
 . Phase	 004	Council Sponsored Mee	tings and Mate			
– – – – Task	 01	Meeting Attendance				
	nal Personnel					
			Hours	Rate	Amount	
Caesar, Adı	rian	5/18/2023	2.00	140.00	280.00	
	May EERMC Meeting					
Johnson, C	raig	5/1/2023	3.00	193.00	579.00	
	Attend and present teo with client.	hnical material at Counc	il LEAD sessior	n. Debrief		
Johnson, C	-	5/18/2023	2.00	193.00	386.00	
	•	chnical materials for May		ng.		
	Totals		7.00		1,245.00	
	Total Labor					1,245.00
				Total thi	s Task	\$1,808.50
Task	02	Develop Technical Mate	erials			
Profession	nal Personnel					
			Hours	Rate	Amount	
Caesar, Adı		5/3/2023	.25	140.00	35.00	
	communications initiat			-		
Caesar, Adı		5/5/2023	.50	140.00	70.00	
C	May EERMC mtg. mate		1 50	1 40 00	210.00	
Caesar, Adı		5/10/2023	1.50	140.00	210.00	
C	presentation; C-Team		, .		25.00	
Caesar, Adı		5/11/2023	.25	140.00	35.00	
	presentation; C-Team	rials Development - Preli quarterly report	minary Q1 Res	uits		
Caesar, Adı	rian	5/17/2023	.25	140.00	35.00	
	May EERMC Mtg. prep					
Caesar, Adı	rian	5/18/2023	.50	140.00	70.00	
	May EERMC Meeting p	rep				
Caesar, Adı		5/31/2023	.25	140.00	35.00	
		evelopment; Branding & study cost benchmarking		ons and		
Johnson, C	-	5/5/2023	.75	193.00	144.75	
		development assignmer Sam and Adrian re: san on.				
Johnson, C		5/10/2023	4.00	193.00	772.00	
-	May Meeting Materials	- Working session with S als and assignments. Wo		el on		

Project	863223-0007525.00	Rhode Island EERMC ·	- 2023		Invoice	00000337798
Johnson, C	Craig	5/11/2023	5.00	193.00	965.00	
		aterials - Q1 program up				
		, EERMC annual report c				
	posting to Council webs	same. Package and sen		OER IOI		
Johnson, C		5/17/2023	1.00	193.00	193.00	
	-	als, discuss presentation				
	tomorrow's Council mee	ting. Update Council me	eting calenda	r.		
Johnson, C	Craig	5/18/2023	.50	193.00	96.50	
	Finish edits to Council c	alendar meeting materia	l.			
Johnson, C	Craig	5/31/2023	.50	193.00	96.50	
	Review draft agenda for	r June Council meeting, J	provide feedb	ack.		
Ross, Sam	uel	5/5/2023	.50	206.00	103.00	
	assess, assign responsit	pilities for Council materi	als			
Ross, Sam		5/10/2023	3.00	206.00	618.00	
		als, incl. review OER bud	get slides, be	gin work on		
Dec. C	deck	F /11 / 2022		206.00	F66 F0	
Ross, Sam		5/11/2023	2.75	206.00	566.50	
	and edits re: annual rep	aterials, reviews and edit ort SRP sections	ts, re: same, i	inci. reviews		
Ross, Sam	-	5/17/2023	.50	206.00	103.00	
		ord speaking roles and a	attendance			
Ross, Sam		5/31/2023	.75	206.00	154.50	
		kely Council materials ne search, 3YP and other ite		uc RFP and		
	Totals		22.75		4,302.75	
	Total Labor		22.75		1,502.75	4,302.75
						-
				Total thi	s lask	\$4,302.75
— — — — Task	03	Other Council Responsib	 · vilities			
	nal Personnel					
110105510			Hours	Rate	Amount	
Caesar, Ad	rian	5/5/2023	1.00	140.00	140.00	
		itiative review & comps			110.00	
		ock group and neighborh				
	targeting for Councilor (·	5		
Johnson, C	Craig	5/3/2023	.75	193.00	144.75	
		eport data needs from R	IE. Working s	session with		
	Rachel on updates.					
Johnson, C	-	5/8/2023	2.25	193.00	434.25	
		feedback from Sue and several graphs and the s				
Johnson, C		5/10/2023	1.50	193.00	289.50	
, -	-	Report - review near fin				
		timeline and needs to f				
Johnson, C		5/11/2023	.75	193.00	144.75	
	Wrap up graph updates				, 0	
Johnson. C	Craig	5/12/2023	2.75	193.00	530.75	
Johnson, C	-	5/12/2023 comment on EERMC ann	2.75 Jual report, se	193.00 Ind feedback	530.75	

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000337798
Johnson, C	raig	5/14/2023	.50	193.00	96.50	
	Review policy recomm Rachel.	endations language in ar	nual report, fe	edback to		
	Totals		9.50		1,780.50	
	Total Labor					1,780.50
				Total thi	s Task	\$8,059.50
				Total this	Phase	\$14,170.75
Phase	005	Research, Analysis, and	I Other Council			
Professio	nal Personnel					
			Hours	Rate	Amount	
Johnson, C	Craig	5/3/2023	1.00	193.00	193.00	
	Check-in meeting w/ MRI. Review RIE RI spe Sam re: same. Quick a	Aelissa on development o cific AESC update SOW, o analysis on share of bene uate or missing anything.	discussion w/ N	1att and		
Johnson, C	-	5/18/2023	.25	193.00	48.25	
	-	rief with Jordan on EC4 S	STAB meeting.			
Johnson, C	Craig	5/22/2023	1.00	193.00	193.00	
		Planning tasks and meeti n. Weekly kickoff meeting		for the		
Johnson, C	Craig	5/24/2023	1.00	193.00	193.00	
	Review update from R memo of talking point	IE on Equity Working Gro s re: EWG.	oup, begin wor	k to compile		
Johnson, C	Craig	5/26/2023	5.75	193.00	1,109.75	
	communications with activities and expectat share with individual (v of historical meeting ma others, and Council priori cions for 2023. Draft sum Councilors. Review RIE EV Ice, pass along invite to c	ties regarding mary status up VG poll, and co	EWG date to pordinate		
Johnson, C	Craig	5/31/2023	1.00	193.00	193.00	
	draft up research task assignments for recen	nt - prep review materials on NEPOOL certificates, t stakeholder meetings. N ents of new Council meml	and draft sum Ionitor Senate	mary		
Keating, G	riffith	5/5/2023	1.50	140.00	210.00	
	Prep for carbon call carbon call with state follow up internal call	& company				
Ross, Sam	uel	5/3/2023	.25	206.00	51.50	
	AESC RI update disc					
Ross, Sam		5/16/2023	1.50	206.00	309.00	
		Councilors Case and Ande	erbois			
Ross, Sam		5/18/2023	1.00	206.00	206.00	
		hair Gill Case, prep re: sa				
Ross, Sam		5/18/2023	.50	206.00	103.00	
Cooler M. 1	EC4 STAB summary fr		- -	206.00	15450	
Socks, Mat		5/3/2023	.75 C Doce C John	206.00	154.50	
	benefits stacks from p	ate scope, comments w/ rior plan	S.RUSS, C.JONI	ISON, TEVIEW		
Socks, Mat		5/9/2023	.50	206.00	103.00	
		-,-,				

Project	863223-0007525.0	0 Rhode Island EERM	IC - 2023		Invoice	000000337798
	Participating in RI A	SC update kickoff call				
	Totals		16.00		3,067.00	
	Total Labo	or				3,067.00
				Total this	Phase	\$3,067.00
Phase	006	Administrative				
Professio	nal Personnel					
			Hours	Rate	Amount	
Johnson, C	Craig	5/4/2023	1.50	80.00	120.00	
Johnson, C	Cindy/others on adm	5/17/2023	1.25	80.00	100.00	
	Totals		2.75		220.00	
	Total Labo	or				220.00
				Total this	Phase	\$406.75
Phase	007	EERMC Intern				
				Total this	Phase	\$3,000.00
				Total this l	Project	\$59,367.00
				Total this	Report	\$59,367.00

THE UNIVERSITY Accounts Receivable OF RHODE ISLAND Carlotti Administration Building DIVISION OF ADMINISTRATION 75 Lower College Road, Suite 011 AND FINANCE Kingston RI 02881 Kingston, RI 02881



To: Optimal Energy	URI Invoice No:	28753
ATTN: Cindy Kimball	Date Prepared:	April, 26th 2023
10600 Route 116 Suite 3	_	
Hinesburg VT 05461	Vendor Ref No:	
802.482.5624	URI Department:	Cooperative Extension (2012)
Cindy.Kimball@nv5.com	DeptTelephone:	401-874-2900

All bills are due and payable upon receipt. Any questions should be directed to the department indicated above.

Date	URI Acct & Chartfield String	Description	Quantity	Unit Price		Amount
02/08/23	101-2012-7021	2023 University of Rhode Island Energy Fellows Program	1	3,000.00	\$	3,000.00
,,		coordination fee for Optimal Energy Fellow, Jordan	_	-,	+	-,
		Galuzzo including:			\$	-
		a) Professional development seminars (May-June 2023;				
		Sept-Dec 2023) b) Industry training field trips and meetings (May-Aug			\$	-
		2023);			\$	-
					Ŷ	
		c) Program administration, including student recruitment,			\$	-
		screening, placement and evaluation and mentor			\$	-
		organization support (pre-program year; Jan-Dec 2023)			\$	-
					\$	-
		Please direct questions about the Energy Fellows Program			Ŷ	
		fee			\$	-
		to Kate Venturini Hardesty, Program Administrator, at 401-				
		874-4096			\$	-
		or kate@uri.edu.			\$	-
					\$	-
					\$	-
					\$	-
					\$	-
					\$	_
					\$	_
					\$	-
					\$	-
					\$	-
					\$	-
					\$	-
					\$	-
					\$	-
					\$	-
		PI	ease Pay T	h is Amount >	\$	3,000.00

Make checks payable to: University of Rhode Island Mail checks to: Carlotti Administration Building

75 Lower College Road, Suite 011 Kingston, RI 02881

** To insure proper credit, return a copy of this invoice with your payment. **

Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: Invoice Date: OEI Project #: CEI RI 5-2023 May 31, 2023 7525

\$1,109.75

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Services		Amount				
Services Performed 05/01/23 through	Services Performed 05/01/23 through 05/31/23						
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 5.75 0.00	<u>Hourly Rate</u> \$193.00 \$96.50	<u>Amount Due</u> \$1,109.75 \$0.00				
Travel Expenses (See attached travel expense form fo	or details.)		\$0.00				

Margie Lynch/Core Energy Insights, Inc. Services Performed 05/01/23 through 05/31/23

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
5/2/2023	Drafted request to Equity Working Group		1.00			0.00	0.00	0.00
5/4/2023	Prepared for and participated in Res Sector Team meeting		1.25			1.00	0.00	1.00
5/5/2023	Compiled infomration on MA partnerships program in response to Councilor request		0.50			1.25	0.00	1.25
	Reviewed 3 YP outline; participated in and debriefed deep dive meeting w/Company reps re: possible program consolidation		1.75			0.50	0.00	0.50
	Prepared for and participated in prep meeting for Res Deep Dive on new construction		1.25			1.75	0.00	1.75
						1.25	0.00	1.25
						0.00	0.00	0.00
	Total Hours	0.00	5.75	0.00	0.00	5.75	0.00	5.75
	Total Amount	\$0.00	\$1,109.75	\$0.00	\$0.00	\$1,109.75	0.00	\$1,109.75

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 5 Invoice Date: May 3 OEI Project #: 7

5813 May 31, 2023 7525

\$2,832.50

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Amount						
Services Performed 05/01/2023 throug	Services Performed 05/01/2023 through 05/31/2023						
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 13.75 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$2,832.50 \$0.00				
Travel Expenses (See attached travel expense form for	details.)		\$0.00				

Energy Futures Group, Inc. Services Performed 05/01/2023 through 05/31/2023

		001 - EE Prog	ram Planning & In	plementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
	Sharepoint enrollment		0.25			0.00	0.00	0.00
	Scheduling, check in with G. Reed		0.50			0.25	0.00	0.25
5/4/2023	C&I sector team meeting		1.00			0.50	0.00	0.50
	Res Sector meeting		1.00			1.00	0.00	1.00
5/9/2023	Prep for then check in with Craig J re. RNC deep dive. Ellen Tohn call re. RI MF opportunities.		1.50			1.00	0.00	1.00
	RI code emails		0.50			1.50	0.00	1.50
	Lighting schedule coordination with Travis @ RIE		0.25			0.50	0.00	0.50
	Attend C&I Deep Dive meeting #2		1.00			0.25	0.00	0.25
	RNC slides, internal planning meeting with Criag, Margie.		1.50			1.00	0.00	1.00
	Scheduling		0.25			1.50	0.00	1.50
5/24/2023	Prepare agenda and questions for C&I lighting deep dive		1.00			0.25	0.00	0.25
	Upstream dashboard updates; prep for lighting deep dive; lead deep dive meeting; send out notes		4.25			1.00	0.00	1.00
	Review RNC questions with G. Reed for RNC deep dive. Review 2024 three year plan preview memo.		0.75			4.25	0.00	4.25
						0.75	0.00	0.75
						0.00	0.00	0.00
	Total Hours	0.00	13.75	0.00	0.00	13.75	0.00	13.75
	Total Amount	\$0.00	\$2,832.50	\$0.00	\$0.00	\$2,832.50	0.00	\$2,832.50

Г

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

-

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 5R May 31, 2023 7525

\$927.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Amount		
Services Performed 05/01/23 through			
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 4.50 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$927.00 \$0.00
Travel Expenses (See attached travel expense form for	r details.)		\$0.00

GDR Consulting Services Performed 05/01/23 through 05/31/23

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
						0.00	0.00	0.00
5/4/2023	Participate in monthly RI Sector Team call; review of Q1 data		1.75			1.75	0.00	1.75
5/9/2023	Participate in RI DEEP Dive call: Streamlining Home Energy Services		1.00			1.00	0.00	1.00
5/24/2023	Participate in monthly EM&V call, tracker review and call prep		0.75			0.75	0.00	0.75
	Prep for RNC Deep Dive call: call w/R. Faesy, review of RNC Baseline and Code compliance study and draft comments shared							
5/31/2023	with internal team		1.00			1.00	0.00	1.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	4.50	0.00	0.00	4.50	0.00	4.50
	Total Amount	\$0.00	\$927.00	\$0.00	\$0.00	\$927.00	0.00	\$927.00

Make Payable to: Jennifer Chiodo JLC Consulting 52 Bent Creek Road Hinesburg, VT 05416

TO: Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: Invoice Date: OEI Project #: *R*-23.04 *May* 31, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Service	Amount		
Services Performed 05/01/23 through 05/3	31/23		
LABOR - Regular Hours LABOR - Travel Hours Travel Expenses (See attached travel expense form for deta	<u>Hours</u> 8.00 0.00 ails.)	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,648.00 \$0.00 \$0.00

TOTAL DUE

\$1,648.00

Make Payable to: Jennifer Chiodo Services Performed 05/01/23 through 05/31/23

		001 - EE Prog	ram Planning & Im					
Date	Description of Services	001-02001-01ImplementationCouncilOversight & PlanRepresentationDevelopment			Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
5/4/23	C&I Program meeting, prep and follow-up		1.50			1.50	0.00	1.50
5/16/2023	Deep dive prep - equity, Wx		0.75			0.75	0.00	0.75
5/17/2023	Deep dive prep - equity, Wx		0.50			0.50	0.00	0.50
5/18/2023	Deep dive prep - equity, Wx, Workforce Development		1.00			1.00	0.00	1.00
	Deep dive call - equity, Wx, Workforce Development and HVAC							
5/19/2023	call prep		2.50			2.50	0.00	2.50
5/21/2023	Planning research deep dive prep		1.00			1.00	0.00	1.00
5/22/2023	HVAC deep dive		0.75			0.75	0.00	0.75
						0.00	0.00	0.00
	Total Hours	0.00	8.00	0.00	0.00	8.00	0.00	8.00
	Total Amount	\$0.00	\$1,648.00	\$0.00	\$0.00	\$1,648.00	0.00	\$1,648.00

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 39 May 31, 2023 7525

\$1,081.50

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Description of Services						
Services Performed 05/01/23 through							
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 5.25 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,081.50 \$0.00				
Travel Expenses (See attached travel expense form for	\$0.00						

		001 - EE Pro	gram Planning & Imp					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
	NRNC baseline study (conf call + prep); workforce needs							
5/5/2023	assessment study	1.50				1.50	0.00	0.00
5/10/2023	C&I studies check-in call; RNC baseline repor	0.75				0.75	0.00	1.50
5/26/2023	WFD report	0.25				0.25	0.00	0.75
5/28/2023	WFD report	0.25				0.25	0.00	0.25
5/29/2023	WFD report	1.50				1.50	0.00	0.25
5/30/2023	WFD report	1.00				1.00	0.00	1.50
						0.00	0.00	0.00
	Total Hours	5.25	0.00	0.00	0.00	5.25	0.00	5.25
	Total Amount	\$1,081.50	\$0.00	\$0.00	\$0.00	\$1,081.50	0.00	\$1,081.50

Rachel Sholly 48 Hudson Street, Providence, RI 02909

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 65 May 31, 2023 7525

\$9,887.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description	Description of Services							
Services Performed 05/01/2023 through 05/31/2023								
LABOR - Regular Hours LABOR - Admin Hours LABOR - Travel Hours	<u>Hours</u> 60.25 2.25 0.00	<u>Hourly Rate</u> \$161.00 \$83.00 \$80.50	<u>Amount Due</u> \$9,700.25 \$186.75 \$0.00					
Travel Expenses (See attached travel expense form	for details.)		\$0.00					

Date Description of Sarvices Representation Propresentation and the state of t		s Performed 05/01/2023 through 05/31/2023	001 - EE Prog	ram Planning & Im	plementation	004 - Council	Sponsored Meeti	ngs & Materials					
LEA mg pmg - mg antering. Start (Set) 0.0 3.5 1.2 3.7 0.0 1.8 Cham glamping mc LEAD other (May Caucel mg undatating the served to guo (ECOmm ing hd 0.0032) Get (Jacom Magnet Messare (Caucel mg undatating the served to guo (ECOmm ing hd 0.0032) Get (Jacom Magnet Messare (Caucel mg mc Campagnetine Messare (Caucel mg mc Caucel mg mc Caucel mg mc Campagnetine Messare (Caucel mg mc Caucel mg mc matchine (Caucel mg mc matchine (Caucel mg mc matchine (Caucel mg mc matchine (Caucel mg mc matchine (Caucel mg mc mc matchine (Caucel mg mc mc matchine (Caucel mg mc mc matchine (Caucel mg mc mc mc mc mg mc mc matchine (Caucel mg mc	Date	Description of Services	001-01 Council	001-02 Implementation Oversight & Plan	001-03 Education	Meeting	Develop Technical	Other Council		Regular			Total Hours
Cleam pairing: me. LEAD adhet, My Could nig legis. Cleam pairing: me. LEAD adhet, My Could Rept. Could night adheted gram, miled b prog. Education night. 20 150 50 0.0 003022 Sturp (Piblic me for Annual Rept. Could night promets, annual Rept. Clank, Cl. Adheted Rept. 0.00 100 0.00 0.00 promets, annual Rept. Clank, Cl. Adheted Rept. 0.25 2.00 2.25 0.00 0.00000000000000000000000000000000000													
boxs. Cleam Jamma Rev. Anall Rejort. Compile outstanding mer. analle Roys used. Compile prev. Carrespondence within some outstanding assort with their Sector Sector Rev. Sector Rev. Cleams (Cleams) (Cleams	05/01/23				0.25	3.50			1.25	3.75	0.00	1.25	5.00
056525 Set op Puttither fire Annual Report 0 1.00 0.00 0.00 Progress, manual report, Call WC, Johnson (C-Tawn) & P. GI Case (Counted) re: Annual Report second draft 0.25 2.00 2.25 0.00 0.00 050022 Annual Report second draft 0.25 2.00 2.25 0.00 0.00 050022 Annual Report second draft 0.25 2.00 0.25 0.00 0.00 050022 Annual Report second draft 1.75 6.50 8.25 0.00 0.00 050023 Annual Report second draft 1.75 6.50 8.25 0.00 0.00 050023 Compling Annual Report second draft 1.75 6.50 8.25 0.00 0.00 0471122 Compling Annual Report second draft 0.75 4.26 5.00 0.00 0.00 051122 Compling Annual Report second draft 0.25 5.76 6.00 0.00 0.00 061122 Compling Annual Report second draft 0.25 5.76 6.00 0.00 0.00	05/03/23	topics; C-team planning re: Annual Report; Compiled outstanding items, emailed to group; EdComm mtg incl.			2.00			1.50		3.50	0.00	0.00	3.50
P. Gil Case (Councily) m: Annual Report second dath based on Councily 0.25 2.00 2.25 0.00 0.00 060821 Annual Report second dath based on Councily 0.25 2.00 2.25 0.00 0.00 Review & Constraint on Resonand data 0.25 0.00 0.00 0.00 0.00 Review & Constraint Report second data 1.75 6.50 8.25 0.00 0.00 Compling Annual Report second data 1.75 6.50 8.25 0.00 0.00 Compling Annual Report second data 0.75 4.20 5.0 0.00 0.00 Compling Annual Report second data 0.75 4.20 5.0 0.00 0.00 Compling Annual Report second data 0.75 4.20 5.00 0.00 0.00 Compling Annual Report second data 0.75 4.20 5.00 0.00 0.00 Compling Annual Report second data 0.75 6.76 6.00 0.00 0.00 Compling Annual Report second data 0.25 6.76 6.00 0.00 0													1.00
Incorporated updated REE content into second draft 0 0.00 0.00 0.00 0.00 0.00 Review & correspondence re: updated Advecey SDV; Annual Report Second draft 1.75 6.50 8.25 0.00 0.00 06/1023 VULB; Corping Annual Report Second draft 1.75 6.50 8.25 0.00 0.00 06/1023 VULB; Corping Annual Report Second draft 0.75 4.25 5.00 0.00 0.00 06/1023 VULB; Corping Annual Report Second draft 0.75 4.25 5.00 0.00 0.00 06/1023 VULB; Corping Annual Report Second draft 0.75 4.25 5.00 0.00 0.00 06/1123 Compling Annual Report Second draft 0.75 4.25 5.00 0.00 0.00 06/1123 Compling Annual Report Second draft 0.75 4.25 5.00 0.00 0.00 06/1123 Compling Annual Report Second draft 0.25 5.75 6.00 0.00 0.00 08/123 Compling Annual Report Second draft 0.25 5.75 6.00 0.00 0.00 08/123 Compling Annual Report Second draft <td>05/08/23</td> <td>P. Gill Case (Councilor) re: Annual Report graphics; Edited Annual Report second draft based on Councilor</td> <td></td> <td></td> <td>0.25</td> <td></td> <td></td> <td>2 00</td> <td></td> <td>2 25</td> <td>0.00</td> <td>0.00</td> <td>2.25</td>	05/08/23	P. Gill Case (Councilor) re: Annual Report graphics; Edited Annual Report second draft based on Councilor			0.25			2 00		2 25	0.00	0.00	2.25
Review & correspondence re: updated Advocacy SOW; C+aam check in re: Cuncil mig matrialis, Compling MuRI: Compling Annual Report second duit 1.75 6.50 8.25 0.00 0.00 Compling Annual Report second duit 1.75 6.50 8.25 0.00 0.00 05/1122 Compling Annual Report second duit 0.75 4.25 5.00 0.00 0.00 05/1122 Compling Annual Report second duit 0.75 4.25 5.00 0.00 0.00 05/1122 Compling Annual Report second duit 0.75 4.25 5.00 0.00 0.00 05/1122 Compling Annual Report second duit 0.75 4.25 5.00 0.00 0.00 05/1122 Compling Annual Report second duit 0.25 5.75 0.00	00/00/20				0.20			2.00		2.20	0.00	0.00	2.20
Class Anual Report second fright Subic overs the teck-in gamma Report second fright Subic overs the technic overs the second fright Subic overs the technic overs the second fright Subic over	05/09/23	Annual Report; Compiling second draft						3.00		3.00	0.00	0.00	3.00
Team's Team's Tollow-up correspondence re: Advocary SOV: 0.07 4.25 0.00 0.00 Compiling Annual Report second draft, Reviewed & respondence with a second draft, Call w/G. Johnson (C-Team) re: Annual Report second draft, Call w/G. Johnson (C-Team) re: Annual Report accord draft, Call w/G. Johnson (C-Team) re: Annual Report accord draft, Call w/G. Johnson (C-Team) re: Annual Report Second draft. 0.02 5.75 6.00 0.00 0.00 05/12/23 Compiling Annual Report second draft 0.25 5.75 6.00 0.00 0.00 Report Call w/G. Johnson (C-Team) re: Annual Report second draft 0.175 1.75 0.00 0.00 Roman Report Call w/G. Johnson (C-Team) re: Annual Report second draft 0.00 1.00 1.00 0.	05/10/23	C-team check-in re: Council mtg materials; Compiling Annual Report second draft; Public events check-in			1.75			6.50		8.25	0.00	0.00	8.25
responded to C-Team comments on Annual Report second draft; Call WAdvocacy (re: SOW; Correspondence wRI 05/17/23 Compling Annual Report second draft 0.25 5.75 6.00 0.00 0.00 05/17/23 Compling Annual Report second draft 0.25 5.75 6.00 0.00 0.00 05/17/23 Compling Annual Report second draft 0.25 5.75 6.00 0.00 0.00 Annual Report copy editing & correspondence; CHP mg coordinator; Council mg per; Reviewed & correspondence; e: Advocacy whole; Calculators & film formating of Advocacy whole; Calculators & film formating of condinato; Council mg rev; Reviewed & correspondence; e: Advocacy whole; Calculators & film formating of condinato; Council mg rev; Review & correspondence er: Advocacy whole; Calculators & film formating of condinate; Annual Report communications & second draft 1.50 3.50 0.00 0.00 05/17/23 lupdies 0.014/02 0.75 4.00 1.00 4.75 0.00 0.00 05/17/23 lupdies 0.014/02 1.50 0.00 0.00 0.00 0.00 05/17/23 lupdies 0.046 0.75 4.00 1.00 4.75 0.00 0.00 05/17/23 lupdies 0.0146 1.50 0.00 0.00 0.00 <t< td=""><td>05/11/23</td><td>Team) & follow-up correspondence re: Advocacy SOW; Compiling Annual Report second draft</td><td></td><td></td><td>0.75</td><td></td><td></td><td>4.25</td><td></td><td>5.00</td><td>0.00</td><td>0.00</td><td>5.00</td></t<>	05/11/23	Team) & follow-up correspondence re: Advocacy SOW; Compiling Annual Report second draft			0.75			4.25		5.00	0.00	0.00	5.00
05/14/23 Compling Annual Report second draft 1.75 0.00 0.00 05/15/23 Compling Annual Report second draft 5.00 0.00 0.00 Annual Report copy editing & correspondence; CHP mig coordination; Council mig prep: Reviewed & adited Advocacy updated workplan, Review & correspondence re: Advocacy updated workplan, Review & correspondence re: Advocacy updated workplan, Review & correspondence re: Advocacy updated workplan, Review & correspondence coloridater, Annual Report second draft 1.50 3.50 5.00 0.00 0.00 05/16/23 Complied education related takes for updated EFRMC calendar; Annual Report communications & second draft 1.50 3.50 5.00 0.00 1.00 05/17/23 updates 0.75 4.00 1.00 4.75 0.00 1.00 05/18/23 rengy expo video; EERMC mg attendance & annual 05/18/23 1.50 0.00 0.00 1.00 05/223 ChP mg coordination 1.50 0.025 0.25 0.00 0.00 05/223 Schi mg coordination 1.50 0.00 0.00 0.00 02/223 ChP mg coordination 0.50 0.25 0.25 0.00	05/40/00	responded to C-Team comments on Annual Report second draft; Call w/C. Johnson (C-Team) re: Annual Report; Call w/Advocacy re: SOW; Correspondence w/RI			0.05			5.75		6.00	0.00	0.00	6.00
05/15/23 Compling Annual Report second draft 5.00 5.00 0.00 Annual Report osecond draft 5.00 0.00 0.00 Annual Report osecond draft 5.00 0.00 0.00 Advecacy updated workplan. Review & correspondence, re: Advecacy updated workplan. Review & correspondence re: Advecacy update Mark annual Report communications & second draft 1.50 3.50 5.00 0.00 0.00 O5/16/23 Annual Report osecond draft 0.75 4.00 1.00 4.75 0.00 0.00 O5/1723 updates 0.75 4.00 1.00 4.75 0.00 0.00 O5/1723 updates 0.75 4.00 1.00 4.75 0.00 0.00 O5/18/23 report presenation 1.50 0.25 0.25 0.25 0.00 0.00 Updated RFP calendar; Correspondence re: eld RFPs 1.50 0.50 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00					0.25								6.00 1.75
coordination: Council mtg prep: Reviewed & defield Advocacy updated workplan, Reviewe & correspondence re: Advocacy unvoice; Calculations & final formatting of 05/16/23 Annual Report second draft 1.50 3.50 5.00 0.00 Q1 advities: report. C-team planning re: Council mtg; Compiled education related dates for updated EERNC calendar: Annual Report communications & second draft 0.75 4.00 1.00 4.75 0.00 1.00 Advocacy tricker 8.00 1.50 0.75 4.00 1.00 4.75 0.00 1.00 Advocacy tricker 0.75 4.00 1.00 4.75 0.00 0.00 05/18/23 report presenation 1.50 0.25 0.25 0.00 0.00 05/2223 CPH rng coordination 1.50 0.00 0.00 0.00 Updated RFP calendar; Correspondence re: edu RFPs & mtgs; Developed strategy for review of brand/comms medievrables; Planing for edu mtg; Public events check- in wURI & follow-up summary to EdComm; Updated 5.50 0.00 0.00 05/2223 Drafted & sert edu agenda to DER 0.50 0.50 0.50 0.00 0.00 05/2223 Drafted Agenda no CR 0.50 0.50 0.50 0.00 0.00 </td <td></td> <td>5.00</td>													5.00
Compiled education related dates for updated EER/MC calendar; Annual Report communications & second draft 0.75 4.00 1.00 4.75 0.00 1.00 Advocacy check-in; Review & correspondence re: energy expo video; EER/MC mg attendance & annual 0.75 4.00 1.00 4.75 0.00 1.00 05/18/23 Ireport presenation 1.50 0.25 0.00 0.00 05/22/23 CHP mtg coordination 0.25 0.25 0.00 0.00 Updated RFP calendar; Correspondence re: edu RFPs & mgs; Developed strategy for review of brand/comms deliverable; Planning for edu mtg; Public events check- in w/URI & follow-up summary to EdComm; Updated 8	05/16/23	coordination; Council mtg prep; Reviewed & edited Advocacy updated workplan, Review & correspondence re: Advocacy invoice; Calculations & fiinal formatting of Annual Report second draft			1.50			3.50		5.00	0.00	0.00	5.00
energy expo video; EERMC mtg attendance & annual 05/18/23 report presenation 1.50 1.50 0.00 0.00 05/22/23 CHP mtg coordination 0.25 0.25 0.00 0.00 0.00 Updated RFP calendar; Correspondence re: edu RFPs & mtgs: Developed strategy for review of brand/comms deliverables; Planning for edu mtg; Public events check- in w/URI & follow-up summary to EdComm; Updated 6 <t< td=""><td>05/17/23</td><td>Compiled education related dates for updated EERMC calendar; Annual Report communications & second draft updates</td><td></td><td></td><td>0.75</td><td></td><td></td><td>4.00</td><td>1.00</td><td>4.75</td><td>0.00</td><td>1.00</td><td>5.75</td></t<>	05/17/23	Compiled education related dates for updated EERMC calendar; Annual Report communications & second draft updates			0.75			4.00	1.00	4.75	0.00	1.00	5.75
Updated RFP calendar; Correspondence re: edu RFPs & mtgs; Developed strategy for review of brand/comms deliverables; Planning for edu mtg; Public events check- in w/URI & follow-up summary to EdComm; Updated 05/24/23 brand/comms timeline, related correspondence5.500.000.0005/25/23 Sent updated brand/comms timeline to Advocacy 05/25/23 Drafted & sent edu agenda to OER0.500.500.000.0005/25/23 The to updated brand/comms timeline to Advocacy 05/25/23 Drafted & sent edu agenda to OER0.500.500.000.0005/25/23 Charted & sent edu agenda to OER0.500.500.000.000.0005/25/23 Charted & sent edu agenda to OER0.500.500.000.0005/25/23 Charted & sent edu agenda to OER0.500.500.000.0005/26/23 Charted & sent edu agenda to OER0.500.000.000.0005/26/23 Charted & sent edu agenda to OER0.500.250.750.000.0005/26/23 Charted & sent edu agenda to OER0.500.250.750.000.00CHP mtg coordination - emailed login info to registrants, correspondence0.500.250.750.000.0005/30/23 timeline, related correspondence0.500.500.250.750.000.00EdComm mtg planning - drafted agenda, related correspondence; C-team planning re: public awareness campaign RFP; CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP1.750.252.000.000.0005/31/23 registrant communications1.750.25<		energy expo video; EERMC mtg attendance & annual report presenation			1.50								1.50
& mtgs; Developed strategy for review of brand/comms deliverables; Planning for edu mtg; Public events check- in w/URI & follow-up summary to EdComm; Updated 05/24/23 <t< td=""><td>05/22/23</td><td>CHP mtg coordination</td><td></td><td></td><td></td><td></td><td></td><td>0.25</td><td></td><td>0.25</td><td>0.00</td><td>0.00</td><td>0.25</td></t<>	05/22/23	CHP mtg coordination						0.25		0.25	0.00	0.00	0.25
05/25/23 Sent updated brand/comms timeline to Advocacy 0.50 0.50 0.50 0.00 0.00 05/29/23 Drafted & sent edu agenda to OER 0.50 0.50 0.50 0.50 0.00 0.00 05/29/23 Drafted & sent edu agenda to OER 0.50 0.50 0.50 0.00 0.00 0.00 CHP mtg coordination - emailed login info to registrants, correspondence w/presenters; Updated Advocacy 0.50 0.50 0.25 0.75 0.00 0.00 05/30/23 timeline, related correspondence 0.50 0.25 0.75 0.00 0.00 EdComm mtg planning - drafted agenda, related correspondence; C-team planning re: public awareness campaign RFP, CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP 1.75 0.25 0.20 0.00 0.00	05/24/23	& mtgs; Developed strategy for review of brand/comms deliverables; Planning for edu mtg; Public events check- in w/URI & follow-up summary to EdComm; Updated			5 50					5 50	0.00	0.00	5.50
CHP mtg coordination - emailed login info to registrants, correspondence w/presenters; Updated Advocacy 0.50 0.25 0.75 0.00 0.00 05/30/23 timeline, related correspondence 0.50 0.25 0.75 0.00 0.00 EdComm mtg planning - drafted agenda, related correspondence; C-team planning re: public awareness campaign RFP; CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP 1.75 0.25 2.00 0.00 0.00	05/25/23	Sent updated brand/comms timeline to Advocacy			0.50								0.50
correspondence w/presenters; Updated Advocacy 0.50 0.50 0.25 0.75 0.00 0.00 05/30/23 timeline, related correspondence 0.50 0.50 0.25 0.75 0.00 0.00 EdComm mtg planning - drafted agenda, related correspondence; C-team planning re: public awareness campaign RFP, CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP Image: CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP	05/29/23				0.50					0.50	0.00	0.00	0.50
correspondence; C-team planning re: public awareness campaign RFP, CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP 05/31/23 registrant communications 1.75 0.25 2.00 0.00 0.00	05/30/23	correspondence w/presenters; Updated Advocacy timeline, related correspondence			0.50			0.25		0.75	0.00	0.00	0.75
	05/04/00	correspondence; C-team planning re: public awareness campaign RFP, CHP mtg, public events; Reviewed & redlined draft public awareness campaign RFP; CHP			4 75			0.05		0.00	0.00	0.00	0.00
I otal Hours 0.00 0.00 17.75 3.50 0.00 39.00 2.25 60.25 0.00 2.25	05/31/23												2.00
Total Amount \$0.00 \$0.00 \$2,857.75 \$563.50 \$0.00 \$6,279.00 \$186.75 \$9,700.25 \$0.00 \$186.75													62.50

INVOICE Federal Tax ID# 03-0351557

Remit checks to:



Remit ACH transfer to:

ABA Routing Number 026009593 Account Number 898052466590 Optimal Energy, Inc. PO Box 74008680 ABA Routing Number 063100277 Account Number 898052466590 Chicago, IL 60674-8680 Swift Code INTL. BOFAUS3N Email ACH/Wire remittance details to RemittanceNotifications@nv5.com June 30, 2023 Project No: 863223-0007525.00 Steven Chybowski Invoice No: 00000342763 Rhode Island Office of Energy Resources Professional Services from June 1, 2023 to June 30, 2023 Phase 001 EE Prg Planning & Implementation Oversig 01 Task **Council Representation Professional Personnel**

Remit Wire Transfers to:

		Hours	Rate	Amount	
Caesar, Adrian		2.00	140.00	280.00	
Johnson, Craig		3.00	193.00	579.00	
Ross, Samuel		3.00	206.00	618.00	
Totals		8.00		1,477.00	
Total La	abor				1,477.00
			Total th	is Task	\$1,477.00
Task 02	Implementation Oversig	 ht and Plan D	evelo		
Professional Personnel					
		Hours	Rate	Amount	
Caesar, Adrian		45.50	140.00	6,370.00	
Johnson, Craig		33.50	193.00	6,465.50	
Keller, Michelle		4.50	206.00	927.00	
Ross, Samuel		23.00	206.00	4,738.00	
Totals		106.50		18,500.50	
Total La	abor				18,500.50
Consultants					
Glenn Reed dba: GDR Con	sulting			669.50	
CORE ENERGY INSIGHTS	INC.			1,206.25	
EcoMetric Consulting, LLC				5,505.00	
Energy Futures Group, Inc				2,523.50	
Jennifer Chiodo				566.50	
Rachel Sholly				322.00	
RALPH PRAHL				2,214.50	
Total C	onsultants			13,007.25	13,007.25
			Total th	is Task	\$31,507.75
	Education Initiatives				

Please Reference Our Invoice Number on your Payment

Project	863223-0007525.00	Rhode Island EERMC - 20	23		Invoice	0000003427
Professior	al Personnel					
			Hours	Rate	Amount	
Caesar	, Adrian		.50	140.00	70.00	
	n, Craig		2.50	193.00	482.50	
Ross, S			1.50	206.00	309.00	
	Totals		4.50		861.50	
	Total Labor					861.50
Consultan	ts					
Rachel					3,260.25	
	Total Consu	ultants			3,260.25	3,260.25
				Total th	is Task	\$4,121.75
				Total this	Phase	\$37,106.50
Phase	002	System Reliability Procurem	ent			
 - Task	01	Council Representation				
	al Personnel	-r ·····				
			Hours	Rate	Amount	
Ross, S	amuel		1.00	206.00	206.00	
	Totals		1.00		206.00	
	Total Labor					206.00
				Total th	is Task	\$206.00
				Total this	Phase	\$206.00
 Phase		Regulatory Proceedings	· - ·			
– – – – - Task	01	Council Representation				
	al Personnel	Council Representation				
			Hours	Rate	Amount	
lohnso	n, Craig		3.50	193.00	675.50	
Ross, S			5.50	206.00	1,133.00	
, -	Totals		9.00		1,808.50	
	Total Labor				,	1,808.50
				Total th	is Task	\$1,808.50
 _	02	Develop Technical Materials	· 			
	al Personnel					
			Hours	Rate	Amount	
Johnso	n, Craig		.50	193.00	96.50	
Ross, S			2.00	206.00	412.00	
	Totals		2.50		508.50	
	Total Labor					508.50
				Total th	is Task	\$508.50
				Total this	Phase	\$2,317.00
 _		Council Sponsored Meetings	and Mate			
			, and mate			

Project	863223-0007525	.00 Rhode Island EERM	IC - 2023		Invoice	0000003427
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar,	, Adrian		2.25	140.00	315.00	
Johnson	n, Craig		2.00	193.00	386.00	
Ross, S			2.00	206.00	412.00	
, -	Totals		6.25		1,113.00	
	Total Lat	bor	0.25		1,115.00	1,113.00
						1,115.00
				Total th	is Task	\$1,113.00
 ask	02	Develop Technical Ma	terials			
rofession	al Personnel					
			Hours	Rate	Amount	
Caesar,	Adrian		5.00	140.00	700.00	
	n, Craig		10.00	193.00	1,930.00	
Ross, S			7.25	206.00	1,493.50	
	Totals		22.25		4,123.50	
	Total Lab	bor				4,123.50
				Total th	is Task	\$4,123.50
 _	03	Other Council Respon				
	al Personnel					
010001011			Hauna	Data	A	
			Hours	Rate	Amount	
Bellivea			1.25	220.00	275.00	
Johnso	n, Craig		1.25	193.00	241.25	
Ross, S	amuel		4.50	206.00	927.00	
	Totals		7.00		1,443.25	
	Total Lat	bor			,	1,443.25
onsultan						
Rachel	-				1,569.75	
	Total Co	nsultants			1,569.75	1,569.75
				Total th	is Task	\$3,013.00
				Total this	Phase	\$8,249.50
— — — – nase	005	Research, Analysis, a	nd Other Council			
rofession	al Personnel					
			Hours	Rate	Amount	
Caesar,	Adrian		3.75	140.00	525.00	
Johnso			13.75	193.00	2,653.75	
	· -					
Ross, S			6.75	206.00	1,390.50	
Socks,	Matthew		2.25	206.00	463.50	
	Totals		26.50		5,032.75	
	Total Lat	bor				5,032.75
				Total this	Phase	\$5,032.75

Project	863223-0007525.00	Rhode Island	EERMC - 2023		Invoice	000000342763
Consultar	nts					
Rache	l Sholly				290.50	
	Total Consu	ultants			290.50	290.50
				Total this	Phase	\$290.50
Phase	007	EERMC Intern				
Additiona	l Fees					
Month	ly Intern Fee (June 2023))			3,750.00	
	Total Addit	ional Fees			3,750.00	3,750.00
				Total this	Phase	\$3,750.00
Billing Lin	nits		Current	Prior	To-Date	
Total E	Billings		56,952.25	251,344.00	308,296.25	
Lir	mit				717,025.00	
Re	emaining				408,728.75	
				Total this 1	Invoice	\$56,952.25
Billings To	o Date					
		Current	Prior	Total		
Labor		35,074.50	174,202.75	209,277.25		
Consu	ltant	18,127.75	70,391.25	88,519.00		
Expens		0.00	3,000.00	3,000.00		
Add-or	n	3,750.00	3,750.00	7,500.00		
Totals	5	56,952.25	251,344.00	308,296.25		

Project	863223-0007525.0	0 Rhode Island EERMC -	· 2023		Invoice	000000342
Billing	Backup				Friday,	July 28, 2023
NV5, Inc.		Invoice 00	0000342763	Dated 6/30/2023		7:19:20 AM
- — — — — Phase	001	EE Prg Planning & Imple	mentation Ov	 . versig		
– – – – – Fask	01	Council Representation				
	al Personnel					
			Hours	Rate	Amount	
Caesar, Adria	an	6/22/2023	2.00	140.00	280.00	
	June RI EE Technical	Working Group, EV progra				
ohnson, Cra	•	6/5/2023	1.00	193.00	193.00	
,	Monthly check-in call	w/ OER. Discussed 3YP co il member onboarding, and	ordination, Ju			
ohnson, Cra		6/6/2023	1.00	193.00	193.00	
	Bi-Weekly check-in w	-				
ohnson, Cra	-	6/15/2023	1.00 d Income Elia	193.00	193.00	
	Check-in meeting wit and solutions researc	h OER - discussed EWG and h.	a Income Elig	idie Darriers		
Ross, Samue		6/13/2023	.50	206.00	103.00	
·		n (partial attendance)				
oss, Samue	9	6/22/2023	1.50	206.00	309.00	
	prep for, attend majo	•				
Ross, Samue		6/23/2023	1.00	206.00	206.00	
	RIE / OER check in		0.00		1 477 00	
	Totals Total Labo	r	8.00		1,477.00	1,477.00
				Total this	s lask	\$1,477.00
- _ ⁻ ask	02	Implementation Oversig	ht and Plan D	 evelo		
	al Personnel	Implementation oversig		evelo		
roressione			Hours	Rate	Amount	
aesar, Adria	an	6/1/2023	5.00	140.00	700.00	
	C-Team Check in - In Income Eligible and F potential analysis; IE development; C&I Se	come Eligible and Resident Residential program/end us S/Residential research and ector Team internal 2024-20 EERMC 2024-2026 EE plan	e-level comps analysis mem)26 EE plan n	and o arrative		
Caesar, Adria		6/2/2023	1.75	140.00	245.00	
	Eligible and Resident analysis; IES/Residen TWG follow up re: SE	eview coordination and upo ial program/end use-level c ntial research and analysis r EMP historical data and part nt comps, and debrief	omps and pot nemo develor	ential oment; RI		
Caesar, Adria	an	6/5/2023	1.00	140.00	140.00	
	-	et potential analysis and C-				
Caesar, Adria	2024-2026 EE Plan fi	6/6/2023 rst draft narrative review/co and follow-ups/open ques			70.00	

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000342763
Caesar, Ad	rian	6/7/2023	2.50	140.00	350.00	
		t draft narrative review/c nd follow-ups/open ques				
Caesar, Adı	rian	6/12/2023	1.50	140.00	210.00	
	equipment ISP study, V EM&V mtg. agenda dev		nent draft rep	ort; C&I		
Caesar, Adı	C-Team working session document review; Upda review - comments on		gram details d	ocument	140.00	
Caesar, Ad		6/14/2023	2.50	140.00	350.00	
	EM&V call and follow u	pdated EM&V study track ps; EM&V Study review a G FRSO study survey inst	and C-Team co			
Caesar, Ad	rian	6/15/2023	.75	140.00	105.00	
	2024-2026 EE Plan nar C&I and EM&V content	rative/Plan Outline memo	o review and f	eedback -		
Caesar, Adı	rian	6/16/2023	2.00	140.00	280.00	
		ICEPY 2021 site report re Sampling Plan; EM&V Stu				
Caesar, Adı	rian	6/20/2023	3.75	140.00	525.00	
	RICG2021 and RICE20	mments - SBDI process e 21 custom site reports; 2 coordination; C&I perforn Listening Workshop	024-2026 EE	Plan first		
Caesar, Ad	rian	6/22/2023	3.25	140.00	455.00	
	QA/QC and questions t	kI Data review and data i o RI energy; EM&V study 21 site report review and	coordination	/review -		
Caesar, Adı	rian	6/23/2023	2.00	140.00	280.00	
	customer listening sess deliverables, statewide	/ Check-in - regulatory de ions recap, upcoming EE and federal program fun idy coordination/review -	Plan develop	ment tion, July		
Caesar, Ad	rian	6/26/2023	.75	140.00	105.00	
	2024-2026 EE Plan rev custom site report revi	iew/C-Team comments; I ew	RICE2021 and	RICG2021		
Caesar, Adı		6/27/2023	6.50	140.00	910.00	
	comments consolidatio	rative and program detai n; June Residential/IES E 1 and RICG2021 custom eview	M&V agenda			
Caesar, Adı	rian	6/28/2023	3.75	140.00	525.00	
	comments consolidatio	rative and program detai n; Res/IES EM&V prep/ca e updates, RNC baseline a nce	all and follow	ups; IECC		
Caesar, Adı	rian	6/29/2023	5.00	140.00	700.00	
		rative and program detai n; EE Plan analysis tool d				
Caesar, Adı	rian	6/30/2023	2.00	140.00	280.00	

Project	863223-0007525.00 Rhode Island EERMC - 2023	Invoice	000000342763
	C-Team Working Session - 2024-2026 EE Plan narrative and program summary comments, initial quantitative analysis of 3YP data; EE Program implementation RFP review		
Johnson, C	-	868.50	
	Res Sector Team - RNC deep dive planning call, meeting prep and debrief. Income Eligible participation barriers and solutions research - continue work on compiling barriers and solutions identified in participant/non-participant studies, and working on memo to be discussed with OER. Three-Year Plan - initial review of document provided by RIE, working session with internal team and OER to discuss immediate feedback.		
Johnson, (-	1,013.25	
	Income Eligible participation barriers and solutions research - finish compiling barriers and solutions identified in recent studies. Discussion w/ Sam and Adrian re: same. Check-in meeting w/ OER to debrief on call w/ RIE re: 3YP draft, discussed next steps. Updated BC Model review - review presetnation and updates to BC model format and begin preparation of follow-up questions for Guidehouse.		
Johnson, O	Craig 6/5/2023 2.50 193.00	482.50	
	Income Eligible Barriers and Solutions research - Organize and clean up draft memo, review and discuss with internal team, working session with OER to review the same and discuss next steps.		
Johnson, C	Craig 6/6/2023 3.75 193.00	723.75	
	3YP Review - Review and begin outlining initial comments, coordinate with Margie, Richard and Glenn on updates on timing for sector program review. Work on reviewing 3YP to assess responsiveness to council priorities.		
Johnson, (-	530.75	
·	Debrief with Sam on individual Councilor meetings regarding first draft 3YP and equity working group activities. Continue work on reviewing 3YP to assess responsiveness to council priorities.		
Johnson, (Craig 6/8/2023 4.75 193.00	916.75	
	Complete review of assessment of responsiveness of first draft 3YP to Council priorities and feedback on Plan Outline Memo. Draft key messaging of feedback for incorporation into Council materials.		
Johnson, C	Craig 6/9/2023 1.25 193.00	241.25	
	Status update on EWG memo - finish edits and discuss next steps with Sam.		
Johnson, (-	675.50	
	Income Eligible Barriers and Solutions research - continue work on research, draft proposed solution provider(s), brainstorm barriers/solutions to prioritize and focus on. First Draft 3YP Review - Review updated program detail list from RIE, compare with first draft 3YP and outline memo, internal discussion w/ Sam and Adrian re: same, discussion with OER re: same.		
Johnson, (-	579.00	
Johnson, (Continue review and comments on first draft of 3YP. Craig 6/16/2023 .50 193.00	96.50	
Johnson, C	Working session with Sam and Adrian. Discussed debrief items from Council meeting, specifically around next steps for plan review. Discussed EWG and residential sector meeting coverage for upcoming meetings.	90.30	
Johnson, (Craig 6/20/2023 1.75 193.00	337.75	
	3YP Narrative Review - finalize review and clean up comments.		
Keller, Mic		206.00	
	RI C&I Sector C Team mtg: prep for draft RIE 3 yr plan review & comments		
Keller, Mic		51.50	
	Prep for 3YP Draft review		

Please Reference Our Invoice Number on your Payment

Project	863223-0007525.00	Rhode Island EERM	C - 2023		Invoice	00000034
Keller, Miche		6/8/2023	.75	206.00	154.50	
	RI CHP Update					
Keller, Miche		6/22/2023	.25	206.00	51.50	
	TRM Update scheduling					
Keller, Miche		6/27/2023	.50	206.00	103.00	
	RI Draft Narrative - rev					
Keller, Miche		6/28/2023	1.75	206.00	360.50	
	RI Narrative Plan review					
Ross, Samue		6/1/2023	1.75	206.00	360.50	
	coord tasks incl. follow memo next steps; 3YP OER and emailing conce	nitial review, team del				
Ross, Samue		6/2/2023	2.50	206.00	515.00	
·	corresp w/RIE re: 3YP of RIE and OER, debrief w	concerns; team check i				
Ross, Samue	el	6/5/2023	2.00	206.00	412.00	
	prep for, attend IE rese well	arch meeting with OEF	R, covering othe	er topics as		
Ross, Samue	el	6/6/2023	1.00	206.00	206.00	
	partial attendance at RI	E/OER check in , proj.	catch up w/CJc	hnson		
loss, Samue		6/8/2023	2.00	206.00	412.00	
	finalize proposed 2024 draft	Council budget numbe	rs, comments o	n 3YP first		
Ross, Samue		6/9/2023	.75	206.00	154.50	
	EWG memo review, pla	-				
loss, Samue		6/13/2023	1.75	206.00	360.50	
	review, coord. team cor associated updates to C	ouncil materials	-			
Ross, Samue		6/15/2023	2.25	206.00	463.50	
	coordinate plan review with S Chybowski re: El re: same					
loss, Samue	el	6/16/2023	.75	206.00	154.50	
	council meeting debrief docket coverage	, next steps, incl. plan	review timeline	and gas		
Ross, Samue	el	6/20/2023	.75	206.00	154.50	
	prep for, lead RI carbor		างงา			
loss, Samue		6/23/2023	.25	206.00	51.50	
	check in on next steps	•	mments, etc.			
oss, Samue		6/27/2023	1.00	206.00	206.00	
	coord team review and		n for 3YP and E	E Impl RFP		
Ross, Samue		6/29/2023	1.75	206.00	360.50	
	review, expand on, fina comments		-			
Ross, Samue		6/30/2023	4.50	206.00	927.00	
	review, expand on, fina on 3YP narrative draft	lize, and submit C-Tea		comments		
	Totals		106.50		18,500.50	
	Total Labor					18,500.50
				Total th	is Task	\$31,507.75

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	0000003427
Professio	nal Personnel			_		
			Hours	Rate	Amount	
Caesar, Ad		6/21/2023	.25	140.00	35.00	
	EERMC energy fellow e process	ducation task planning, n	ew Councilor	orientation		
Caesar, Ad		6/26/2023	.25	140.00	35.00	
	RI EWG coordination for	r URI lecture series				
lohnson, C	-	6/1/2023	1.00	193.00	193.00	
	Review and provide fee RFP.	dback on EE and Climate	Awareness (Campaign		
Johnson, C	Craig	6/6/2023	.50	193.00	96.50	
		n Public Forum and Lectu als in prep for meeting to in meeting.				
lohnson, C	Craig	6/7/2023	1.00	193.00	193.00	
	Review and provide fee document.	dback on public forum ag	genda and ou	tline		
Ross, Sam	uel	6/1/2023	.50	206.00	103.00	
	begin review of Educ R	FP				
Ross, Sam	uel	6/15/2023	.50	206.00	103.00	
	advocacy solutions bi-w					
Ross, Sam		6/28/2023	.50	206.00	103.00	
	check in w/R Sholly re:	educ tasks, Jordan re: ne	ewsletter nex	t steps		
	Totals		4.50		861.50	
	Total Labor					861.50
				Total thi	is Task	\$4,121.75
						· · ·
				Total this		\$37,106.50
- 		System Reliability Procur	·			
			rement			
ask	01	System Reliability Procur Council Representation	ement			
ask				Total this — — — — — — — — — — — — —	Phase — — — — — — — – — — — — — — — –	
ask Professio	01 nal Personnel	Council Representation	Hours	Total this 	Phase 	
ask Professio	01 nal Personnel	Council Representation 6/7/2023		Total this — — — — — — — — — — — — —	Phase — — — — — — — – — — — — — — — –	
ask Professio	01 nal Personnel uel attend SRP elec forecas	Council Representation 6/7/2023	Hours 1.00	Total this 	Phase	
ask Professio	01 nal Personnel uel attend SRP elec forecas Totals	Council Representation 6/7/2023	Hours	Total this 	Phase 	\$37,106.50 - — — — — — - — — — — — —
Task Professio	01 nal Personnel uel attend SRP elec forecas	Council Representation 6/7/2023	Hours 1.00	Total this 	Phase	
Task Professio	01 nal Personnel uel attend SRP elec forecas Totals	Council Representation 6/7/2023	Hours 1.00	Total this 	Phase	\$37,106.50 - — — — — — - — — — — — —
Phase Task Professio Ross, Sam	01 nal Personnel uel attend SRP elec forecas Totals	Council Representation 6/7/2023	Hours 1.00	Total this	Phase — — — — — — — — — — — — — — — — — — —	\$37,106.50
Task Professio	01 nal Personnel uel attend SRP elec forecas Totals	Council Representation 6/7/2023 sting mtg	Hours 1.00	Total this — — — — — — — — Rate 206.00 Total thi	Phase — — — — — — — — — — — — — — — — — — —	\$37,106.50
Fask Professio Ross, Sam	01 nal Personnel uel attend SRP elec forecas Totals Total Labor	Council Representation 6/7/2023 sting mtg Regulatory Proceedings	Hours 1.00	Total this — — — — — — — — Rate 206.00 Total thi	Phase — — — — — — — — — — — — — — — — — — —	\$37,106.50
Task Professio Ross, Sam	01 nal Personnel uel attend SRP elec forecas Totals Total Labor	Council Representation 6/7/2023 sting mtg	Hours 1.00	Total this — — — — — — — — Rate 206.00 Total thi	Phase — — — — — — — — — — — — — — — — — — —	\$37,106.50
Task Professio Ross, Sam	01 nal Personnel uel attend SRP elec forecas Totals Total Labor	Council Representation 6/7/2023 sting mtg Regulatory Proceedings	Hours 1.00	Total this — — — — — — — — Rate 206.00 Total thi	Phase — — — — — — — — — — — — — — — — — — —	\$37,106.50
Task Professio Ross, Sam	01 nal Personnel uel attend SRP elec forecas Totals Total Labor	Council Representation 6/7/2023 sting mtg Regulatory Proceedings	Hours 1.00	Total this — — — — — — — — Rate 206.00 Total thi	Phase — — — — — — — — — — — — — — — — — — —	\$37,106.50
Task Professio Ross, Sam	01 nal Personnel uel attend SRP elec forecas Totals Total Labor 003 01 nal Personnel	Council Representation 6/7/2023 sting mtg Regulatory Proceedings	Hours 1.00 1.00	Total this Rate 206.00 Total this Total this	PhaseAmount206.00 is Task Phase	\$37,106.50
Task Professio Ross, Sam Phase Fask Professio	01 nal Personnel uel attend SRP elec forecas Totals Total Labor 003 01 nal Personnel	Council Representation 6/7/2023 sting mtg Regulatory Proceedings Council Representation 6/20/2023	Hours 1.00 1.00	Total this Rate 206.00 Total this Total this An	Phase 	\$37,106.50

Project	863223-000752	5.00 Rhode Island EERMC	- 2023		Invoice	000000342
	prep for, attend, o Totals Total La	lebrief on future of gas docke Ibor	et 9.00		1,808.50	1,808.50
				Total th	is Task	\$1,808.50
Task	02	Develop Technical Mate	— — — — — - erials			
Professio	nal Personnel					
			Hours	Rate	Amount	
Johnson, C	Craig	6/9/2023	.50	193.00	96.50	
	Review meeting m stakeholder comm	ninutes and plan for upcoming nittee docket.	g meetings in f	uture of gas		
Ross, Samı	uel	6/26/2023	2.00	206.00	412.00	
	prep for, attend F Teichert, Gill Case	uture of gas debrief with Cou	ncilors AnderB	ois,		
	Totals		2.50		508.50	
	Total La	bor				508.50
				Total th	is Task	\$508.50
				Total this	Phase	\$2,317.00
 Phase		Council Sponsored Mee	tings and Mate			
Task Duofeension	01	Meeting Attendance				
Protessio	nal Personnel			Data	A AA	
Caesar, Ad	rian	6/15/2023	Hours 2.25	Rate 140.00	Amount 315.00	
cucsur, Au	June EERMC meet		2.23	110.00	515.00	
Johnson, C		6/15/2023	2.00	193.00	386.00	
, -	Attend Council me					
Ross, Samı	uel	6/15/2023	2.00	206.00	412.00	
	attend and preser	t at EERMC				
	Totals		6.25		1,113.00	
	Total La	idor				1,113.00
				Total th	is Task	\$1,113.00
Task		Develop Technical Mate	 erials			
Professio	nal Personnel					
			Hours	Rate	Amount	
Caesar, Ad	rian	6/1/2023	.25	140.00	35.00	
		: mtg. agenda review; EERMC sion mtg. minutes request	2024 budget	planning;		
Caesar, Ad		6/5/2023	.75	140.00	105.00	
		materials development - 202 velopment and cost benchma s				

Caesar, Adrian 6/6/2023 50 140.00 70.00 EERNC Eudget development and cost benchmarking for RFPs, LCP standards updates; May EERNC ELDG Session Minutes updates 350.00 Caesar, Adrian 6/7/2023 2.50 140.00 350.00 Lune EERNC Mtg, materials development - 2024-2026 EE Plan review, EERNC Dudget, development and cost benchmarking for NFPs, LCP standards updates; May EERNC LEDQ 70.00 Caesar, Adrian 6/12/2023 .50 140.00 70.00 June EERNC Mtg, materials development - updated 3YP First draft deck, EERNC adraft neveloster 70.00 70.00 June EERNC Mtg, materials development - updated 3YP First draft deck, EERNC adraft neveloak on draft algenda for June Council meeting to OER, discussion w/ Sam re: sam. 70.00 144.75 Johnson, Craig 6/1/2023 .50 193.00 96.50 Caesk-in wy team on June council meeting assignments, discuss follow- ups from May Council meeting. 1093.00 193.00 June Council Materials - Walk through Council material assignments with intermateream, discuss assignments and content. 1144.75 June Council Materials - Graft through party procument/Council budget consideration, check-in call with Steve re: same. 104.00 144.75 Johnson, Craig 6/7/2023 1.25 193.00<	Project	863223-0007525.00	Rhode Island EERMC	2 - 2023		Invoice	000000342763
EERNC Lodget development and cost benchmarking for RFPs, LCP standards updates; May EERNC LAD Session Minutes updates Caesar, Adrian 6/7/2023 2.50 140.00 350.00 EERNC May EERNC LAD Session Minutes updates: EERNC May EERNC LAD Session Minutes updates: 250 140.00 70.00 June EERNC May, materials development - updated 3YP first draft deck, EERNC Chaft, materials development - updated 3YP first draft deck, 250 140.00 70.00 June EERNC May, resp 50 140.00 70.00 144.75 Finalize and send feedback on draft agenda for June Council meeting 6/2/2023 .75 193.00 96.50 Check-in w/ team on June council meeting assignments, discuss follow- ups from May Council meeting. 193.00 193.00 Johnson, Craig 6/2/2023 .75 193.00 144.75 June Council materias - Walk through Council material assignments with internate attain, discuss assignments and content. Johnson, Craig 6/2/2023 .75 193.00 144.75 Johnson, Craig 6/2/2023 .75 193.00 144.75 Johnson, Craig 6/2/2023 .75 193.00 241.25 Johnson, Craig <t< td=""><td>Caesar, Ac</td><td>Irian</td><td>6/6/2023</td><td>.50</td><td>140.00</td><td>70.00</td><td></td></t<>	Caesar, Ac	Irian	6/6/2023	.50	140.00	70.00	
June EERMC Mig. materials development - 2024-2026 EE Plan review, standards updates; May EERMC LEAD Session Minutes updates 50 140.00 70.00 June EERMC Mig. materials development - updated 3YP first draft deck, EERMC draft newsletter 50 140.00 70.00 June EERMC Mig. materials development - updated 3YP first draft deck, EERMC draft newsletter 50 140.00 70.00 June EERMC Mig. prep 50 193.00 144.75 Finalize and send feedback on draft agenda for June Council meeting to OER, discussion w/ Sam re: sam. 50 193.00 193.00 Johnson, Craig 6/5/2023 1.00 193.00 193.00 Johnson, Craig 6/5/2023 1.00 193.00 144.75 Johnson, Craig 6/5/2023 1.00 193.00 144.75 Jone Council materials - Walk Hrough Council meetinal assignments with internal team, discus assignments and content. 144.75 Jone Council Materials - Continue work on First Draft 3YP presentation aristorm content for update on third party procesment/council budget consideration, check-in call with Steve re: same. 241.25 193.00 241.25 Johnson, Craig 6/8/2023 4.75 193.00 241.25 241.25 <		EERMC budget developr	ment and cost benchma	arking for RFPs,	LCP		
EERMC budget development and cost benchmarking for RPFs, LCP Standards updates; Way EERMC LEAD Session Minutes updates Caesar, Adrian 6/13/2023 50 140.00 70.00 June EERMC May messister 6/14/2023 .50 140.00 70.00 Caesar, Adrian 6/14/2023 .50 140.00 70.00 June EERMC May, newsletter 6/14/2023 .75 193.00 744.75 Finaltize and send feedback on draft agenda for June Council meeting assignments, discussion w/ Sam re: sam. 96.50 0 Ocheck-in w/ team on June council meeting assignments, discussion with internal team, discuss assignments and content. 193.00 193.00 Johnson, Craig 6/5/2023 .75 193.00 144.75 Jone Council materials - Dardt outline for C-Team presentation on First draft 2024-2026 EE Plan. 100 193.00 241.25 June Council Materials - Continue work on First Dardt 32PP presentation. First 32P presentation. First 32P presentation. Johnson, Craig 6/8/2023 4.75 193.00 916.75 June Council Materials - Continue work on First Dardt 32PP presentation. First 32P presentation. First 32P presentation. Johnson, Craig 6/8/2023 4.75	Caesar, Ac	drian	6/7/2023	2.50	140.00	350.00	
June EERNC Mg. materials development - updated 3YP first draft deck, EERNC draft newsletter Caesar, Adrian 6/14/2023 .50 140.00 70.00 June EERNC Mg. prep - - - Johnson, Craig 6/1/2023 .75 193.00 144.75 Johnson, Craig 6/2/2023 .50 193.00 96.50 Check-in w/ team on June council meeting assignments, discuss follow-ups from May Council meeting. - Johnson, Craig 6/2/2023 .75 193.00 193.00 June Council materials - Walk through Council material assignments with internal team, discuss assignments and content. - 193.00 144.75 Johnson, Craig 6/7/2023 .75 193.00 241.25 Jone Council Materials - Continue work on First Darft 3YP presentation. Brainstorm content for update on third party procurement/Council budget Johnson, Craig 6/8/2023 .475 193.00 241.25 Jone Council Materials - Gontinue work on First Darft 3YP presentation. Brainstorm content for update on third party procurement/Council budget - Johnson, Craig 6/8/2023 .75 193.00 241.25 Johnson, Craig 6/8/2023		EERMC budget developr	nent and cost benchma EERMC LEAD Session	arking for RFPs, Minutes update	LCP s		
EERMC draft newsletter 6/14/2023 5.0 140.00 70.00 Johnson, Craig 6/1/2023 .75 193.00 144.75 Finalize and send feedback on draft agenda for June Council meeting to OER, discussion w/ Sam re: sam. 50 193.00 96.50 Check-in w/ team on June council meeting assignments, discuss follow-ups from May Council meeting assignments with internal team, discuss assignments and content. 193.00 193.00 193.00 Johnson, Craig 6/5/2023 .75 193.00 193.00 193.00 Jone Council materials - Walk through Council material assignments with internal team, discuss assignments and content. 100 193.00 144.75 Jone Council Materials - Draft outline for C-Team presentation on First draft of 2024-2026 EE Plan. 75 193.00 241.25 June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same. 910.00 144.75 Johnson, Craig 6/8/2023 4.75 193.00 146.75 Assist in developing content and backsground for Council budget planning discussions w/ team re: same. 100 206.00 Johnson, Craig 6/13/2023 .50 206.00 103.0	Caesar, Ac					70.00	
June EERMC Mtg. prep 6/1/2023 7.5 193.00 144.75 Finalize and send feedback on draft agenda for June Council meeting to OER, discussion w/ Sam re: sam. 0 193.00 96.50 Johnson, Craig 6/5/2023 1.00 193.00 93.00 Check-in w/ team on June council meeting assignments, discuss follow- ups from May Council meeting. 100 193.00 193.00 Johnson, Craig 6/5/2023 7.5 193.00 144.75 Johnson, Craig 6/6/2023 7.5 193.00 144.75 Johnson, Craig 6/6/2023 7.5 193.00 241.25 Johnson, Craig 6/6/2023 7.5 193.00 241.25 Johnson, Craig 6/8/2023 4.75 193.00 241.25 Johnson, Craig 6/8/2023 4.75 193.00 241.25 Johnson, Craig 6/8/2023 4.75 193.00 916.75 Review agend Interns, review and finalize LEAD session meeting minutes Fainternerus 241.25 Johnson, Craig 6/3/2023 .75 193.00 144.75 Johnson, Craig 6/3/2023 .75 193.00 14		EERMC draft newsletter					
Johnson, Craig 6/1/2023 .75 193.00 144.75 Finalize and send feedback on draft agenda for June Council meeting to OER, discussion w/ Sam re: sam. .50 193.00 96.50 Check-in w/ team on June council meeting. .50 193.00 93.00 Johnson, Craig 6/2/2023 .50 193.00 193.00 June Council materials - Walk through Council material assignments, with internal team, discuss assignments and content. 193.00 144.75 June Council Materials - Orati outline for C-Team presentation on First draft of 2024-2026 EE Plan. 1.25 193.00 241.25 June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in cal with Steve re: same. 193.00 916.75 June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and finalize EEAD session meeting minutes enhancements. Review and finalize EEAD session meeting minutes enhancements. Review and finalize EEAD session meeting minutes enhancements. Review and finalize EEAD session deck and deliver to OER. 193.00 144.75 Johnson, Craig 6/1/2023 .75 193.00 144.75 Assit in developing content and background for Curcel budget planning discussion. Finalize review and finalize EE and Climate Public Awareness RPP 144.75 <	Caesar, Ac		6/14/2023	.50	140.00	70.00	
Finalize and send feedback on draft agenda for June Council meeting to OER, discussion w/ Sam re: sam.Johnson, Craig6/2/2023.50193.0096.50Checkin w/ team on June council meeting assignments, discuss follow- ups from May Council meeting.193.00193.00193.00Johnson, Craig6/5/20231.00193.00193.00June Council materials - Walk through Council material assignments with internal team, discuss assignments and content.193.00144.75Johnson, Craig6/6/2023.75193.00241.25June Council Materials - Draft outline for C-Team presentation on First draft of 2024-2026 EE Plan.1.25193.00241.25June Council Materials - Ontinue work on First Draft 3PP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same.916.75193.00916.75June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and finalize EE AD ession meeting minutes enhancements. Review and finalize EEAD ession meeting minutes enhancements. Review and finalize EEAD ession meeting minutes orseentation. Nerview and finalize EE AD ession due to DER.103.0048.25Johnson, Craig6/1/2023.25193.00246.25Johnson, Craig6/2/2023.50206.00206.00Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to DER103.00Assist in developing content agenda, outline budget deck.100206.00206.00Coordinat			614 12022	75	102.00		
OER, discussion w/ Sam re: sam.Johnson, Craig6/2/2023.50193.0096.50Check-in w/ team on June council meetingJohnson, Craig6/5/20231.00193.00193.00June Council materials - Walk through Council material assignments with internal team, discuss assignments and content.193.00193.00193.00Johnson, Craig6/6/2023.75193.00144.75June Council Materials - Draft outline for C-Team presentation on First draft of 2024-2026 EE Plan.1.25193.00241.25Johnson, Craig6/7/20231.25193.00241.25June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same.193.00916.75June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and finalize EE and Climate Public Awareness RFP presentation. Ongoing discussions w/ team re: same.193.00144.75Johnson, Craig6/9/2023.75193.00144.75Assit in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER.103.00Coordinate wh/ DER on Council materials.206.00103.00Coordinate wh/ DER on Council materials.200.00206.00Coordinate wh/ DER on Council materials.200.00206.00Coordinate wh/ DER on Council materials.2.00206.00Coordinate wh/ DER on Council materials.2.00206.00Coordinate	Jonnson, (-				144./5	
Check-in w/ team on June council meeting ups from May Council meeting.100193.00Johnson, Craig6/5/20231.00193.00June Council materials - Walk through Council material assignments with internal team, discuss assignments and content.193.00144.75Johnson, Craig6/6/2023.75193.00144.75Johnson, Craig6/7/20231.25193.00241.25Johnson, Craig6/7/20231.25193.00241.25Johnson, Craig6/7/20234.75193.00241.25Johnson, Craig6/7/20234.75193.00916.75June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same.916.75Johnson, Craig6/8/20234.75193.00916.75June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and address feedback from Sam, finalize materials. Review and provide feedback on Budget proposal presentation. Review and provide feedback on Budget proposal presentation. Ongoing discussions w/ team re: same.144.75Johnson, Craig6/9/2023.75193.00144.75Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to CER.144.75Johnson, Craig6/5/2023.50206.00103.00Check in on development of Council materials.193.0048.25Coordinate with OER on council materials.100.0206.00		OER, discussion w/ Sam	re: sam.		-		
ups from May Council meeting. Johnson, Craig 6/5/2023 1.00 193.00 193.00 June Council materials - Walk through Council material assignments with internal team, discuss assignments and content. Johnson, Craig 6/6/2023 .75 193.00 144.75 June Council Materials - Draft outline for C-Team presentation on First draft of 2024-2026 EE Plan. Johnson, Craig 6/7/2023 1.25 193.00 241.25 June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same. Johnson, Craig 6/8/2023 4.75 193.00 916.75 June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and adfrass feedback from Sam, finalize materials. Review and finalize LEAD session meeting minutes enhancements. Review and finalize LEAD session meeting minutes presentation. Oragi 6/9/2023 .75 193.00 144.75 Assist in developing content and background for Council budget proposal presentation. Oragi 6/13/2023 .25 193.00 48.25 Coordinate with OER on Council materials. Ross, Samuel 6/5/2023 .50 206.00 103.00 check in on development of Council materials. Ross, Samuel 6/6/2023 .50 206.00 412.00 cont. dev of Council materials, review and theaterials. Ross, Samuel 6/7/2023 .00 206.00 412.00 cont. dev of Council materials, cord with team, incl. review of OER budget materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/8/2023 .00 206.00 412.00 cont. dev of council materials, cord with team, incl. review of OER budget materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/8/2023 .00 206.00 412.00 finalize Council materials, review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' freedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 finalizes Council materials, review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' freedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00	Johnson, (-				96.50	
June Council materials - Walk through Council material assignments with internal team, discusse assignments and content. Johnson, Craig 6/6/2023 .75 193.00 144.75 June Council Materials - Draft outline for C-Team presentation on First draft of 2024-2026 EE Plan. Johnson, Craig 6/7/2023 1.25 193.00 241.25 June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same. Johnson, Craig 6/8/2023 4.75 193.00 916.75 June meeting materials - draft materials for LCP standards and 3YP Review agend items, review and dirense feedback from Sam, finalize materials. Review and finalize ELAD session meeting minutes enhancements. Review and provide feedback on Budget proposal presentation. Ongoing discussions w/ team re: same. Johnson, Craig 6/9/2023 .75 193.00 144.75 Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER. Johnson, Craig 6/13/2023 .25 193.00 48.25 Coordinate with OER on Council materials. Ross, Samuel 6/5/2023 .50 206.00 103.00 check in on development of Council materials. Ross, Samuel 6/6/2023 1.00 206.00 206.00 Cont. dev of Council materials. Ross, Samuel 6/7/2023 2.00 206.00 412.00 Cont. dev of council materials, coord with team, incl. review of OER budget materials, review, adit agenda, outline budget deck Ross, Samuel 6/9/2023 2.00 206.00 412.00 Cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck Ross, Samuel 6/9/2023 2.00 206.00 412.00 Cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/9/2023 2.00 206.00 412.00 Finalizea. Council materials, review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 5.0 206.00 103.00 Final pas		ups from May Council m		ignments, discu	ss follow-		
internal team, discuss assignments and content. Johnson, Craig 6/6/2023 .75 193.00 144.75 June Council Materials - Draft outline for C-Team presentation on First draft of 2024-2026 EE Plan. Johnson, Craig 6/7/2023 1.25 193.00 241.25 June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same. Johnson, Craig 6/8/2023 4.75 193.00 916.75 June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and address feedback from Sam, finalize enhancements. Review and finalize LEAD session meeting minutes enhancements. Review and finalize LEAD session meeting bit (AMP) Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER. Johnson, Craig 6/13/2023 .75 193.00 48.25 Coordinate with OER on Council materials. Ross, Samuel 6/5/2023 .50 206.00 103.00 check in on development of Council materials Ross, Samuel 6/7/2023 2.00 206.00 103.00 check of Council materials, coord with team, incl. review of OER budget materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/8/2023 2.00 206.00 412.00 cont. dev of council materials, cord with team, incl. review of OER budget materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 Finalizes council materials, incl. check in w/R Sholly on educ. materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 Finalizes, submission, plan for next steps re: council materials Ross, Samuel 6/9/2023 .50 206.00 103.00 Final pass, submission, plan for next steps re: council ma	Johnson, (-				193.00	
June Council Materials - Draft outline for C-Team presentation on First draft of 2024-2026 EE Plan. Johnson, Craig 6/7/2023 1.25 193.00 241.25 June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same. Johnson, Craig 6/8/2023 4.75 193.00 916.75 June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and address feedback from Sam, finalize enhancements. Review and finalize EE and Climate Public Awareness RFP presentation. Ongoing discussions wit team re: same. Johnson, Craig 6/9/2023 .75 193.00 144.75 Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER. Johnson, Craig 6/3/2023 .25 193.00 48.25 Coordinate with OER on Council materials. Ross, Samuel 6/5/2023 .00 206.00 103.00 check in on development of Council materials. Ross, Samuel 6/6/2023 1.00 206.00 206.00 Cont. dev of Council materials. Ross, Samuel 6/7/2023 2.00 206.00 412.00 cont. dev of council materials, incl. heck in w/R Sholly on educ materials, revisions to afrat agenda, outline budget deck. Ross, Samuel 6/8/2023 2.00 206.00 412.00 finalize Council materials, incl. check in w/R Sholly on educ materials, revisions to afrat agenda, outline budget deck. Ross, Samuel 6/8/2023 2.00 206.00 412.00 finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 5.0 206.00 103.00 finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 5.0 206.00 103.00		internal team, discuss a			ments with		
draft of 2024-2026 EE Plan. Johnson, Craig 6/7/2023 1.25 193.00 241.25 June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same. Johnson, Craig 6/8/2023 4.75 193.00 916.75 June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and address feedback from Sam, finalize materials. Review and finalize EED aession meeting minutes enhancements. Review and finalize EE and Climate Public Awareness presentation. Review and finalize EE and Climate Public Awareness presentation. Review and finalize EED and Climate Public Awareness Assist in developing content and background for Council budget planning discussion. Finalize review dudget discussion deck and deliver to OER. Johnson, Craig 6/12/023 .25 193.00 48.25 Coordinate with OER on Council materials. Ross, Samuel 6/5/2023 1.00 206.00 206.00 Cont. dev of Council materials, coord with team, incl. review of OER budget materials Ross, Samuel 6/7/2023 2.00 206.00 412.00 cont. dev of council materials, incl. check in w/R Sholly on edu- materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/8/2023 2.00 206.00 412.00 finalize Council materials, incl. check in w/R Sholly on edu- materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/8/2023 2.00 206.00 412.00 finalize Council materials, review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 Finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of,	Johnson, (-				144.75	
June Council Materials - Continue work on First Draft 3YP presentation. Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same. Johnson, Craig 6/8/2023 4.75 193.00 916.75 June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and address feedback from Sam, finalize materials. Review and finalize LED session meeting minutes enhancements. Review and provide feedback on Budget proposal presentation. Review and finalize LED session meeting minutes enhancements. Review and finalize LED session meeting minutes presentation. Ongoing discussions w/ team re: same. Johnson, Craig 6/9/2023 .75 193.00 144.75 Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to DER. Johnson, Craig 6/13/2023 .25 193.00 48.25 Coordinate with DER on Council materials. Ross, Samuel 6/5/2023 .50 206.00 103.00 check in on development of Council materials Ross, Samuel 6/6/2023 1.00 206.00 206.00 cont. dev of Council materials, coord with team, incl. review of OER budget materials Ross, Samuel 6/7/2023 2.00 206.00 412.00 cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/8/2023 .00 206.00 412.00 finalize Council materials; incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck. Ross, Samuel 6/9/2023 .00 206.00 412.00 finalize Council materials; review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 final pass, submission, plan for next steps re: council materials Ross, Samuel 6/9/2023 .50 206.00 103.00				am presentation	on First		
Brainstorm content for update on third party procurement/Council budget consideration, check-in call with Steve re: same.193.00916.75Johnson, Craig6/8/20234.75193.00916.75June meeting materials - draft materials for LCP standards and JYP Review agenda items, review and address feedback from Sam, finalize enhancements. Review and movide feedback on Budget proposal presentation. Review and finalize EE and Climate Public Awareness RFP presentation. Review and finalize EE and Climate Public Awareness RFP presentation. Review and finalize EE and Climate Public Awareness RFP presentation. Review and for Source and deliver to OER.144.75Johnson, Craig6/9/2023.75193.00144.75Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER.48.25Johnson, Craig6/13/2023.25193.0048.25Coordinate with OER on Council materials.50206.00103.00check in on development of Council materials1.00206.00206.00Cont. dev of Council materials, cord with team, incl. review of OER budget materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck.206.00412.00Ross, Samuel6/8/20232.00206.00412.00Cont. dev of council materials, oncl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck.206.00412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials. review, edits, to LCP, 3YP decks; finish dev of, implement c	Johnson, (-				241.25	
June meeting materials - draft materials for LCP standards and 3YP Review agenda items, review and address feedback from Sam, finalize materials. Review and finalize LEAD session meeting minutes enhancements. Review and finalize EE and Climate Public Awareness RFP presentation. Ongoing discussions w/ team re: same. Johnson, Craig 6/9/2023 .75 193.00 144.75 Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER. Johnson, Craig 6/13/2023 .25 193.00 48.25 Coordinate with OER on Council materials. Ross, Samuel 6/5/2023 .50 206.00 103.00 check in on development of Council materials Ross, Samuel 6/6/2023 1.00 206.00 206.00 Cont. dev of Council materials, coord with team, incl. review of OER budget materials, revisions to draft agenda, outline budget deck Ross, Samuel 6/8/2023 2.00 206.00 412.00 cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck Ross, Samuel 6/8/2023 2.00 206.00 412.00 finalize Council materials; roview, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00		Brainstorm content for u	update on third party p	rocurement/Cou			
Review agenda items, review and address feedback from Sam, finalize materials. Review and finalize LEAD session meeting minutes enhancements. Review and provide feedback on Budget proposal presentation. Review and finalize EE and Climate Public Awareness RFP presentation. Ongoing discussions w/ team re: same.Johnson, Craig6/9/2023.75193.00144.75Johnson, Craig6/9/2023.75193.00144.75Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER.193.0048.25Johnson, Craig6/13/2023.25193.0048.25Coordinate with OER on Council materials.6/6/20231.00206.00Check in on development of Council materials6/6/20231.00206.00Cont. dev of Council materials.6/7/20232.00206.00103.00Cont. dev of council materials, coord with team, incl. review or UER budget materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck206.00412.00Ross, Samuel6/8/20232.00206.00412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck2.00206.00412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials6/9/20235.0206.00103.00finalize Council materials6/9/20235.0206.00103.00fi	Johnson, (Craig	6/8/2023	4.75	193.00	916.75	
Assist in developing content and background for Council budget planning discussion. Finalize revised budget discussion deck and deliver to OER.Johnson, Craig6/13/2023.25193.0048.25Coordinate with OER on Council materials.Coordinate with OER on Council materials.103.00Ross, Samuel6/5/2023.50206.00103.00check in on development of Council materials6/6/20231.00206.00206.00Cont. dev of Council materials, coord with team, incl. review of OERCont. dev of Council materials, coord with team, incl. review of OER412.00Ross, Samuel6/7/20232.00206.00412.00Cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.103.00Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00		Review agenda items, re materials. Review and fi enhancements. Review presentation. Review an	eview and address feed nalize LEAD session me and provide feedback o d finalize EE and Clima	lback from Sam eeting minutes on Budget propo ate Public Aware	, finalize osal		
discussion. Finalize revised budget discussion deck and deliver to OER. Johnson, Craig 6/13/2023 .25 193.00 48.25 Coordinate with OER on Council materials. Ross, Samuel 6/5/2023 .50 206.00 103.00 check in on development of Council materials Ross, Samuel 6/6/2023 1.00 206.00 206.00 Cont. dev of Council materials, coord with team, incl. review of OER budget materials Ross, Samuel 6/7/2023 2.00 206.00 412.00 cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck Ross, Samuel 6/8/2023 2.00 206.00 412.00 finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 final pass, submission, plan for next steps re: council materials Ross, Samuel 6/14/2023 .50 206.00 103.00	Johnson, (-				144.75	
Coordinate with OER on Council materials.Ross, Samuel6/5/2023.50206.00103.00check in on development of Council materials6/6/20231.00206.00206.00Cont. dev of Council materials, coord with team, incl. review of OER budget materials6/7/20232.00206.00412.00Ross, Samuel6/7/20232.00206.00412.00103.00103.00Cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck206.00412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.103.00Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00Ross, Samuel6/14/2023.50206.00103.00							
Ross, Samuel6/5/2023.50206.00103.00check in on development of Council materials6/6/20231.00206.00206.00Ross, Samuel6/7/20232.00206.00412.00Ross, Samuel6/7/20232.00206.00412.00cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck412.00Ross, Samuel6/8/20232.00206.00412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck103.00Ross, Samuel6/9/2023.50206.00103.00Ross, Samuel6/14/2023.50206.00103.00	Johnson, (Craig	6/13/2023	.25	193.00	48.25	
check in on development of Council materialsRoss, Samuel6/6/20231.00206.00206.00Cont. dev of Council materials, coord with team, incl. review of DER budget materials6/7/20232.00206.00412.00Ross, Samuel6/7/20232.00206.00412.00cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck206.00412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.103.00Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00		Coordinate with OER on	Council materials.				
Cont. dev of Council materials, coord with team, incl. review of OER budget materialsRoss, Samuel6/7/20232.00206.00412.00cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.412.00Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00	Ross, Sam			.50	206.00	103.00	
budget materialsRoss, Samuel6/7/20232.00206.00412.00cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deck412.00Ross, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.103.00Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00	Ross, Sam	uel	6/6/2023	1.00	206.00	206.00	
cont. dev of council materials, incl. check in w/R Sholly on educ materials, revisions to draft agenda, outline budget deckRoss, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.412.00Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials50206.00103.00Ross, Samuel6/14/2023.50206.00103.00			terials, coord with tear	n, incl. review o	f OER		
materials, revisions to draft agenda, outline budget deckRoss, Samuel6/8/20232.00206.00412.00finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.103.00Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials6/14/2023.50206.00103.00	Ross, Sam	uel	6/7/2023	2.00	206.00	412.00	
finalize Council materials: review, edits, to LCP, 3YP decks; finish dev of, implement changes based on others' feedback on, budget deck.Ross, Samuel6/9/2023.50206.00103.00final pass, submission, plan for next steps re: council materials6/14/2023.50206.00103.00					IC		
implement changes based on others' feedback on, budget deck. Ross, Samuel 6/9/2023 .50 206.00 103.00 final pass, submission, plan for next steps re: council materials Ross, Samuel 6/14/2023 .50 206.00 103.00	Ross, Sam	uel	6/8/2023	2.00	206.00	412.00	
final pass, submission, plan for next steps re: council materialsRoss, Samuel6/14/2023.50206.00103.00							
Ross, Samuel 6/14/2023 .50 206.00 103.00	Ross, Sam	uel	6/9/2023	.50	206.00	103.00	
			-				
-	Ross, Sam					103.00	

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	0000003427
loss, Samu	el	6/15/2023	.75	206.00	154.50	
	prep for council present	ations on 3YP draft upda	ate, budget, L	CP and Educ		
	RFP		22.25		4 122 50	
	Totals		22.25		4,123.50	4 1 2 2 5 0
	Total Labor					4,123.50
				Total th	is Task	\$4,123.50
ask	03	Other Council Responsib	oilities			
rofession	al Personnel					
			Hours	Rate	Amount	
elliveau, E	ric	6/23/2023	1.25	220.00	275.00	
	review administrator RF	P for OER				
ohnson, Cr	raig	6/2/2023	.75	193.00	144.75	
	Update Annual Report g	raphics with final number	ers from RIE			
hnson, Cr	raig	6/14/2023	.50	193.00	96.50	
	Update electric and gas numbers, share with Ra					
oss, Samu	el	6/7/2023	.50	206.00	103.00	
	EE Implementation RFP	mtg, prep re: same				
oss, Samu	el	6/21/2023	2.00	206.00	412.00	
	review past project mat Impl RFP process	erials, prep guiding Qs a	and considerat	ions for EE		
oss, Samu	el	6/23/2023	2.00	206.00	412.00	
	prep for, attend meeting	g with Steve re: EE Adm	in RFP Disc; f	ollow up		
	review of mtg materials					
	Totals		7.00		1,443.25	
	Total Labor					1,443.25
				Total th	is Task	\$3,013.00
				Total this	Phase	\$8,249.50
 -		Research, Analysis, and				
	al Personnel	Research, Analysis, and		54		
			Hours	Rate	Amount	
aesar, Adr	ian	6/27/2023	.25	140.00	35.00	
	EERMC Newsletter deve		.25	110.00	55.00	
aesar, Adr		6/28/2023	.25	140.00	35.00	
	EERMC onboarding mat RFP updates				55.00	
aesar, Adr	•	6/30/2023	3.25	140.00	455.00	
	EERMC Newsletter Deve		0.20			
ohnson, Cr		6/1/2023	.75	193.00	144.75	
	Review and respond to					
ohnson, Cr		6/5/2023	2.00	193.00	386.00	
	EERMC Energy Fellow C Docket stakeholder mee REC certificates research	versight - Review summ ting, EC4 meetings, and	naries of Futur	e of Gas	500.00	
ohnson, Cr	raig	6/6/2023	.50	193.00	96.50	
-	EERMC Newsletter - Dis applications that can be	cussion w/ Jordan and N				

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000003427
Johnson,	Craig	6/7/2023	1.50	193.00	289.50	
	stakeholder meetings, p	ry notes from recent EC4 rovide next steps on con Council newsletter. Revie rate in RI.	verting conte	ent in notes		
Johnson,	Craig	6/8/2023	.50	193.00	96.50	
	Check-in w/ Jordan on r summaries.	newsletter development a	and recent me	eeting		
Johnson,	-	6/9/2023	4.50	193.00	868.50	
	for Councilor Gill Case, or research, and fossil fuel	iety of Council support it data request from OER re incentive phase out plar and Pre-Wx barrier data	elated to HE H	HP plan, IE nd data		
Johnson,	Craig	6/12/2023	.50	193.00	96.50	
	Newsletter, upcoming m	rep workstreams, includin neeting attendance, and	Legislative tra	acking.		
Johnson,	-	6/13/2023	.25	193.00	48.25	
	Review and provide feed Jordan re: same.	dback on EERMC newslet	ter draft, disc	cussion with		
Johnson,		6/14/2023	2.00	193.00	386.00	
,	-	om OER related to HE H				
		lata. Coordination call wi				
Johnson,	Craig	6/16/2023	1.00	193.00	193.00	
	Kickoff meeting with OE and next steps for creat	R, RIE, and rewiring among and ing RI specific tool.	erica to discu	ss process		
lohnson,	Craig	6/20/2023	.25	193.00	48.25	
	Check-in w/ Jordan on E	ERMC newsletter work.				
Ross, Sar	muel	6/1/2023	.50	206.00	103.00	
	_	Councilors Case and And	erBois			
Ross, Sar		6/6/2023	2.00	206.00	412.00	
		and Sue, prep and follo	-			
Ross, Sar	pre-EERMC quick check	6/13/2023 in w/Councilor Case, inc reloped by MG Energy Fe		206.00 MC	154.50	
Ross, Sar	muel	6/15/2023	1.75	206.00	360.50	
	meet with Councilor Cas	e prior to EERMC mtg, p	rep re: same			
Ross, Sar	muel	6/21/2023	.50	206.00	103.00	
	checking in with Rachel	and Jordan on educ, cou	uncil newslett	er.		
Ross, Sar	muel	6/22/2023	1.25	206.00	257.50	
	EE landscape orientation	n for Emily Koo				
Socks, M	atthew	6/1/2023	.50	206.00	103.00	
	Reviewing RI AESC upda	ate materials				
Socks, M	atthew	6/5/2023	1.00	206.00	206.00	
	Discussing RI AESC upd	ate w/ RIE and Synapse	staff			
Socks, M		6/13/2023	.75	206.00	154.50	
		on final draft AESC 2021	-	no for RIE		
	Totals		26.50		5,032.75	
	Total Labor					5,032.75
				Total this	s Phase	\$5,032.75
 _ Phase		Administrative				
				Total this	s Phase	\$290.50

Project	863223-0007525.00	Rhode Island EERMC - 2023	Invoice	000000342763
			Total this Project	\$53,202.25
			Total this Report	\$53,202.25

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

-

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 6R June 30, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Description of Services					
Services Performed 06/01/23 through 06/30/23						
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 3.25 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$669.50 \$0.00			
Travel Expenses (See attached travel expense form for	details.)		\$0.00			

TOTAL DUE

\$669.50

		001 - EE Prog	ram Planning & Im	nplementation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
							0.00	0.00	0.00
	Complete review and comments on 2024 Plan draft and residential enhancements		1.25				1.25	0.00	1.25
	Initial review of May program data. Questions to Optimal re: depth of review and timing		0.25				0.25	0.00	0.25
6/28/2023	Attend monthly RI EM&V meeting, meeting prep		0.75				0.75	0.00	0.75
	Internal follow up from monthly EM&V call: development of new UDRHs and handling of fuel choice savings. Review of RNC								
6/28/2023	program documents		1.00				1.00	0.00	1.00
							0.00	0.00	0.00
							0.00	0.00	0.00
	Total Hours	0.00	3.25	0.00	0.00	0.00	3.25	0.00	3.25
	Total Amount	\$0.00	\$669.50	\$0.00	\$0.00	\$0.00	\$669.50	0.00	\$669.50

Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: Invoice Date: OEI Project #: CEI RI 6-2023 June 30, 2023 7525

\$1,206.25

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Amount					
Services Performed 06/01/23 through 06/30/23						
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 6.25 0.00	<u>Hourly Rate</u> \$193.00 \$96.50	<u>Amount Due</u> \$1,206.25 \$0.00			
Travel Expenses (See attached travel expense form for	details.)		\$0.00			

Margie Lynch/Core Energy Insights, Inc. Services Performed 06/01/23 through 06/30/23

		001 - EE Prog	ram Planning & In	nplementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
	Participated in Equity Working Group meeting; reviewed and							
6/21/23	commented on 2024-2026 Plan updates and narrative		2.00			0.00	0.00	0.00
6/22/23	Participated in LI listening session		1.50			2.00	0.00	2.00
6/27/2023	Participated in Res listening session		1.50			1.50	0.00	1.50
6/28/2023	Participated in LI Best Practices meeting; briefed team re: same		1.25			1.50	0.00	1.50
						1.25	0.00	1.25
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	6.25	0.00	0.00	6.25	0.00	6.25
	Total Amount	\$0.00	\$1,206.25	\$0.00	\$0.00	\$1,206.25	0.00	\$1,206.25



BILLED TO

Optimal Energy - NV5 10600 Route 116, Suite 3 Hinesburg, VT 05461

Sam Ross

EcoMetric Consulting, LLC 555 Exton Cms Exton, PA 19341 610.400.8600 admin@ecometricconsulting.com

INVOICE

\$5,505.0

Project Name	RI EERMC Consultant	Invoice Date	06/30/2023
Project #	7525	Due Date	07/30/2023
Invoice #	1029-P6-23	Payment Terms	Net 30
Billing Period	04/29/2023 - 06/30/2023		

-			
Task Number	Description		Amount
001-02	Implementation Oversight & Plan Development		\$5,505.00
		Subtotal	\$5,505.00
		Invoice Total	\$5,505.00

Invoice Number Period	1029-P6-23 04/29/2023 - 06/30/2023							
Project	Task	Person	Title	Month	Hours	Rate	Αmoι	int
RI EERMC Consultant	Implementation Oversight & F	lan Dı Salil Gogte	Partner	2023-06	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight & F	lan Di Michael Frischmann	Partner	2023-06	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight & F	lan D. Michael Honeychuck	Managing Consultant	2023-06	13.5	\$ 206.00	\$	2,781.00
RI EERMC Consultant	Implementation Oversight & F	lan DeBitul Sinha	Managing Consultant	2023-06	10	\$ 206.00	\$	2,060.00
RI EERMC Consultant	Implementation Oversight & F	lan D. Cory Read	Data Scientist	2023-06	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & F	lan Di Jake Fuller	Managing Consultant	2023-06	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & F	lan Di Mary George	Sr Engineer	2023-06	4	\$ 166.00	\$	664.00
Total					27.50		\$	5,505.00

Project	Task	Person	Title	Month	Hours	Rate	Amount	
RI EERMC Consultant		0 Salil Gogte	Partner	2023-06		0 \$ 220.00	\$	-
RI EERMC Consultant		0 Michael Frischmann	Partner	2023-06		0 \$ 220.00	\$	-
RI EERMC Consultant		0 Michael Honeychuck	Managing Consultant	2023-06		0 \$ 206.00	\$	-
RI EERMC Consultant		0 Bitul Sinha	Managing Consultant	2023-06		0 \$ 206.00	\$	-
RI EERMC Consultant		0		2023-06		0	\$	-
Total					-		\$	-

fname	local_date	hours	task notes
Michael Hor	5/3/2023	0.5	Implementation Oversigh Invoice & discussions
Michael Hor	5/4/2023	0.5	Implementation Oversigh [®] Monthly check-in with Adrian
Michael Hor	5/10/2023	0.5	Implementation Oversigh Monthly C&I call with RI Energy & C-Team
			Setup tracker for Custom Electric & Gas reports
Bitul Sinha	6/26/2023	2	Implementation Oversigh Custom Gas reports Review
Bitul Sinha	6/28/2023	2	Implementation Oversigh Custom Gas reports Review
Bitul Sinha	6/29/2023	2	Implementation Oversigh Custom Gas reports Review
Bitul Sinha	6/30/2023	4	Implementation Oversigh Custom Gas/Electric reports Review

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

-

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 5852 June 30, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Amount		
Services Performed 06/01/2023 throu			
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 12.25 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$2,523.50 \$0.00
Travel Expenses (See attached travel expense form fo	r details.)		\$0.00

TOTAL DUE

\$2,523.50

Energy Futures Group, Inc. Services Performed 06/01/2023 through 06/30/2023

		001 - EE Prog	gram Planning & In	nplementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
6/1/2023	C&I C-team check-in		0.50			0.00	0.00	0.00
	Prep then RNC deep dive meeting		1.50			0.50	0.00	0.50
6/8/2023	2024 Plan review prep		0.25			1.50	0.00	1.50
	2024-26 Plan review		0.25			0.25	0.00	0.25
6/14/2023	Plan emails		0.25			0.25	0.00	0.25
6/16/2023	Provide feedback on performance lighting analysis		1.00			0.25	0.00	0.25
6/19/2023	2024-26 Plan review		2.00			1.00	0.00	1.00
6/20/2023	RI 2024-26 Plan review out.		1.50			2.00	0.00	2.00
6/27/2023	Review RIE 2024-26 Plan Narrative		3.00			1.50	0.00	1.50
6/27/2023	RIE public listening session, follow up notes		2.00			3.00	0.00	3.00
						2.00	0.00	2.00
						0.00	0.00	0.00
	Total Hours	0.00	12.25	0.00	0.00	12.25	0.00	12.25
	Total Amount	\$0.00	\$2,523.50	\$0.00	\$0.00	\$2,523.50	0.00	\$2,523.50

Make Payable to: Jennifer Chiodo JLC Consulting 52 Bent Creek Road Hinesburg, VT 05416

TO: Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: Invoice Date: OEI Project #: R-23.05 June 30, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Service	Amount		
Services Performed 06/01/23 through 06/3			
LABOR - Regular Hours LABOR - Travel Hours Travel Expenses (See attached travel expense form for deta	<u>Hours</u> 2.75 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$566.50 \$0.00 \$0.00

TOTAL DUE

\$566.50

Make Payable to: Jennifer Chiodo Services Performed 06/01/23 through 06/30/23

		001 - EE Program Planning & Implementation							
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
6/23/23	Review draft 3 year plan and comment		1.50				1.50	0.00	1.50
6/23/23	May 2023 data report rvw and comment		0.75				0.75	0.00	0.75
6/28/2023	3 year plan review		0.50				0.50	0.00	0.50
							0.00	0.00	0.00
							0.00	0.00	0.00
							0.00	0.00	0.00
	Total Hours	0.00	2.75	0.00	0.00	0.00	2.75	0.00	2.75
	Total Amount	\$0.00	\$566.50	\$0.00	\$0.00	\$0.00	\$566.50	0.00	\$566.50

Rachel Sholly 48 Hudson Street, Providence, RI 02909

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 66 June 30, 2023 7525

\$5,442.50

Work Performed for RI Energy Efficiency & Resource Management Council

Description	Amount		
Services Performed 06/01/2023 thr			
LABOR - Regular Hours LABOR - Admin Hours LABOR - Travel Hours	<u>Hours</u> 32.00 3.50 0.00	<u>Hourly Rate</u> \$161.00 \$83.00 \$80.50	<u>Amount Due</u> \$5,152.00 \$290.50 \$0.00
Travel Expenses (See attached travel expense form	for details.)		\$0.00

		001 - EE Progra	m Planning & Imple	ementation	004 - Council Sponsored Meetings & Materials							
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	004-01 Meeting Attendance	004-02 Develop Technical Materials	004-03 Other Council Responsibilities	006-00 Administrative	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Sub-Total Admin Hrs.	Total Hours
06/05/23	EdComm mtg prep - agenda, materials, public events; Public awareness RFP - reviewed C-team comments, sent to OER, related correspondence; Finalized & sent EdComm agenda & materials			1.50					1.50	0.00	0.00	1.50
	EdComm mtg prep; C-team planning re: EdComm mtg, Council mtg materials; Public forum planning w/C-team; Correspondence re: corrected Advocacy invoice; EdComm mtg; Public events check-in w/URI; CHP mtg prep - slides, registrations & correspondence; Update											
06/07/23	awareness campaign RFP per EdComm discussion C-team strategy can be public awareness campaign RFP, related correspondence; CHP mtg prep; CHP mtg & follow-up; Drafted public awareness RFP slides for Council mtg, referenced prior materials & notes, related			5.50			0.50		6.00	0.00	0.00	6.00
06/08/23	correspondence Incorporated final data into Annual Report; C-team			3.25			2.25		5.50	0.00	0.00	5.50
06/14/23	planning re: Council mtg prep; Incorporated final data into Annual Report Biweekly brand/comms check-in w/Advocacy & follow-			0.50			5.00		5.50	0.00	0.00	5.50
	up; Annual report - checked final numbers, finalized PDF, sent to OER, posted as mtg material; Cleaned up & sent notes from EERMC mtg; EERMC meeting			1.50			1.00	0.25	2.50	0.00	0.25	2.75
06/20/23								3.25	0.00	0.00	3.25	3.25
06/21/23	C-team planning re: edu activities; Drafted & sent EdComm agenda; Events planning check-in w/URI IES Customer Listening Session + notes to C-team;			1.75					1.75	0.00	0.00	1.75
	Correspondence w/C-team re: EdComm info gathering, w/OER re: EdComm agenda, w/Advocacy re:											
06/22/23	deliverables review Correspondence w/OER re: EdComm agenda; Correspondence w/URI re: events planning; Finalized & sent agenda & materials to EdComm; Prep & mtg w/J. Galluzzo (Optimal) re: education research; Requested		2.00	0.75					2.75	0.00	0.00	2.75
06/26/23	Annual Report printing quotes from vendors Updated Annual Report print/distribution plan; C-team			2.50			0.50		3.00	0.00	0.00	3.00
06/28/23	planning re: edu activities; EdComm mtg prep Updated Advocacy timeline, related correspondence;			1.75			0.50		2.25	0.00	0.00	2.25
06/29/23	Correspondence w/stakeholders re: EdComm mtgs Total Hours	0.00	2.00	1.25 20.25	0.00	0.00	9.75	3.50	1.25 32.00	0.00	0.00 3.50	1.25 35.50
	Total Amount	\$0.00		\$3,260.25		\$0.00			\$5,152.00			\$5,442.50

Rachel Sholly Services Performed 06/01/2023 through 06/30/2023

001 - EE Program Planning & Implementation 004 - Council Sponsored Meetings & Materia

Т

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 40 June 30, 2023 7525

\$2,214.50

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Amount		
Services Performed 06/01/23 through			
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 10.75 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$2,214.50 \$0.00
Travel Expenses (See attached travel expense form fo	or details.)		\$0.00

		001 - EE Prog	ıram Planning & Im	plementation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub- Total Travel Hrs.	Total Hours
6/1/2023	WFD report		0.25				0.25	0.00	0.00
6/2/2023	WFD report, 3YP process		0.25				0.25	0.00	0.25
6/5/2023	C&I NTG study		0.25				0.25	0.00	0.25
6/6/2023	C&I custom impact eval; WFD report		0.50				0.50	0.00	0.25
6/7/2023	WFD report		0.25				0.25	0.00	0.50
6/11/2023	WFD report; C&I NTG study		1.00				1.00	0.00	0.25
6/12/2023	SEB proc eval report		0.50				0.00	0.00	1.00
6/13/2023	Small bus proc report		1.50				0.50	0.00	0.50
6/14/2023	C&I studies call; C&I NTG study; C&I electric impact eval		1.50				1.50	0.00	1.50
6/15/2023	custom elec impact eval, C&I NTG study		0.50				1.50	0.00	1.50
6/16/2023	SB proc report		1.50				0.50	0.00	0.50
6/17/2023	SB proc report		0.25				1.50	0.00	1.50
6/19/2023	custom electric impact eval		1.00				0.25	0.00	0.25
6/20/2023	custom impact evals		0.25				1.00	0.00	1.00
6/21/2023	custom impact evals		0.25				0.25	0.00	0.25
6/23/2023	custom impact evals		0.25				0.25	0.00	0.25
6/28/2023	Res issues; UDRH issue		0.75				0.25	0.00	0.25
							0.00	0.00	0.00
	Total Hours	0.00	10.75	0.00	0.00	0.00	10.75	0.00	10.75
	Total Amount	\$0.00	\$2,214.50	\$0.00	\$0.00	\$0.00	\$2,214.50	0.00	\$2,214.50





38 Bellevue Avenue, Suite H Newport, Rhode Island 02840 Invoice # 59 Date: 09/01/2023 Due On: 10/01/2023

RI Energy Efficiency Resource Management Council

00001-RI Energy Efficiency Resource Management Council

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	08/01/2023	Attention to Data Request responses. Review, finalize and file same with cover letter. Service to distribution list.	1.00	\$275.00	\$275.00
Service	08/10/2023	Emails: C-Team re: questions.	0.20	\$275.00	\$55.00
Service	08/11/2023	Emails: C-Team re: questions.	0.60	\$275.00	\$165.00
Service	08/18/2023	Emails: Questions re: contracts.	0.20	\$275.00	\$55.00
Service	08/28/2023	Review email and contract from client re: potential termination.	0.30	\$275.00	\$82.50
Service	08/30/2023	Emails: Client re: contract questions.	0.30	\$275.00	\$82.50
Service	09/01/2023	Attention to docket filing.	0.40	\$275.00	\$110.00
			т	otal	\$8 2 5.00

Detailed Statement of Account

Other Invoices

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
35	09/07/2023	\$2,052.50	\$0.00	\$2,052.50
Current Invoice				
Invoice Number	Due On	Amount Due	Payments Received	Balance Due

59	10/01/2023	\$825.00	\$0.00	\$825.00
			Outstanding Balance	\$2 ,877.5 0
		Tot	al Amount Outstanding	\$2 ,877.5 0

Please make all amounts payable to: Desautel Browning Law

Please pay within 30 days.





38 Bellevue Avenue, Suite H Newport, Rhode Island 02840 Invoice # 89 Date: 10/02/2023 Due On: 10/31/2023

RI Energy Efficiency Resource Management Council

00001-RI Energy Efficiency Resource Management Council

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	09/05/2023	Emails: PUC re: technical session. Review notice, question to client.	0.60	\$275.00	\$165.00
Service	09/07/2023	Attention to technical session materials.	0.40	\$275.00	\$110.00
Service	09/12/2023	Listened to and summarized 9/8/23 PUC meeting	2.50	\$275.00	\$687.50
Service	09/13/2023	Attention to monthly meeting agenda.	0.20	\$275.00	\$55.00
Service	09/20/2023	Emails: Attention to EE docket.	0.20	\$275.00	\$55.00
Service	09/24/2023	Attention to meeting agenda and materials.	0.20	\$275.00	\$55.00
Service	09/27/2023	Emails: Client re: vote language and questions.	0.40	\$275.00	\$110.00

Total \$1,237.50

Detailed Statement of Account

Other Invoices

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
59	10/01/2023	\$825.00	\$0.00	\$825.00

Current Invoice

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
89	10/31/2023	\$1,237.50	\$0.00	\$1,237.50

- Outstanding Balance \$2,062.50
- Total Amount Outstanding\$2,062.50

Please make all amounts payable to: Desautel Browning Law

Please pay within 29 days.



From Advocacy Solutions LLC

1 Richmond Square Suite 200N Providence, RI 02906

Invoice For	RI Energy Efficiency Resource	Invoice ID	541
	Management Council RI Office of Energy Resources	Issue Date	08/31/2023
	One Capitol Hill Providence, RI 02908	Due Date	08/31/2023 (upon receipt)

Item Type	Description	Quantity	Unit Price	Amount
Service	Branding and Communications Development - 08/01/2023 - Communications / Ben Smith: Logo redesign and branding communications meeting prep. Finalize new updated FAQ using plain language.	3.00	\$150.00	\$450.00
Service	Branding and Communications Development - 08/02/2023 - Meeting Attendance / Christopher Hunter: Prep for meeting and EERMC rebrand status meeting to review FAQs, logo, and new website concepts	1.25	\$150.00	\$187.50
Service	Branding and Communications Development - 08/02/2023 - Meeting Attendance / Ben Smith: Advocacy Solutions / EERMC Review Brand Guidelines & Visual Identity	1.00	\$150.00	\$150.00
Service	Branding and Communications Development - 08/03/2023 - Meeting Attendance / Ben Smith: EERMC C-team check-in	0.50	\$150.00	\$75.00
Service	Branding and Communications Development - 08/03/2023 - Meeting Attendance / Christopher Hunter: Logo and branding timeline meeting	0.50	\$150.00	\$75.00
Service	Branding and Communications Development - 08/04/2023 - Communications / Christopher Hunter: Review domain name options	0.25	\$150.00	\$37.50
Service	Branding and Communications Development - 08/04/2023 - Communications / Ben Smith: Deep dive into available domain options.	2.50	\$150.00	\$375.00
Service	Branding and Communications Development - 08/07/2023 - Admin / Ben Smith: Develop talking points and presentation to EERMC full Council meeting on 8.17.	2.50	\$150.00	\$375.00
Service	Branding and Communications Development - 08/08/2023 - Communications / Ben Smith: EERMC presentation to Full Council on 8.17	2.50	\$150.00	\$375.00
Service	Branding and Communications Development - 08/08/2023 - Email Correspondence / Ben Smith: EERMC presentation to Full Council on 8.17	0.50	\$150.00	\$75.00

Branding and Communications Development - 08/09/2023 - Communications / Ben Smith: Update draft talking points for Council explainer	2.50	\$150.00	\$375.00
Branding and Communications Development - 08/10/2023 - Meeting Attendance / Ben Smith: Advocacy Solutions / EERMC bi- weekly check-in	0.50	\$150.00	\$75.00
Branding and Communications Development - 08/10/2023 - Email Correspondence / Ben Smith: Compile examples of brand books and design products to provide a better idea of what deliverables will look like.	0.75	\$150.00	\$112.50
Branding and Communications Development - 08/21/2023 - Meeting Attendance / Ben Smith: Ben/Harry	0.50	\$150.00	\$75.00
Branding and Communications Development - 08/23/2023 - Meeting Attendance / Ben Smith: EERMC draft mission statement	1.00	\$150.00	\$150.00
Branding and Communications Development - 08/24/2023 - Meeting Attendance / Ben Smith: EERMC billing call	0.50	\$150.00	\$75.00
Branding and Communications Development - 08/30/2023 - Meeting Attendance / Ben Smith: EERMC branding and communications meeting	1.00	\$150.00	\$150.00
	Communications / Ben Smith: Update draft talking points for Council explainerBranding and Communications Development - 08/10/2023 - Meeting Attendance / Ben Smith: Advocacy Solutions / EERMC bi- weekly check-inBranding and Communications Development - 08/10/2023 - Email Correspondence / Ben Smith: Compile examples of brand books and design products to provide a better idea of what deliverables will look like.Branding and Communications Development - 08/21/2023 - Meeting Attendance / Ben Smith: Ben/HarryBranding and Communications Development - 08/23/2023 - Meeting Attendance / Ben Smith: EERMC draft mission statementBranding and Communications Development - 08/23/2023 - Meeting Attendance / Ben Smith: EERMC draft mission statementBranding and Communications Development - 08/24/2023 - Meeting Attendance / Ben Smith: EERMC billing callBranding and Communications Development - 08/30/2023 - Meeting Attendance / Ben Smith: EERMC billing call	Communications / Ben Smith: Update draft talking points for Council explainer0.50Branding and Communications Development - 08/10/2023 - Meeting Attendance / Ben Smith: Advocacy Solutions / EERMC bi- weekly check-in0.50Branding and Communications Development - 08/10/2023 - Email 	Communications / Ben Smith: Update draft talking points for Council explainerImage: Communication of talking points for Council explainerBranding and Communications Development - 08/10/2023 - Meeting Attendance / Ben Smith: Advocacy Solutions / EERMC bi- weekly check-in0.50\$150.00Branding and Communications Development - 08/10/2023 - Email Correspondence / Ben Smith: Compile examples of brand books and design products to provide a better idea of what deliverables will look like.0.75\$150.00Branding and Communications Development - 08/21/2023 - Meeting Attendance / Ben Smith: Ben/Harry0.50\$150.00Branding and Communications Development - 08/23/2023 - Meeting Attendance / Ben Smith: EERMC draft mission statement1.00\$150.00Branding and Communications Development - 08/24/2023 - Meeting Attendance / Ben Smith: EERMC draft mission statement0.50\$150.00Branding and Communications Development - 08/24/2023 - Meeting Attendance / Ben Smith: EERMC billing call0.50\$150.00Branding and Communications Development - 08/24/2023 - Meeting Attendance / Ben Smith: EERMC billing call0.50\$150.00Branding and Communications Development - 08/20/2023 - Meeting Attendance / Ben Smith: EERMC billing call1.00\$150.00

Amount Due \$3,187.50



From Advocacy Solutions LLC 1 Richmond Square Suite 200N Providence, RI 02906

Invoice For	RI Energy Efficiency Resource	Invoice ID	558
	Management Council	Issue Date	09/30/2023
	RI Office of Energy Resources One Capitol Hill Providence, RI 02908	Due Date	09/30/2023 (upon receipt)

Item Type	Description	Quantity	Unit Price	Amount
Service	Branding and Communications Development - 09/13/2023 - Meeting Attendance / Christopher Hunter: Call with Rachel re: board presentation of mission, about and logo options	0.50	\$150.00	\$75.00
Service	Branding and Communications Development - 09/14/2023 - Meeting Attendance / Christopher Hunter: Attend EERMC board meeting, present brand recommendations	0.50	\$150.00	\$75.00

Amount Due \$150.00

INVOICE Federal Tax ID# 03-0351557



Remit checks to: Optimal Energy, Inc. PO Box 74008680 Chicago, IL 60674-8680	Remit ACH transfer to: ABA Routing Number 063100277 Account Number 898052466590 Email ACH/Wire remittance details to RemittanceNotifications@nv5.com	Remit Wire Transfers to: ABA Routing Number 026009593 Account Number 898052466590 Swift Code INTL. BOFAUS3N
Steven Chybowski Rhode Island Office of Energy Res	July 31, 2023 Project No: Invoice No:	863223-0007525.00 000000347157
Professional Services from Jul		
Dhase 001	FF Due Discussion 0. Transformentation Operation	

Phase	001	EE Prg Planning & Implementation Oversig							
Task	01	Council Representation							
Professional	Personnel								
			Hours	Rate	Amount				
Casaan Ad	luian		1 25	140.00	175.00				

		Hours	Rate	Amount	
Caesar, Adrian		1.25	140.00	175.00	
Johnson, Craig		3.00	193.00	579.00	
Ross, Samuel		1.50	206.00	309.00	
Totals		5.75		1,063.00	
Total Lab	oor				1,063.00
			Total th	is Task	\$1,063.00
Task 02	Implementation Oversig	ht and Plan D	evelo		
Professional Personnel					
		Hours	Rate	Amount	
Caesar, Adrian		79.00	140.00	11,060.00	
Johnson, Craig		67.75	193.00	13,075.75	
Ross, Samuel		3.50	206.00	721.00	
Totals		150.25		24,856.75	
Total Lat	oor				24,856.75
Consultants					
Glenn Reed dba: GDR Consu	ulting			2,832.50	
CORE ENERGY INSIGHTS IN	IC.			868.50	
EcoMetric Consulting, LLC				1,236.00	
Energy Futures Group, Inc.				1,390.50	
JENNIFER CHIODO DBA: JLC	C CONSULTING, LLC			566.50	
RALPH PRAHL				1,751.00	
Total Co	nsultants			8,645.00	8,645.00
			Total th	is Task	\$33,501.75
	Education Initiatives				

Please Reference Our Invoice Number on your Payment

Project 85322-0007525.00 Rhode Island EERMC - 2023 Invoice 0000034711 Professional Personnel Johnson, Craig 25 193.00 48.25 Total Labor 666.25 Total Labor 666.25 Consultants Rachel Sholly Total Consultants 4,025.00 Total this Phase \$39,256.00 Total this Phase \$39,256.00 Phase 002 System Reliability Procurement Task 01 Council Representation Professional Personnel Ross, Samuel 1.00 Z06.00 Total Labor 206.00 Total this Task \$206.00 Total Labor 206.00 Total Labor 1.00 Z06.00 Total Labor 206.00 Total Labor 1.00 Z06.00 Total Labor 206.00 Total Labor 1.00 Z06.00 Total Labor 1.00 Z06.00 Total Labor 206.00 Total Labor 206.00 Total Labor 206.00 Total Labor 1.00 Z06.00 Total Labor 206.00 Total							
Johnson, Craig Ross, SamuelHours 2.25Rate 193.00Amount 48.25Ross, SamuelTotal Labor666.25Consultants $4.025.00$ $4.025.00$ Rachel ShollyTotal Consultants $4.025.00$ Rachel ShollyTotal Consultants $4.025.00$ Phase02System Reliability ProcurementTotal this Phase\$39,256.00Phase01Council Representation206.00206.00Total LaborTotal Labor206.00206.00Professional Personnel1.00206.00206.00Total LaborTotal Labor206.00206.00Total LaborTotal Labor206.00206.00Total LaborTotal Labor206.00206.00Total LaborTotal Labor206.00206.00Total LaborTotal Labor206.00206.00Total Labor1.00206.00206.00Total Labor1.00206.00206.00Total Labor206.00206.00206.00Total Labor206.00206.00206.00Total Labor206.00206.00206.00Total Labor206.00206.00206.00Total Labor1.00206.00206.00Total Labor1.00206.00206.00Total Labor1.00206.00206.00Total Labor1.00206.00206.00Total Labor1.00206.00206.00Total Labor1.00206.00206.00<	Project	863223-0007525.00	Rhode Island EERMC -	- 2023		Invoice	0000003471
Johnson, Craig Ross, Samuel 25 193.00 48.25 Totals 3.00 206.00 618.00 Total Labor 666.25 666.25 Consultants 4,025.00 4,025.00 Rachel Sholy Total Consultants 4,025.00 4,025.00 Rachel Sholy Total Consultants 4,025.00 4,025.00 Rachel Sholy Total Consultants 4,025.00 4,025.00 Plase 002 System Reliability Procurement Total this Phase \$39,256.00 Phase 01 Council Representation 206.00 206.00 Professional Personnel Totals 1.00 206.00 206.00 Total Labor Z06.00 206.00 206.00 206.00 Total Labor Plan Development and Oversight Total this Task \$206.00 Total Labor Z06.00 206.00 206.00 Total Labor Z06.00 206.00 206.00 Total Labor Council Representation Total this Task \$206.00 Phase	Professiona	al Personnel					
Ross, Samuel 3.00 206.00 618.00 Totals 3.25 666.25 Consultants 4,025.00 4,025.00 Rachel Sholly 4,025.00 4,025.00 Total Consultants 4,025.00 4,025.00 Rachel Sholly Total Consultants \$4,691.25 Total Consultants 4,025.00 539,256.00 Phase 002 System Reliability Procurement Total this Phase \$39,256.00 Phase 01 Council Representation 206.00 206.00 206.00 Professional Personnel 1.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 Total Labor							
Totals 3.25 666.25 Consultants 4,025.00 4,025.00 Rachel Sholly Total Consultants 4,025.00 4,025.00 Total this Task 54,691.25 54,691.25 Phase 02 System Reliability Procurement Total this Task 54,691.25 Phase 01 Council Representation Total this Phase \$39,256.00 Professional Personnel Council Representation 206.00 206.00 Total Labor Council Representation 206.00 206.00 Total Labor 1.00 206.00 206.00 Total Labor Phours Rate Amount Professional Personnel Hours Rate Amount Total Labor 1.00 206.00 206.00 Total Labor Total S 1.00 206.00 Total Labor Total Labor 206.00 206.00 Total Labor Total Labor 206.00 206.00 Total Labor Council Representation Total this Task \$206.00 Phase 03 Regulatory Procceedings Total this Task </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
Total Labor 666.25 Consultants 4,025.00 4,025.00 Rachel Sholly Total Consultants 4,025.00 4,025.00 Total Consultants 4,025.00 4,025.00 4,025.00 Processional Presentation Total this Task \$39,256.00 Prase 0.02 System Reliability Procurement Total this Phase \$39,256.00 Professional Personnel Council Representation Professional Personnel 206.00 206.00 Total Labor Council Representation Professional Personnel 206.00 206.00 Total Labor Lono 206.00 206.00 206.00 Total Labor Council Representation 2	Ross, Sa				206.00		
Consultants 4,025.00 4,025.00 Rachel Sholly Total Consultants 4,025.00 Total this Task \$4,691.25 Data Total this Phase \$39,256.00 Phase 002 System Reliability Procurement Total this Phase \$39,256.00 Professional Personnel Council Representation Professional Personnel 206.00 206.00 Total Labor Council Representation 206.00 206.00 206.00 Total Labor 206.00 206.00 206.00 206.00 Total Labor 206.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 Total Labor Council Representation Total this Task <t< td=""><td></td><td></td><td></td><td>3.25</td><td></td><td>666.25</td><td></td></t<>				3.25		666.25	
Rachel Sholly 4,025.00 4,025.00 4,025.00 Total Consultants 4,025.00 4,025.00 4,025.00 Total this Task \$4,691.25 \$39,256.00 Phase 002 System Reliability Procurement Image: Consultant Stress Stres		Total Labor					666.25
Total Consultants4,025.004,025.00Total this Task\$4,691.25Total this Task\$39,256.00Phase002System Reliability ProcurementTask01Council RepresentationProfessional Personnel1.00206.00Totals1.00206.00Totals1.00206.00Totals1.00206.00Totals1.00206.00Totals1.00206.00Totals1.00206.00Total Labor206.00206.00Total Labor206.00206.00Totals1.00206.00Totals1.00206.00Totals1.00206.00Totals1.00206.00Total babor206.00206.00Totals1.00206.00Total Labor206.00206.00Total Labor206.00206.00Total Labor206.00206.00Total Labor206.00206.00Total Labor1.00206.00Total Labor206.00206.00Total Labor1.519.00366.00Totals7.502.06.00Totals7.502.06.00Totals7.502.06.00Total Labor1.519.00Total Labor1.519.00Total Labor1.519.00Total Labor1.519.00Total Labor1.519.00Total Labor1.519.00Total Labor1.519.00Total La	Consultants	5					
Total this Task \$4,691.25 Total this Phase 002 System Reliability Procurement \$39,256.00 Phase 002 System Reliability Procurement Image: Council Representation Professional Personnel Council Representation 206.00 206.00 Professional Personnel 1.00 206.00 206.00 Total Labor 1.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 Task 02 Plan Development and Oversight Professional Personnel 206.00 Ross, Samuel 1.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 Professional Personnel 1.00 206.00 206.00 206.00 Total Labor Council Representation Fortal this Phase \$412.00 Professional Personnel 1.00 1.93.00 <td< td=""><td>Rachel S</td><td>Sholly</td><td></td><td></td><td></td><td>4,025.00</td><td></td></td<>	Rachel S	Sholly				4,025.00	
Phase 002 System Reliability Procurement Task 01 Council Representation Professional Personnel 1.00 206.00 206.00 Total this Task 1.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Task 02 Plan Development and Oversight 700 206.00 206.00 Task 02 Plan Development and Oversight 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 206.00 206.00 Phase 003 Regulatory Proceedings Total this Task \$206.00 Professional Personnel 2.00 193.00 366.00 366.00 Total Labor 5.50 206.00 1,133.00 1,519.00 Total Labor		Total Consu	lltants			4,025.00	4,025.00
Phase 002 System Reliability Procurement Task 01 Council Representation Professional Personnel Ross, Samuel 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Total Labor 206.00 Total this Task \$206.00 Total this Task \$206.00 Total this Task \$206.00 Total this Task \$206.00 206.00 206.00 206.00 206.00 206.00 206.00 206.00 206.00 Total Labor 206.00 Total this Task \$206.00 Total Labor 206.00 Total this Task \$206.00 Total this Phase \$4112.00 Phase 003 Regulatory Proceedings Task 01 Council Representation Professional Personnel Total Labor 1,133.00 Total Labor 1,133.00					Total th	is Task	\$4,691.25
Task 01 Council Representation Professional Personnel Hours Rate Amount Ross, Samuel 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Total Labor 200 7000 206.00 Task 02 Plan Development and Oversight Total this Task \$206.00 Professional Personnel Hours Rate Amount 206.00 Ross, Samuel 02 Plan Development and Oversight 206.00 206.00 Totals 1.00 206.00 206.00 206.00 Totals 0.00 Rate Amount \$206.00 Phase 003 Regulatory Proceedings Total this Task \$412.00 Professional Personnel 2.00 193.00 386.00 1,519.00 Total Labor 7.50 1,519.00 1,519.00 <t< td=""><td></td><td></td><td></td><td></td><td>Total this</td><td>s Phase</td><td>\$39,256.00</td></t<>					Total this	s Phase	\$39,256.00
Task 01 Council Representation Professional Personnel Hours Rate Amount Ross, Samuel 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Total Labor 200 7000 206.00 Task 02 Plan Development and Oversight Total this Task \$206.00 Professional Personnel Hours Rate Amount 206.00 Ross, Samuel 02 Plan Development and Oversight 206.00 206.00 Totals 1.00 206.00 206.00 206.00 Totals 0.00 Rate Amount \$206.00 Phase 003 Regulatory Proceedings Total this Task \$412.00 Professional Personnel 2.00 193.00 386.00 1,519.00 Total Labor 7.50 1,519.00 1,519.00 <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>							
Professional Personnel Nours Rate Amount Amount 206.00				rement			
Ross, Samuel Totals 1.00 206.00 206.00 206.00 Total Labor 206.00 206.00 206.00 206.00 206.00 Total Labor Total Labor 206.00 206.00 206.00 206.00 Task 0.2 Plan Development and Oversight Total this Task \$206.00 206.00 Task 0.2 Plan Development and Oversight Rate Amount 206.00 Total Labor 1.00 206.00 206.00 206.00 206.00 Total Labor Rate Amount 206.00 206.00 206.00 Total Labor 1.00 206.		-					
Ross, Samuel 1.00 206.00 206.00 206.00 Totals 1.00 206.00 206.00 206.00 Total Labor Total this Task \$206.00 206.00 Task 02 Plan Development and Oversight Total this Task \$206.00 Professional Personnel 1.00 206.00 206.00 206.00 Ross, Samuel 1.00 206.00 206.00 206.00 Totals 1.00 206.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 Phase 003 Regulatory Proceedings Total this Task \$206.00 Fask 01 Council Representation 206.00 1,133.00 386.00 Ross, Samuel 7.50 193.00 386.00 206.00 1,133.00 Ross, Samuel Total Labor 5.50 206.00 1,133.00 Totals 7.50 1,519.00 1,519.00 1,519.00 Total Labor Total this Task \$1,519.00 1,519.00				Hours	Pato	Amount	
Totals 1.00 206.00 Total Labor 206.00 Total Labor Total this Task \$206.00 Task 02 Plan Development and Oversight Fours in this Task Amount Professional Personnel 1.00 206.00 206.00 206.00 Totals 1.00 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 Total Labor Total Labor 206.00 206.00 Total Labor Total Labor 206.00 206.00 Phase 003 Regulatory Proceedings \$412.00 Phase 01 Council Representation 500 386.00 Phase 01 Council Representation 193.00 386.00 Johnson, Craig S.50 2.000 1,133.00 386.00 Ross, Samuel Total Labor 1.519.00 1,519.00 1,519.00 Total Labor Total Labor 1.519.00 1,519.00 1,519.00 Total Labor Total Councie Material 7.50 1,519.00 1,519.00 Total Labor <td>Ross Sa</td> <td>imuel</td> <td></td> <td></td> <td></td> <td></td> <td></td>	Ross Sa	imuel					
Total Labor 206.00 Total this Task \$206.00 Task 02 Plan Development and Oversight Professional Personnel Hours Rate Amount Ross, Samuel 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Total Labor 1.00 206.00 206.00 Total Labor Total Labor 206.00 206.00 Phase 03 Regulatory Proceedings Total this Phase \$412.00 Phase 01 Council Representation 500 1,133.00 366.00 Professional Personnel 2.00 193.00 386.00 1,133.00 1,519.00 Johnson, Craig Total Labor 5.50 206.00 1,133.00 1,519.00 Total Labor Total Labor 5.50 206.00 1,133.00 1,519.00 Ross, Samuel 1 7.50 1,519.00 1,519.00 1,519.00 Total Labor Develop Technical Material Fate Amount 1,519.00	1033, 30				200.00		
Task 02 Plan Development and Oversight Professional Personnel Ross, Samuel I otal Labor Totals Labor Phase 003 Regulatory Proceedings Task 01 Council Representation Professional Personnel Professional Personnel Totals Labor Professional Personnel Professional Personnel Totals A 01 Council Representation Professional Personnel Totals 1,510,00 386,00 1,133,00 386,00 1,133,00 Totals 5,50 206,00 1,133,00 Totals 7,50 1,519,00 Total Labor Total Labor Total Labor Total Labor Totals 1,519,00 Total Labor Totals 7,50 1,519,00 Total Labor Totals 7,50 1,519,00 Total Labor Total L				1.00		200100	206.00
Task 02 Plan Development and Oversight Professional Personnel Hours Rate Amount Ross, Samuel 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Total Labor Zotal Using Zotal Using Zotal Using Phase 003 Regulatory Proceedings Total this Phase \$412.00 Phase 003 Regulatory Proceedings Total Using Status Status Professional Personel Council Representation Professional Personel Total Labor Totals Amount Johnson, Craig Regulatory 7.50 206.00 1,133.00 J519.00 Total Labor Total Labor Develop Technical Materials I,519.00 Total this Task \$1,519.00 Task 02 Develop Technical Materials Rate Amount I,519.00 Total Labor Develop Technical Materials Rate Amount I,519.00 Total Labor Develop Technical Materials Rate Amount II,519.00 </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>							
Professional Personnel Hours Rate Amount Ross, Samuel 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Total Labor 206.00 206.00 206.00 Total Labor Total Labor 206.00 206.00 Phase 003 Regulatory Proceedings 500 500 206.00 Phase 01 Council Representation 500 206.00 1,313.00 Professional Personel 5.00 206.00 1,133.00 366.00 Johnson, Craig Totals 7.50 1,519.00 1,519.00 Ross, Samuel 7.50 1,519.00 1,519.00 1,519.00 Total Labor 7.50 1,519.00 1,519.00 1,519.00 Total Labor 10evelop Technical Materials \$1,519.00 1,519.00 1,519.00 Total Labor 10evelop Technical Materials \$1,519.00 \$1,519.00 1,519.00 Total Labor 10evelop Technic					Total th	lis Task	\$206.00
Ross, SamuelHoursRateAmountTotals1.00206.00206.00Total Labor1.00206.00206.00Total LaborTotal Labor206.00206.00Total LaborTotal LaborTotal this Task\$206.00Phase0.03Regulatory ProceedingsTotal this Phase\$412.00Phase0.03Regulatory ProceedingsImage: Complex ProceedingsImage: Complex ProceedingsPhase0.03Regulatory ProceedingsImage: Complex ProceedingsImage: Complex ProceedingsProfessional Verserver1Council Representation1mage: Complex ProceedingsImage: Complex ProceedingsInstance12.001.93.00386.00386.00Instance12.001.93.003.93.001.133.00Instance111Image: Complex ProceedingsImage: Complex ProceedingsInstance1111Image: Complex ProceedingsImage: Complex ProceedingsInstance11111Image: Complex ProceedingsInst	– – – – – Fask	02	Plan Development and C	versight			
Ross, Samuel 1.00 206.00 206.00 Totals 1.00 206.00 206.00 Total Labor Total Labor 206.00 206.00 Total Labor Total Labor \$206.00 206.00 Phase 003 Regulatory Proceedings \$412.00 Phase 01 Council Representation Total this Phase \$412.00 Professional Personel Council Representation 1 Sa6.00 1,133.00 Johnson, Craig Ross, Samuel Totals 5.50 206.00 1,133.00 Total Labor 7.50 1,519.00 1,519.00 Total Labor Total Labor 1,519.00 1,519.00 Total Labor Develop Technical Materials \$1,519.00 \$1,519.00 Task 02 Develop Technical Materials \$1,519.00 Professional Personel Hours Rate Amount	Professiona	al Personnel					
Totals1.00206.00Total Labor206.00Total LaborTotal this Task\$206.00Fordal this Phase\$412.00Phase003Regulatory ProceedingsImage: Council RepresentationPhase003Regulatory ProceedingsImage: Council RepresentationProfessional PersonnelHoursRateAmountJohnson, CraigTotals5.50206.001,133.00Ross, SamuelTotals5.50206.001,519.00Total LaborTotal LaborTotal this Task\$1,519.00Task02Develop Technical MaterialsRateAmountTotal LaborEndersRateAmountTotal Labor1,519.00Total LaborTotal this Task\$1,519.00Total LaborTotal this TaskAmountTask02Develop Technical MaterialsRateAmountHoursRateAmountTotal this Task\$1,519.00Total this TaskAmountTotal this TaskAmount							
Total Labor206.00Total this Task\$206.00Total this Phase\$412.00Phase003Regulatory Proceedings	Ross, Sa				206.00		
Total this Task \$206.00 Total this Phase 003 Regulatory Proceedings 5412.00 Phase 01 Council Representation 50 Total this Dawn 01 Council Representation Professional Personal Personal Cause 10 Council Representation Johnson, Craig 2.00 193.00 386.00 Totals 5.50 206.00 1,133.00 Total Labor 7.50 1,519.00 Total Labor 10 1,519.00				1.00		206.00	
Total this Phase 003 Regulatory Proceedings Fask 01 Council Representation Professional Personnel Hours Rate Amount Johnson, Craig 2.00 193.00 386.00 Ross, Samuel 5.50 206.00 1,133.00 Total Labor 7.50 1,519.00 Total Labor 1,519.00 1,519.00		Total Labor					206.00
Phase 003 Regulatory Proceedings Task 01 Council Representation Professional Personnel Hours Rate Amount Johnson, Craig 2.00 193.00 386.00 Ross, Samuel 5.50 206.00 1,133.00 Totals 7.50 1,519.00 Total Labor 1,519.00 1,519.00 Fask 02 Develop Technical Materials Professional Personnel Hours Rate Amount					Total th	is Task	\$206.00
Task 01 Council Representation Professional Personnel Hours Rate Amount Johnson, Craig 2.00 193.00 386.00 Ross, Samuel 5.50 206.00 1,133.00 Totals 7.50 1,519.00 Total Labor Total this Task \$1,519.00 Task 02 Develop Technical Materials Professional Personnel Hours Rate Amount					Total this	s Phase	\$412.00
Task 01 Council Representation Professional Personnel Hours Rate Amount Johnson, Craig 2.00 193.00 386.00 Ross, Samuel 5.50 206.00 1,133.00 Totals 7.50 1,519.00 Total Labor Total this Task \$1,519.00 Task 02 Develop Technical Materials Professional Personnel Hours Rate Amount	- Phase	003	Regulatory Proceedings				
Professional Personnel Hours Rate Amount Johnson, Craig Ross, Samuel 2.00 193.00 386.00 Totals 5.50 206.00 1,133.00 Total Labor 7.50 1,519.00 Total Labor 1,519.00 Total this Task \$1,519.00 Fask 02 Develop Technical Materials Professional Personnel Hours Rate Amount	– – – – – Fask	01	Council Representation				
Johnson, Craig Ross, SamuelHours 2.00Rate 193.00AmountJohnson, Craig Ross, Samuel2.00193.00386.00Totals5.50206.001,133.00Totals Labor7.501,519.00Total LaborTotal Total Task\$1,519.00Task02Develop Technical Materials\$1,519.00Foressional Personnel							
Johnson, Craig 2.00 193.00 386.00 Ross, Samuel 5.50 206.00 1,133.00 Totals 7.50 1,519.00 Total Labor 1,519.00 Total this Task \$1,519.00 Total voltabor 1,519.00 Total bor 1,519.00 Total this Task \$1,519.00 Total bor Total this Task \$1,519.00 Total bor Total this Task \$1,519.00 Total Personnel				Hours	Rate	Amount	
Ross, Samuel 5.50 206.00 1,133.00 Totals 7.50 1,519.00 Total Labor Total this Task \$1,519.00 Total Note Total this Task \$1,519.00 Task 02 Develop Technical Materials Professional Personnel Hours Rate Amount	Johnson	. Craig					
Totals 7.50 1,519.00 Total Labor Total this Task Total this Task \$1,519.00 Task 02 Develop Technical Materials Professional Personnel Hours Rate Amount							
Total Labor 1,519.00 Total this Task \$1,519.00 Task 02 Develop Technical Materials Professional Personnel Hours Rate Amount							
Total this Task \$1,519.00 Fask 02 Develop Technical Materials Professional Personnel Hours Rate Amount						,	1,519.00
Professional Personnel Hours Rate Amount					Total th	is Task	-
Professional Personnel Hours Rate Amount							
Hours Rate Amount		-	Develop Technical Mater	rials			
	10103510110			Hours	Rate	Amount	
	Caesar, I	Adrian					

Project	86322	3-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000347
Johnsor	n, Craig			10.50	193.00	2,026.50	
Ross, Sa	amuel			12.50	206.00	2,575.00	
		Totals		25.00		4,881.50	
		Total Labor					4,881.50
					Total th	is Task	\$4,881.50
					Total this	Phase	\$6,400.50
Phase		04	Council Sponsored Meet	ings and Mate	erials		
「ask)1	Meeting Attendance				
Profession	al Perso	nnel					
				Hours	Rate	Amount	
Caesar,				2.25	140.00	315.00	
Johnsor	. –			3.00	193.00	579.00	
Ross, Sa	amuel			3.00	206.00	618.00	
		Totals		8.25		1,512.00	
		Total Labor					1,512.00
					Total th	is Task	\$1,512.00
- Task	 C	— — — — — — — — — — — — — — — — — — —	Develop Technical Mater	 · rials			
Profession	al Perso	nnel					
				Hours	Rate	Amount	
Caesar,	Adrian			8.00	140.00	1,120.00	
Johnsor	n, Craig			9.50	193.00	1,833.50	
Ross, Sa	amuel			4.00	206.00	824.00	
		Totals		21.50		3,777.50	
		Total Labor					3,777.50
Reimbursa	ble Expe	enses					
	-	le Expense				119.99	
		Total Reimb	oursables			119.99	119.99
					Total th	is Task	\$3,897.49
Fask		<u></u>	Other Council Responsib	pilities			
Profession	al Perso	nnel					
a . I.				Hours	Rate	Amount	
Johnsor	. –			6.25	193.00	1,206.25	
Mosent	hal, Philip			1.50	220.00	330.00	
		Totals		7.75		1,536.25	4 596 95
		Total Labor					1,536.25
Consultant	ts						
Rachel :	Sholly					322.00	
		Total Consu	ltants			322.00	322.00
					Total th	is Task	\$1,858.25
					Total this	Phase	\$7,267.74

Project	863223-0007525	5.00 Rhode Island	EERMC - 2023	Invoice	000000347157	
Profession	al Personnel					
			Hours	Rate	Amount	
Johnsoi	n, Craig		3.50	193.00	675.50	
Mosent	hal, Philip		.25		55.00	
Ross, S	amuel		8.50		1,751.00	
	Totals		12.25		2,481.50	
	Total La	ibor				2,481.50
				Total thi	s Phase	\$2,481.50
Phase	007	EERMC Intern				
Additional	Fees					
Monthly	y Intern Fee (July 20)23)			3,750.00	
	Total Ad	dditional Fees			3,750.00	3,750.00
				Total thi	s Phase	\$3,750.00
Billing Lim	its		Current	Prior	To-Date	
Total Bi	illings		59,567.74	308,296.25	367,863.99	
Lin	nit				717,025.00	
Rei	maining				349,161.01	
				Total this	Invoice	\$59,567.74
Billings To	Date					
		Current	Prior	Total		
Labor		42,705.75	209,277.25	251,983.00		
Consult	ant	12,992.00	88,519.00	101,511.00		
Expense		119.99	3,000.00	3,119.99		
Add-on		3,750.00	7,500.00	11,250.00		
Totals		59,567.74	308,296.25	367,863.99		

Project	863223-0007525.00) Rhode Island EERMC -	2023		Invoice	00000034715
Billing	Backup				Wednesday, Au	ıgust 23, 2023
NV5, Inc.	·	Invoice 000	0000347157	Dated 7/31/2023		1:22:06 PM
— — — — — Phase	001	EE Prg Planning & Imple	mentation Ov	– – – – – – – rersig		
 _	01	Council Representation				
	al Personnel	council representation				
			Hours	Rate	Amount	
Caesar, Adri	an	7/27/2023	1.25	140.00	175.00	
		- Econ impact multipliers, updates, regional benchma				
Johnson, Cra	-	7/7/2023	1.25	193.00	241.25	
	-	II w/ RIE and OER, meeting				
Johnson, Cra	5	7/18/2023	.50	193.00	96.50	
Jaharan Ca		eeting w/ OER and RIE.	1 25	102.00	241.25	
Johnson, Cra	BIG EE TWG meeting.	7/27/2023	1.25	193.00	241.25	
Ross, Samue	-	7/27/2023	1.50	206.00	309.00	
Ross, Suma	EETWG	112112025	1.50	200.00	505.00	
	Totals		5.75		1,063.00	
	Total Labo	r				1,063.00
				Total this	Task	\$1,063.00
Task	02	Implementation Oversig	nt and Plan D	evelo		
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri		7/5/2023	5.50	140.00	770.00	
	- VFD measures; EM8 Workforce Needs Ass	BYP review; EVT contractor V Study review - C&I NTG, essment Final report, RICE review; 2024-2026 EE Plar	/FRSO study s and RICG im	sample plan, pact		
Caesar, Adri	an	7/6/2023	8.25	140.00	1,155.00	
	program/sector level gross cost trends; EM	BYP review; 2024-2026 EE F comparisons, end use savir B&V check in - Custom Gas/ M-BCM mapping developm	ngs analysis, i Elec impact e	net and valuation		
Caesar, Adri	an	7/7/2023	4.50	140.00	630.00	
	comparisons, end use	CR Model analysis - programe e savings analysis, net and changes and feature update	gross cost tre	nds,		
Caesar, Adri	an	7/10/2023	3.00	140.00	420.00	
	EE and ADM program	nalysis - updated BCR mode comps, MPS savings poter oss comparisons; RI EWG I ew	ntial analysis,	cost-to-		
Caesar, Adri		7/11/2023	7.25	140.00	1,015.00	
	EE and ADM program achieve and net to gr	nalysis - updated BCR mode comps, MPS savings poter oss comparisons, MPS/Actu and plan end use savings	ntial analysis, Ial/Plan meas	cost-to- ure and end		

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000347157
Caesar, Ad	rian	7/12/2023	7.00	140.00	980.00	
	2024-2026 EE Plan analy EE and ADM program co achieve and net to gross use mapping, Targets an TRC/incentive and savin site report comment res review/updates; updated workplan review	mps, MPS savings poter s comparisons, MPS/Actund plan end use savings gs distribution over 3YP ponses; C&I EM&V mtg. d NRNC data collection to	ntial analysis, aal/Plan mease deltas and wa term comps; prep and stud pools and stage	cost-to- ure and end aterfalls, RICE2021 dy tracker e 3		
Caesar, Ad		7/13/2023	6.25	140.00	875.00	
	July C&I sector team cal BCR model review, prog savings potential analysi MPS/Actual/Plan measur use savings deltas and v over 3YP term comps; R	ram-level EE and ADM p is, cost-to-achieve and n re and end use mapping, vaterfalls, TRC/incentive	rogram comp et to gross co Targets and and savings o	s, MPS mparisons, plan end distribution		
Caesar, Ad		7/14/2023	2.50	140.00	350.00	
	2024-2026 EE Plan analy EE and ADM program co achieve and net to gross use mapping, Targets ar TRC/incentive and savin analysis check-in	mps, MPS savings poten s comparisons, MPS/Actund nd plan end use savings	ntial analysis, Ial/Plan measi deltas and wa	cost-to- ure and end aterfalls,		
Caesar, Ad	rian	7/19/2023	3.50	140.00	490.00	
	2024-2026 EE Plan Anal- trend comps by program distribution of spending saturation, non incentive	n, C&I participation trence and savings trends, light	ls and targets	- -		
Caesar, Ad		7/20/2023	4.75	140.00	665.00	
	2024-2026 EE Plan Anal trend comps by program distribution of spending saturation, non incentive program data review and	n, C&I participation trence and savings trends, light plan costs and WFD sp	ls and targets ting and lighti	ng controls		
Caesar, Ad		7/21/2023	2.25	140.00	315.00	
	IECC 2024 Codes and st Analysis - measure-level spending and savings tra- non incentive plan costs data review and report of questions for RI Energy; EM&V study tracker upd	cost trend comps by pro ends, lighting and lightin and WFD spending; pre development; Plan BCR r RI NRNC baseline study	ogram, distrib g controls sat liminary Q1 p nodel review	ution of uration, rogram and		
Caesar, Ad		7/24/2023	7.25	140.00	1,015.00	
	2024-2026 EE Plan quar BC model to actual data review, BCR Model QA/C standards update discus	mapping development, QC and function/input ch	measure impa	act factor		
Caesar, Ad		7/25/2023	3.25	140.00	455.00	
	July EERMC mtg. follow 2024-2026 EE Plan quar measure impact factor richecks; RICE/RICG 2021 results review; Small Bur review; EM&V tracker re development	ups - energy code trainin ntitative analysis - measu eview, BCR Model QA/QO L impact evaluation, site siness process evaluation	ng and C&S u Ire level delta C and functior report, and p n updated fina	pdates; analysis, n/input reliminary al report		
Caesar, Ad		7/26/2023	4.50	140.00	630.00	

Project	863223-0007525.00 Rhode Island EERMC - 2023	Invoice	000000347157
	Residential EM&V meeting; EM&V study review - RICE/RICG 2021 impact evaluation, site report, and preliminary results, Small Business process evaluation updated final report, HP market characterization study survey instruments and Elec Resist to HP plan status; Preliminary Q2 Res and C&I data report development and data review		
Caesar, Ao		735.00	
	2024-2026 EE Plan quantitative analysis - measure level delta analysis, measure impact factor review, BCR Model QA/QC and function/input checks; RICE/RICG 2021 impact evaluation, site report, and preliminary gas results review; Measure Life Update study results and memo review		
Caesar, Ad	Irian 7/31/2023 4.00 140.00	560.00	
	RI State energy code kick off call and follow ups; EM&V study review - RICE 2021 custom impact evaluation site report, Measure Life Review study draft report and supplemental documentation workbook, HP market characterization, final Workforce Needs assessment; Residential/IES data report and detailed quarterly data review		
Johnson, (-	916.75	
	First Draft 3YP Review - Coordinate with team on plan to review BC Models. Work on/review of sector and program level comparisons of savings and costs.		
Johnson, (Craig 7/7/2023 5.25 193.00	1,013.25	
	Catchup on Equity Working Group activities. First Draft 3YP Review - Begin review of BC models for residential and income eligible programs.		
Johnson, (Craig 7/10/2023 3.25 193.00	627.25	
	Review meeting notes and takeaways from Income Eligible and Residential Customer Listening Sessions and Q2 IES BP meeting. Review meeting notes from June EE TWG meeting related to plan development. 2024-2026 Plan Review - Continue review of program level comps to inform deeper level comparison review for residential and income eligible programs.		
Johnson, (Craig 7/11/2023 1.50 193.00	289.50	
	Sector Team - Review I&O tracker and May data, draft and distribute sector team meeting agenda.		
Johnson, (916.75	
	3YP Review - Conduct end-use level comparison between MPS and first draft 3YP for Residential and Low Income Programs.		
Johnson, (-	916.75	
	3YP Review - Working session with Adrian and Jordan to review sector level end use savings analysis and to strategize on other analyses to conduct in preparation of Council meeting. Sector Team Work - Monthly Residential Sector Team Call, associated meeting prep.		
Johnson, (Craig 7/14/2023 4.25 193.00	820.25	
	3YP Review - Continue work on reviewing end-use level savings comparisons between Targets and 3YP for the residential and income eligible sector. Review and analysis on residential and income eligible sector cost-to-achieve.		
Johnson, (Craig 7/17/2023 4.75 193.00	916.75	
	3YP Review - Coordination with subs on program and measure level plan review. Develop summary tables with comparisons for measures for each program.		
Johnson, (Craig 7/18/2023 6.00 193.00	1,158.00	
	Res Sector Team - Review notes from July res sector team meeting, consolidate follow-up items and distribute to teams. Check-in on tasks w/ Richard. 3YP Review - Continue BC Model review and analysis on first draft of 3YP, including review of electric and gas heating equipment and income eligible weatherization.		
Johnson, (_	1,544.00	

Project 863	223-0007525.00	Rhode Island EERMC	2023		Invoice	000000347
planne years. incom compa	ed and actual achi 3YP Review - Cor e eligible program arisons for residen	but assignment for Jord evement for IE SF and ntinue review of 3YP BC s, including analysis or tial and income eligible als and 2023 plan, e-ma	MF programs for C models for res top savings may programs for p	or past five sidential and easures blan		
Johnson, Craig		7/20/2023	3.75	193.00	723.75	
last Pl review	an Docket to infor	sk for Jordan to review m additional areas of a of residential plan dat	inalysis on first	draft plan		
Johnson, Craig		7/21/2023	4.50	193.00	868.50	
Glenn	on Res and IE pro	review - review and co ogram data. Continue c ential and income eligi	wn review of to			
Johnson, Craig		7/24/2023	2.50	193.00	482.50	
		eview of inputs for top cost assumptions.	res and IE mea	asures,		
Johnson, Craig		7/26/2023 n check-in w/ subs - dis	5.75	193.00	1,109.75	
talks f contin heat p Johnson, Craig Res So topics comm	or res retrofit ven ue review of input bump study survey ector Team - Revie and content for A ients on first draft	metrics to recommend dors. Prep and planning s for top res and IE may guides, emails w/ EM& 7/27/2023 ew meeting notes and ugust sector team meet of 3YP BC models for r	g re: same. 3YF easures. EM&V &V team regard 4.00 prep potential n eting. 3YP Revie	P Review - - Review ing same. 193.00 neeting w - Finalize	772.00	
-	e sectors.	7/5/2023	.75	206.00	154.50	
	inate team efforts lidation	on BC model, table rev	-		154.50	
Ross, Samuel		7/11/2023	1.00	206.00	206.00	
		w of BC models, newsle	etter distrib, oth	er work		
Ross, Samuel		7/12/2023	.50	206.00	103.00	
	in with team on B r review	C model review initial f	findings, next sl	teps for		
Ross, Samuel		7/21/2023	.75	206.00	154.50	
	ups from EERMC, review and QA	coord team to prepare	e for final stretc	h of 3YP		
Ross, Samuel		7/28/2023	.50	206.00	103.00	
BC mo	odel review & com	ments finalization chec	k in			
	Totals		150.25		24,856.75	
	Total Labor					24,856.75
				Total th	is Task	\$33,501.75
 Task	03	Education Initiatives		Total th 	is Task 	\$33,501.75
– – – – – – – – – – – – – – – – – – –		Education Initiatives		Total th 	is Task 	\$33,501.75

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000347157
	Review and respond to RFP and timeline.	o questions re: updated pul	blic awarene	ss campaign		
Ross, Samı		7/5/2023	.25	206.00	51.50	
Ross, Sam		7/13/2023	1.00	206.00	206.00	
(055, Sum	Advocacy Solutions ch		1.00	200.00	200.00	
Ross, Sam		7/19/2023	1.00	206.00	206.00	
	advocacy solutions bra					
Ross, Sam		7/27/2023	.75	206.00	154.50	
	advocacy solutions mt	g, prep re: same				
	Totals		3.25		666.25	
	Total Labor					666.25
				Total thi	s Task	\$4,691.25
				Total this	Phase	\$39,256.00
Phase	002	System Reliability Procure	ement			
Fask	01	Council Representation				
Professio	nal Personnel	·				
			Hours	Rate	Amount	
Ross, Sami	uel	7/19/2023	1.00	206.00	206.00	
,	attend SRP TWG	, -,				
	Totals		1.00		206.00	
	Total Labor					206.00
				Total thi	s Task	\$206.00
– – – – Task	02	Plan Development and Ov	— — — — . versiaht			
	nal Personnel		versigne			
10165510			Hours	Data	Amount	
Ross, Sami			Hours	Rate		
(USS, Sami		7/25/2022	1 00			
		7/25/2023 th Carrie Gill	1.00	206.00	206.00	
	SRP 3YP discussion wi				206.00	
	SRP 3YP discussion wi Totals	th Carrie Gill	1.00 1.00			206.00
	SRP 3YP discussion wi	th Carrie Gill			206.00	206.00
	SRP 3YP discussion wi Totals	th Carrie Gill			206.00	206.00 \$206.00
	SRP 3YP discussion wi Totals	th Carrie Gill		206.00	206.00 206.00 s Task	
Phase	SRP 3YP discussion wi Totals	th Carrie Gill		206.00 Total thi	206.00 206.00 s Task	\$206.00
	SRP 3YP discussion wi Totals Total Labor	th Carrie Gill Regulatory Proceedings		206.00 Total thi	206.00 206.00 s Task	\$206.00
Task	SRP 3YP discussion wi Totals Total Labor 003 01	th Carrie Gill		206.00 Total thi	206.00 206.00 s Task	\$206.00
Task	SRP 3YP discussion wi Totals Total Labor	th Carrie Gill Regulatory Proceedings	1.00	206.00 Total thi Total this	206.00 206.00 s Task Phase	\$206.00
rask Professio	SRP 3YP discussion wi Totals Total Labor 003 01 nal Personnel	th Carrie Gill Regulatory Proceedings Council Representation	1.00	206.00 Total this Total this — — — — — — — — — — — — —	206.00 206.00 s Task Phase 	\$206.00
Task	SRP 3YP discussion wi Totals Total Labor 003 01 nal Personnel	th Carrie Gill Regulatory Proceedings Council Representation 7/24/2023	1.00	206.00 Total thi Total this — — — — — — — — — — — — Rate 193.00	206.00 206.00 s Task Phase	\$206.00
Γ ask Professio Iohnson, C	SRP 3YP discussion wi Totals Total Labor 003 01 nal Personnel Craig Monitor Future of Gas	th Carrie Gill Regulatory Proceedings Council Representation 7/24/2023 docket stakeholder commit	1.00	206.00 Total this Total this Rate 193.00	206.00 206.00 s Task Phase 	\$206.00
ask rofessio	SRP 3YP discussion wi Totals Total Labor 003 01 nal Personnel Craig Monitor Future of Gas	th Carrie Gill Regulatory Proceedings Council Representation 7/24/2023	1.00	206.00 Total thi Total this — — — — — — — — — — — — Rate 193.00	206.00 206.00 s Task Phase 	\$206.00

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000347157
		ing re: LCP Standards up				
Ross, Samu		7/24/2023	5.50	206.00	1,133.00	
	attend future of gas do	cket				
	Totals		7.50		1,519.00	
	Total Labor					1,519.00
				Total th	nis Task	\$1,519.00
Task	02	Develop Technical Materi	als			
Professio	nal Personnel					
			Hours	Rate	Amount	
Caesar, Ad		7/5/2023	.75	140.00	105.00	
		ng PUC information reque conses to comments revie		_CP		
Caesar, Ad	rian	7/21/2023	.50	140.00	70.00	
	DPUC information reque	est review				
Caesar, Ad	rian	7/21/2023	.25	140.00	35.00	
	PUC Memo on Updated	LCP Standards review				
Caesar, Ad	rian	7/31/2023	.50	140.00	70.00	
	PUC Data request repso	nses - Market Potential S	tudy refresh	reuslts		
Johnson, C	-	7/5/2023	2.50	193.00	482.50	
	Initial high-level review review of PUC IRs on Ta	of updated version of LC argets.	P Standards.	Initial		
Johnson, C	raig	7/6/2023	1.50	193.00	289.50	
		ated version of LCP Stand nments and RIE commen		are updated		
Johnson, C	raig	7/10/2023	.25	193.00	48.25	
		for submitting responses next steps on LCP Stand				
Johnson, C	raig	7/11/2023	2.75	193.00	530.75	
	standards, including not as a review of responsiv thoughts and key takea	Review - complete review ing responsiveness to Co reness to OER and RIE co ways for inclusion in July comments back to PUC.	ouncil comme omments. Pre	nts, as well epare		
Johnson, C	-	7/13/2023	1.50	193.00	289.50	
	LCP Standards Update I iteration, discussion re:	Review - Review Sam's co same.	omments on l	atest		
Johnson, C	raig	7/14/2023	1.00	193.00	193.00	
	finalize comments to PL	Review - Working session IC on latest iteration of L0 to send to Council's legal	CP Standards	update.		
Johnson, C		7/20/2023	1.00	193.00	193.00	
		Review draft nomination g group. Provide commer th Sam.				
Ross, Samu	Jel	7/11/2023	.75	206.00	154.50	
	Review, corresp with Du	unsky re: PUC data reque	sts re: EERM	C targets		
Ross, Samu	Jel	7/12/2023	2.00	206.00	412.00	
		redlines from commission ts and proposed continue				
Ross, Samu		7/13/2023	1.50	206.00	309.00	
		P redlines, incl. review of edits.	reply comme	nts from C		

Project	863223-0007525.00	Rhode Island EERM	C - 2023		Invoice	000000347
Ross, Samu	iel	7/14/2023	1.00	206.00	206.00	
	finalization of LCP comr	nents				
loss, Samu		7/17/2023	.25	206.00	51.50	
	check in with Dunsky o	n PUC data request				
oss, Samu		7/19/2023	1.50	206.00	309.00	
	populate rough draft we	ord doc with future of	gas TWG nomin	ation		
C	content	7/21/2022	2.00	206.00	412.00	
oss, Samu		7/21/2023	2.00	206.00	412.00	
	review comments on, fi nomination to Councilor			VG		
oss, Samu	ıel	7/24/2023	2.50	206.00	515.00	
	prep for, debrief on futu	ure of gas docket stake	eholder meeting			
oss, Samu	ıel	7/28/2023	1.00	206.00	206.00	
	review of Dunsky data	request responses for	PUC			
	Totals		25.00		4,881.50	
	Total Labor					4,881.50
				Total thi	is Task	\$4,881.50
				i otai tii		φ 1/00±100
				Total this	Phase	\$6,400.50
— — — -		Council Sponsored Ma				
hase		Council Sponsored Me				
ask	01	Meeting Attendance				
rofessior	nal Personnel					
			Hours	Rate	Amount	
aesar, Adr	rian	7/20/2023	2.25	140.00	315.00	
	June EERMC Meeting					
ohnson, Ci	raig	7/20/2023	3.00	193.00	579.00	
	Attend and present tech	nnical materials at July	ExCom and Cou	uncil		
	meetings.					
oss, Samu		7/20/2023	3.00	206.00	618.00	
	remote attendance at, p	participation in EERMC		etings		
	Totals		8.25		1,512.00	
	Total Labor					1,512.00
				Total thi	is Task	\$1,512.00
ask		Develop Technical Ma	terials			
rofessior	nal Personnel					
			Hours	Rate	Amount	
aesar, Adr	rian	7/10/2023	.50	140.00	70.00	
	July EERMC mtg. mater analysis, LCP updates, I EERMC Newsletter					
aesar, Adr		7/11/2023	.50	140.00	70.00	
	July EERMC mtg. mater analysis, LCP updates, I	ials development - 202	24-2026 EE plan	review and		
	EERMC Newsletter					
aesar, Adr		7/12/2023	1.00	140.00	140.00	

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000347157
Caesar, Adria	n	7/13/2023	2.50	140.00	350.00	
	July EERMC mtg. materia analysis data visualizatio		I-2026 EE plan	review and		
Caesar, Adria	n	7/14/2023	2.75	140.00	385.00	
	July EERMC mtg. materi analysis data visualizatio standards updates					
Caesar, Adria	n July EERMC mtg. prep	7/19/2023	.50	140.00	70.00	
Caesar, Adria		7/20/2023	.25	140.00	35.00	
	July EERMC mtg. prep	,,,				
Johnson, Crai		7/7/2023	.50	193.00	96.50	
··· , ··	Review draft agenda for					
Johnson, Crai		7/10/2023	1.25	193.00	241.25	
	July Council meeting - representation roles, and sitems.					
Johnson, Crai	ig	7/11/2023	2.00	193.00	386.00	
	July Council Meeting - C with Jordan and Adrian. update.					
Johnson, Crai	ig	7/12/2023	.75	193.00	144.75	
	July Council Meeting - C development. Coordinate Councilor attendance.					
Johnson, Crai	ig	7/13/2023	.25	193.00	48.25	
	Review and discuss July	ExCom agenda with Sa	am.			
Johnson, Crai	ig	7/14/2023	2.75	193.00	530.75	
	July Council Materials - r deck, make modification and final input to send to budget slide deck. Work session w/ Adrian re: sa OER.	s to slide deck based o o PUC, finalize deck. Re on assembling slides fo	n latest round eview and final or 3YP review,	of feedback ize 2024 working		
Johnson, Crai	ig	7/18/2023	1.00	193.00	193.00	
	July Council Materials - I discussion w/ Sam abou deck.					
Johnson, Crai	ig	7/19/2023	.50	193.00	96.50	
	July Council Materials - I presenting roles with tea		s and discussio	on of		
Johnson, Crai	ig	7/20/2023	.50	193.00	96.50	
	July Council Materials - p	prep talking points for (C-Team presen	tations.		
Ross, Samuel		7/10/2023	.75	206.00	154.50	
	prep for, team meeting	on Council materials we	ork plan for we	ek		
Ross, Samuel	l	7/14/2023	2.00	206.00	412.00	
	updating Council budget timing of other materials		ize LCP deck, c	coordinating		
Ross, Samuel		7/18/2023	.50	206.00	103.00	
	morning check in to con etc.	firm finalization of all c	ouncil materials	s, agendas,		
Ross, Samuel	l	7/19/2023	.75	206.00	154.50	
	coordinate attendance p	lans, coverage for exco	om and EERMC	topics		
	Totals		21.50		3,777.50	
	Total Labor					3,777.50

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	000000347157
				Total thi	s Task	\$3,897.49
Task	03	Other Council Responsi	 _			
Professio	nal Personnel					
			Hours	Rate	Amount	
Johnson, C	Craig	7/6/2023	1.00	193.00	193.00	
	Coordinate with Steve o of EE Implementation R comments.	n time to review C-Tea				
Johnson, C		7/11/2023	1.75	193.00	337.75	
·	Review EE Implementat comments, work on sun	ion RFP - consolidate a		am		
Johnson, C		7/12/2023	2.00	193.00	386.00	
,	Review EE Implementat summarizing key takeav	ion RFP - finalize review		ation of		
Johnson, C	Craig	7/13/2023	1.00	193.00	193.00	
	Review EE Implementat feedback on our review.		OER to preview	w C-Team's		
Johnson, C	Craig	7/21/2023	.50	193.00	96.50	
	Final review of first draf key themes to OER.	t of EE Implementation	RFP, send con	nments and		
Mosenthal,	Philip	7/6/2023	1.50	220.00	330.00	
	Rev. implementation RF	Р				
	Totals		7.75		1,536.25	
	Total Labor					1,536.25
				Total thi	s Task	\$1,858.25
				Total this	Phase	\$7,267.74
 _		Research, Analysis, and				
	nal Personnel			50		
			Hours	Rate	Amount	
Johnson, C	Traig	7/10/2023	1.75	193.00	337.75	
	Review and provide con with Jordan on next ste Councilors.					
Johnson, C		7/13/2023	.50	193.00	96.50	
	Review latest iteration of				20000	
lohnson, C		7/17/2023	.50	193.00	96.50	
	New Council member or				20000	
lohnson, C		7/18/2023	.50	193.00	96.50	
, -	Review Council ByLaws,					
lohnson, C		7/26/2023	.25	193.00	48.25	
	Council Orientation with					
Mosenthal,		7/25/2023	.25	220.00	55.00	
	emails re codes & stand	ards, workforce develop	oment strategi	es		
Ross, Samı	uel	7/11/2023	.50	206.00	103.00	
	coord Jordan Day Cound	cilor Orientation				
Ross, Samı	uel	7/13/2023	2.00	206.00	412.00	
	Meet with Emma Rodvie 3YP review process and as possible to the Comn	outcomes are provided	l in a form that			

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	00000347157
Ross, Sam	uel	7/17/2023	1.75	206.00	360.50	
	Councilor orientation win corresp.	th Councilor De La Cruz, _l	orep re: sam	ne; follow up		
Ross, Sam	uel	7/18/2023	1.50	206.00	309.00	
	prep for, attend Council	or 2-on-1 with Councilors	Case and A	nderBois		
Ross, Sam	uel	7/21/2023	.75	206.00	154.50	
	EE Plan check in and dis	cussion with Emily from	Acadia cente	er		
Ross, Sam	uel	7/26/2023	2.00	206.00	412.00	
	EWG meeting with Cour Day	ncilor De La Cruz; orientat	tion call with	Councilor		
	Totals		12.25		2,481.50	
	Total Labor					2,481.50
				Total this	Phase	\$2,481.50
				Total this P	roject	\$55,817.74
				Total this I	Report	\$55,817.74

Canva

Tax Invoice

Invoice Date

July 7, 2023

Invoice no. 03839-34314568

\$119.99

\$119.99 \$0.00

\$119.99

То

Samuel Ross Optimal-BD@nv5.com BAFlKqJ7sel

Subscriptions



Total

Includes tax Total charged Paid with MasterCard •••• 0512

Please retain for your records. Canva US Inc. 2140 S Dupont Highway Camden Kent Delaware 19934 United States Copyright © 2023 Canva US Inc.. All rights reserved. Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number:

INVOICE

Invoice Date: OEI Project #: CEI RI 7-2023 July 31, 2023 7525

\$868.50

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Services		Amount
Services Performed 07/01/23 through	07/31/23		
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 4.50 0.00	<u>Hourly Rate</u> \$193.00 \$96.50	<u>Amount Due</u> \$868.50 \$0.00
Travel Expenses (See attached travel expense form fo	r details.)		\$0.00

Margie Lynch/Core Energy Insights, Inc. Services Performed 07/01/23 through 07/31/23

		001 - EE Prog	ram Planning & Im	plementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
7/6/2023	Discussed EERMC Public Forum strategy w/R. Sholly			0.50		0.00	0.00	0.00
7/40/0000	Reviewed Equity Working Group meeting notes and compiled suggested agenda topics for next meeting; began review of May		0.75			0.50	0.00	0.50
	data report Participated in Res Sector Team meeting		0.75			0.50	0.00	0.50 0.75
	Discussed EERMC Public Forum agenda w/URI team		1.00	0.50		0.75	0.00 0.00	1.00
1/11/2023	Agenda planning for 8/8 EWG; C-Team meeting to prep for plan			0.50		1.00	0.00	1.00
7/26/2023	review and next Res Sector Team meeting		0.75			0.50	0.00	0.50
7/27/2023	Suggested agenda topics for August EWG		0.25			0.75	0.00	0.75
7/31/2023	Began draft of 8.8 Equity Working Group presentation		0.75			0.25	0.00	0.25
						0.75	0.00	0.75
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	3.50	1.00	0.00	4.50	0.00	4.50
	Total Amount	\$0.00	\$675.50	\$193.00	\$0.00	\$868.50	0.00	\$868.50



BILLED TO

EcoMetric Consulting, LLC 555 Exton Cms Exton, PA 19341 610.400.8600 admin@ecometricconsulting.com

INVOICE

Sam Ross Optimal Energy - NV5 10600 Route 116, Suite 3

Hinesburg, VT 05461

total due \$1,236.00

Project Name	RI EERMC Consultant	Invoice Date	07/31/2023
Project #	7525	Due Date	08/30/2023
Invoice #	1029-P7-23	Payment Terms	Net 30
Billing Period	07/01/2023 - 07/28/2023		

Task Number	Description		Amount
001-02	Implementation Oversight & Plan Development		\$1,236.00
	:	Subtotal	\$1,236.00

Invoice Total \$1,236.00

Invoice Number Period	1029-P7-23 07/01/2023 - 07/28/2023	3						
Project	Task	Person	Title	Month	Hours	Rate	Amour	ht
RI EERMC Consultant	Implementation Oversight &	Plan Dı Salil Gogte	Partner	2023-07	C	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight &	Plan D. Michael Frischmann	Partner	2023-07	C	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight &	Plan D. Michael Honeychuck	Managing Consultant	2023-07	4	\$ 206.00	\$	824.00
RI EERMC Consultant	Implementation Oversight &	Plan Dı Bitul Sinha	Managing Consultant	2023-07	2	\$ 206.00	\$	412.00
RI EERMC Consultant	Implementation Oversight &	Plan D. Cory Read	Data Scientist	2023-07	C	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight &	Plan D. Jake Fuller	Managing Consultant	2023-07	C	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight &	Plan D. Mary George	Sr Engineer	2023-07	C	\$ 166.00	\$	-
Total					6.00		\$	1,236.00

Project	Task	Person	Title	Month	Hours	Rate	Amount	
RI EERMC Consultant		0 Salil Gogte	Partner	2023-07		\$ 220.00	\$	-
RI EERMC Consultant		0 Michael Frischmann	Partner	2023-07		\$ 220.00	\$	-
RI EERMC Consultant		0 Michael Honeychuck	Managing Consultant	2023-07		\$ 206.00	\$	-
RI EERMC Consultant		0 Bitul Sinha	Managing Consultant	2023-07		\$ 206.00	\$	-
RI EERMC Consultant		0		2023-07		C	\$	-
Total					-		\$	-

fname	local_date	hours task		notes
Bitul Sinha	7/5/2023	2 Implem	entation Oversight & Plan Development	Electric report review
Michael Honeychuck	7/5/2023	1 Implem	entation Oversight & Plan Development	Invoice & discussions
Michael Honeychuck	7/6/2023	0.5 Implem	entation Oversight & Plan Development	Monthly check-in with Adrian
				Monthly C&I call with RI Energy & C-Team
				Emails with Adrian
Michael Honeychuck	7/12/2023	2 Implem	entation Oversight & Plan Development	Call with Guidehouse about TRM updates
Michael Honeychuck	7/26/2023	0.5 Implem	entation Oversight & Plan Development	Monthly residential call with RI Energy & C-Team

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

-

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 5892 July 31, 2023 7525

\$1,390.50

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Services		Amount
Services Performed 07/01/2023 throu			
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 6.75 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,390.50 \$0.00
Travel Expenses (See attached travel expense form fo	r details.)		\$0.00

Energy Futures Group, Inc. Services Performed 07/01/2023 through 07/31/2023

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
7/3/2023	Send info to RIE re: VFDs		0.25			0.00	0.00	0.00
7/6/2023	RI PA SOW review		1.00			0.25	0.00	0.25
7/7/2023	Review RI PA RFP SOW		2.00			1.00	0.00	1.00
7/13/2023	C&I sector meeting		1.00			2.00	0.00	2.00
7/13/2023	Res sector meeting		1.00			1.00	0.00	1.00
	Check in with Craig Johnson.		0.25			1.00	0.00	1.00
7/19/2023	Review plan comps		0.50			0.25	0.00	0.25
7/26/2023	Internal planning call		0.75			0.50	0.00	0.50
						0.75	0.00	0.75
						0.00	0.00	0.00
	Total Hours	0.00	6.75	0.00	0.00	6.75	0.00	6.75
	Total Amount	\$0.00	\$1,390.50	\$0.00	\$0.00	\$1,390.50	0.00	\$1,390.50

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

-

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 7R July 31, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Services		Amount
Services Performed 07/01/23 through			
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 13.75 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$2,832.50 \$0.00
Travel Expenses (See attached travel expense form fo	r details.)		\$0.00

TOTAL DUE

\$2,832.50

GDR Consulting Services Performed 07/01/23 through 07/31/23

		001 - EE Prog	gram Planning & Im	plementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
						0.00	0.00	0.00
7/5/2023			1.25			1.25	0.00	1.25
	Attend monthly RI Sector Team call, follow up on MA HP rebates							
	and QA/QC and on RI Products program activity		1.50			1.50	0.00	1.50
7/13/2023	Initial comments on 2024 Plan savings and spending numbers		1.75			1.75	0.00	1.75
	Continued review and comments on 2024 Plan savings and							
	spending numbers		1.50			1.50	0.00	1.50
7/17/2023	Develop data template for 2024 BCR model review		0.75			0.75	0.00	0.75
	Review and compile comments on 2024 Plan electric and gas							
7/20/2023	BCR models		1.50			1.50	0.00	1.50
7/21/2023	Review and compile comments on 2024 Plan electric and gas BCR models		1.75			1.75	0.00	1.75
7/24/2022	Review of ENERGY STAR Most Efficient products and highlighting need to assess new opportunities and revise NTG assumptions		0.25			0.25	0.00	0.25
1/24/2023	Participate in monthly Residential EM&V call, prep and follow up		0.25			0.25	0.00	0.25
	on program lighting status and MA lighting phase out plans		1.00			1.00	0.00	1.00
7/26/2023	Participate in monthly Internal Residential Team call		0.50			0.50	0.00	0.50
	Review and comment on Electric heat characterization survey instrument and landlord interview guide. Review of prior draft SOW and C-Team comments. Comment on multi-year ML for							
7/31/2023	behavior savings		2.00			2.00	0.00	2.00
						0.00	0.00	0.00
	Total Hours	0.00	13.75	0.00	0.00	13.75	0.00	13.75
	Total Amount	\$0.00	\$2,832.50	\$0.00	\$0.00	\$2,832.50	0.00	\$2,832.50

Make Payable to: Jennifer Chiodo JLC Consulting 52 Bent Creek Road Hinesburg, VT 05416

TO: Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: Invoice Date: OEI Project #: R-23.06 July 31, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Service		Amount	
Services Performed 07/01/23 through 07/3			
LABOR - Regular Hours LABOR - Travel Hours Travel Expenses (See attached travel expense form for deta	<u>Hours</u> 2.75 0.00 nils.)	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$566.50 \$0.00 \$0.00

TOTAL DUE

\$566.50

Make Payable to: Jennifer Chiodo Services Performed 07/01/23 through 07/31/23

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
7/24/23	24-26 Plan Data review		1.25			1.25	0.00	1.25
7/26/2023	RI Plan review		1.50			1.50	0.00	1.50
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	2.75	0.00	0.00	2.75	0.00	2.75
	Total Amount	\$0.00	\$566.50	\$0.00	\$0.00	\$566.50	0.00	\$566.50

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 41 August 1, 2023 7525

\$1,751.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Description of Services						
Services Performed 07/01/23 through	07/31/23						
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 8.50 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,751.00 \$0.00				
Travel Expenses (See attached travel expense form for	details.)		\$0.00				

		001 - EE Prog	001 - EE Program Planning & Implementation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub- Total Travel Hrs.	Total Hours
7/6/2023	WFD report; NRNC baseline study; C&I custom gas study	1	0.75			0.75	0.00	0.00
7/9/2023	WFD report; NRNC study		0.75			0.75	0.00	0.75
7/10/2023	custom gas impact study; NRNC baseline study		0.25			0.25	0.00	0.75
7/12/2023	C&I studies call		0.75			0.75	0.00	0.25
7/17/2023	NRNC baseline study; custom electric impact eval		0.50			0.50	0.00	0.75
7/20/2023	NRNC baseline study; custom electric impact eval		0.25			0.25	0.00	0.50
7/23/2023	ann plan; custom electric impact eval		0.25			0.00	0.00	0.25
7/26/2023	Res studies check-in call; annual plan		0.75			0.25	0.00	0.25
7/27/2023	electric heat market study; C&I electric impact eval		0.75			0.75	0.00	0.75
	electric heat market study; measure life report; C&I custom							
7/28/2023	electric impact eval		2.25			0.75	0.00	0.75
7/29/2023	electric heat market study		0.25			2.25	0.00	2.25
7/30/2023	electric heating study, measure life report		1.00			0.25	0.00	0.25
						1.00	0.00	1.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
-	Total Hours	0.00	8.50	0.00	0.00	8.50	0.00	8.50
	Total Amount	\$0.00	\$1,751.00	\$0.00	\$0.00	\$1,751.00	0.00	\$1,751.00

Rachel Sholly 48 Hudson Street, Providence, RI 02909

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 67 July 31, 2023 7525

\$4,347.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description	Description of Services						
Services Performed 07/01/2023 through 07/31/2023							
LABOR - Regular Hours LABOR - Admin Hours LABOR - Travel Hours	<u>Hours</u> 27.00 0.00 0.00	<u>Hourly Rate</u> \$161.00 \$83.00 \$80.50	<u>Amount Due</u> \$4,347.00 \$0.00 \$0.00				
Travel Expenses (See attached travel expense form	for details.)		\$0.00				

Rachel Sholly Services Performed 07/01/2023 through 07/31/2023

		001 - EE Progra	n Planning & Imple	mentation	004 - Council Sponsored Meetings & Materials on		ngs & Materials				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	004-01 Meeting Attendance	004-02 Develop Technical Materials	004-03 Other Council Responsibilities	Sub-Total Regular Hrs.		Sub-Total Admin Hrs.	Total Hours
07/03/23	Updated orientation slides			3.00				3.00	0.00	0.00	3.00
07/05/23	C-team planning re: EE plan & edu activities			0.50				0.50	0.00	0.00	0.50
	Check-in w/M. Lynch (Optimal) re: public forum & EWG;										
07/06/23	Check-in w/J. Galluzzo (Optimal) re: edu info gathering			1.00				1.00	0.00	0.00	1.00
	Correspondence re: public forum agenda feedback;										
07/07/23	Correspondence re: EdComm mtg scheduling			0.75				0.75	0.00	0.00	0.75
	EdComm mtg follow-ups; Correspondence re: public										
	forum, contractor CE courses, public awareness RFP &										
	annual report printing; Updated public awareness										
07/10/23	campaign timeline & RFP, related correspondence			2.50				2.50	0.00	0.00	2.50
	Prepared annual report for printing, correspondence										
	w/printer; Call w/K. Verrengia re: CleaResult training										
	courses; Correspondence re: EdComm mtg scheduling			1.25			0.75	2.00	0.00	0.00	2.00
	C-team planning re: Council mtg materials; Reviewed										
	contractor training materials from K. Verrengia										
	(CleaResult)			1.25				1.25	0.00	0.00	1.25
	Deliverables review mtg w/Advocacy; Updated										
	orientation slides; Mtg w/annual report printer, reviewed										
	proof; Updated RFP slides			2.00			1.00		0.00	0.00	3.00
	Finalized Optimal org chart & orientation slides			0.50				0.50	0.00	0.00	0.50
	C-team planning re: Council mtg prep; Reviewed mtg										
	materials; Deliverables review mtg w/Advocacy; Mtg										
	w/annual report printer; Events planning check-in w/URI			3.00			0.25			0.00	3.25
	EERMC & ExComm mtgs prep & participation			2.25				2.25	0.00	0.00	2.25
	Correspondence re: public awareness RFP, public forum			1.00				1.00	0.00	0.00	1.00
	Public forum prep, reviewed full agenda, distributed			4.05				4.05	0.00	0.00	4.05
	registration info New Councilor orientation w/J. Day (EERMC)			1.25 0.25				1.25 0.25	0.00	0.00	1.25 0.25
				0.25				0.25	0.00	0.00	0.25
	Brand/comms check-in w/Advocacy, updated timeline; Reviewed K-12 research notes from J. Galluzzo										
	(Optimal), strategized on new approach			1.50				1.50	0.00	0.00	1.50
	Updated RFP contact list, sent RFP to additional			1.50				1.50	0.00	0.00	1.50
	venders; Reviewed updated lecture series outline,										
07/31/23	descriptions, speakers			3.00				3.00	0.00	0.00	3.00
07/31/23					0.00	0.00					
	Total Hours	0.00	0.00	25.00	0.00	0.00	2.00	27.00	0.00	0.00	27.00
	Total Amount	\$0.00	\$0.00	\$4,025.00	\$0.00	\$0.00	\$322.00	\$4,347.00	\$0.00	\$0.00	\$4,347.00



From Advocacy Solutions LLC

1 Richmond Square Suite 200N Providence, RI 02906

Invoice For	RI Energy Efficiency Resource	Invoice ID	571
	Management Council	Issue Date	10/31/2023
	RI Office of Energy Resources One Capitol Hill Providence, RI 02908	Due Date	10/31/2023 (upon receipt)

Item Type	Description	Quantity	Unit Price	Amount
Service	Branding and Communications Development - 10/05/2023 - Meeting Attendance / Ben Smith: Advocacy Solutions / EERMC bi- weekly check-in	0.50	\$150.00	\$75.00
Service	Branding and Communications Development - 10/05/2023 - Email Correspondence / Ben Smith: Regarding securing Wordpress admin access	1.00	\$150.00	\$150.00
Service	Branding and Communications Development - 10/17/2023 - Admin / Ben Smith: Internal brainstorm for ideas for EERMC updated website	1.50	\$150.00	\$225.00
Service	Branding and Communications Development - 10/18/2023 - Email Correspondence / Ben Smith: Drafted memo outlining ideas for EERMC updated website	0.75	\$150.00	\$112.50
Service	Branding and Communications Development - 10/19/2023 - Meeting Attendance / Ben Smith: Advocacy Solutions / EERMC bi- weekly check-in	0.50	\$150.00	\$75.00
Service	Branding and Communications Development - 10/19/2023 - Email Correspondence / Ben Smith: Developed deliverables timeline and presentation schedule	0.50	\$150.00	\$75.00
Service	Branding and Communications Development - 10/25/2023 - Design Services / Ben Smith: Related to planning and development around the Council's updated website and landing page.	1.50	\$150.00	\$225.00
Product	Branding and Communications Development - 10/05/2023 - Design Services / Ben Smith: RATE: Design (\$175/Hr) HOURS TO DATE: 32 TOTAL: \$5,600 RATE: Design Management (\$125/Hr) HOURS TO DATE: 8 TOTAL: \$1,000	1.00	\$6,600.00	\$6,600.00

Amount Due \$7,537.50

INVOICE Federal Tax ID# 03-0351557



Remit checks to: Optimal Energy, Inc. PO Box 74008680 Chicago, IL 60674-868	0	Remit ACH transf ABA Routing Nun Account Number Email ACH/Wire remittance details a	nber 06310027 898052466590	0	Remit Wire Transfers to: ABA Routing Number 0260095 Account Number 89805246659 Swift Code INTL. BOFAUS3N		
				August 31, 2	2023		
Steven Chybowski				Project No:		23-0007525.00	
Rhode Island Office	of Energy Reso	urces		Invoice No:	00000	00350768	
		ust 1, 2023 to August 31	2023				
Phase	001	EE Prg Planning & Implem		— — — — — — — versia			
Task	01	Council Representation					
Professional Pers		council representation					
			Hours	Rate	Amount		
Caesar, Adrian			1.00	140.00	140.00		
Johnson, Craig			5.50	193.00	1,061.50		
Ross, Samuel			1.00	206.00	206.00		
	Totals		7.50		1,407.50		
	Total Labor					1,407.50	
				Total this 1	ſask	\$1,407.50	
 Task							
Professional Pers	onnel						
			Hours	Rate	Amount		
					12 020 00		
Caesar, Adrian			99.50	140.00	13,930.00		
Caesar, Adrian Johnson, Craig			99.50 103.75	140.00 193.00	13,930.00 20,023.75		
			103.75 16.00		20,023.75 3,296.00		
Johnson, Craig	Totals		103.75	193.00	20,023.75		
Johnson, Craig	Totals Total Labor		103.75 16.00	193.00	20,023.75 3,296.00	37,249.75	
Johnson, Craig Ross, Samuel			103.75 16.00	193.00	20,023.75 3,296.00	37,249.75	
Johnson, Craig Ross, Samuel Consultants Glenn Reed dba	Total Labor a: GDR Consultir		103.75 16.00	193.00	20,023.75 3,296.00 37,249.75 3,347.50	37,249.75	
Johnson, Craig Ross, Samuel Consultants Glenn Reed dba CORE ENERGY	Total Labor a: GDR Consultir INSIGHTS INC.	ng	103.75 16.00	193.00	20,023.75 3,296.00 37,249.75 3,347.50 1,544.00	37,249.75	
Johnson, Craig Ross, Samuel Consultants Glenn Reed dba CORE ENERGY ECOMETRIC CO	Total Labor a: GDR Consultir INSIGHTS INC. DNSULTING, LLC	ng	103.75 16.00	193.00	20,023.75 3,296.00 37,249.75 3,347.50 1,544.00 4,068.50	37,249.75	
Johnson, Craig Ross, Samuel Consultants Glenn Reed dba CORE ENERGY ECOMETRIC CO Energy Futures	Total Labor a: GDR Consultir INSIGHTS INC. DNSULTING, LLC	ng	103.75 16.00	193.00	20,023.75 3,296.00 37,249.75 3,347.50 1,544.00 4,068.50 2,060.00	37,249.75	
Johnson, Craig Ross, Samuel Consultants Glenn Reed dba CORE ENERGY ECOMETRIC CO	Total Labor a: GDR Consultir INSIGHTS INC. DNSULTING, LLC s Group, Inc.	ng	103.75 16.00	193.00	20,023.75 3,296.00 37,249.75 3,347.50 1,544.00 4,068.50 2,060.00 3,399.00		
Johnson, Craig Ross, Samuel Consultants Glenn Reed dba CORE ENERGY ECOMETRIC CO Energy Futures	Total Labor a: GDR Consultir INSIGHTS INC. DNSULTING, LLC	ng	103.75 16.00	193.00	20,023.75 3,296.00 37,249.75 3,347.50 1,544.00 4,068.50 2,060.00	37,249.75 14,419.00	

Project	863223-0007525.00	Rhode Island EERMC - 20	023		Invoice	0000003507
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar	, Adrian		1.25	140.00	175.00	
Johnso	n, Craig		1.00	193.00	193.00	
Ross, S	Samuel		5.00	206.00	1,030.00	
	Totals		7.25		1,398.00	
	Total Labor					1,398.00
Consultan	ts					
Rachel	Sholly				4,427.50	
	Total Const	ultants			4,427.50	4,427.50
				Total th	is Task	\$5,825.50
				Total this	Phase	\$58,901.75
hase	002	System Reliability Procuren	 nent			
ask	01					
	ual Personnel	Council Representation				
101635101			Hours	Rate	Amount	
Ross, S	Samuel		1.00	206.00	206.00	
1033, 3	Totals		1.00	200.00	206.00	
	Total Labor		1.00		200.00	206.00
				Total th	is Task	\$206.00
- - Task	02	Plan Development and Ove	ersight			
rofession	al Personnel					
			Hours	Rate	Amount	
Caesar	, Adrian		.50	140.00	70.00	
Ross, S	Samuel		5.25	206.00	1,081.50	
	Totals		5.75		1,151.50	
	Total Labor					1,151.50
				Total th	is Task	\$1,151.50
				Total this	Phase	\$1,357.50
- -	003	Regulatory Proceedings				
ask	01	Council Representation				
	al Personnel					
			Hours	Rate	Amount	
Johnso	n, Craig		6.50	193.00	1,254.50	
Ross, S			1.25	206.00	257.50	
1035, 3	Totals		7.75	200.00	1,512.00	
	Total Labor		,,,,,		1,512.00	1,512.00
				Total th	ia Taak	\$1,512.00
				i otal th	IS I DOK	\$1.512.00

Project	863223-0007525.00	0 Rhode Island EERMC	- 2023		Invoice	00000035076
	al Personnel					
			Hours	Rate	Amount	
Caesar,	Adrian		.50	140.00	70.00	
Johnsor	n, Craig		3.50	193.00	675.50	
	Totals		4.00		745.50	
	Total Labo	r				745.50
				Total th	nis Task	\$745.50
				Total this	s Phase	\$2,257.50
Phase	004	Council Sponsored Meet	ings and Mate	erials		· ·
 Task	01	Meeting Attendance				
Profession	al Personnel	5				
			Hours	Rate	Amount	
Caesar,	Adrian		2.00	140.00	280.00	
Johnsor			2.00	193.00	386.00	
Ross, Sa	· -		2.25	206.00	463.50	
	Totals		6.25		1,129.50	
	Total Labo	r				1,129.50
				Total th	iis Task	\$1,129.50
 _	_ 	Develop Technical Mate	 rials			
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar,	Adrian		7.75	140.00	1,085.00	
Johnsor	n, Craig		5.00	193.00	965.00	
Ross, Sa	amuel		2.75	206.00	566.50	
	Totals		15.50		2,616.50	
	Total Labo	r				2,616.50
				Total th	nis Task	\$2,616.50
 Task	03	Other Council Responsib				
Profession	al Personnel					
			Hours	Rate	Amount	
Johnsor			3.75	193.00	723.75	
Ross, Sa	amuel		8.25	206.00	1,699.50	
	Totals		12.00		2,423.25	
	Total Labo	r				2,423.25
				Total th	nis Task	\$2,423.25
				Total this	s Phase	\$6,169.25
Phase	005	Research, Analysis, and	Other Counci			
Profession	al Personnel					
			Hours	Rate	Amount	
Johnsor	· -		1.25	193.00	241.25	
Ross, Sa			4.00	206.00	824.00	
	Totals		5.25		1,065.25	
	Total Labo	r				1,065.25

Project	863223-0007525.	00 Rhode Island	EERMC - 2023		Invoice	00000035076
				Total this	Phase	\$1,065.25
– – – – . Phase	 006	Administrative				
Profession	nal Personnel					
			Hours	Rate	Amount	
Johnso	on, Craig		1.25	80.00	100.00	
	Totals		1.25		100.00	
	Total Lab	or				100.00
Consultan	its					
Rachel	Sholly				103.75	
	Total Cor	nsultants			103.75	103.75
				Total this	Phase	\$203.75
 . Phase	007	EERMC Intern				
Additional	l Fees					
Monthl	ly Intern Fee (Aug 202	3)			3,750.00	
	Total Add	litional Fees			3,750.00	3,750.00
				Total this	Phase	\$3,750.00
Billing Lin	nits		Current	Prior	To-Date	
Total E			73,705.00	367,863.99	441,568.99	
	nit				717,025.00	
Re	emaining				275,456.01	
				Total this I	nvoice	\$73,705.00
Billings To	o Date					
		Current	Prior	Total		
Labor		51,004.75	251,983.00	302,987.75		
Consul		18,950.25	101,511.00	120,461.25		
Expens		0.00	3,119.99	3,119.99		
Add-or Totals		3,750.00	11,250.00	15,000.00		
		73,705.00	367,863.99	441,568.99		

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000350768
Billing	Backup				Thursday, Septer	nber 14, 2023
NV5, Inc.		Invoice 000	0000350768	Dated 8/31/2023		7:54:03 AM
– – – – – Phase	001	EE Prg Planning & Imple	mentation Ov	 versig		
— — — — — — Task	01	Council Representation				
	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri	an	8/24/2023	1.00	140.00	140.00	
		and EE planning, EE Plan	updates.			
Johnson, Cra	-	8/1/2023	2.25	193.00	434.25	
	Bi-weekly check-in w/ with internal team.	RIE and OER, associated r	meeting prep	and debrief		
Johnson, Cra	aig	8/8/2023	.25	193.00	48.25	
	Check-in meeting with					
Johnson, Cra	aig Check-in meeting with	8/15/2023 RIE/OER.	.50	193.00	96.50	
Johnson, Cra	aig	8/24/2023	1.25	193.00	241.25	
	Represent Council at E	-				
Johnson, Cra	0	8/29/2023	1.25	193.00	241.25	
Doce Come		w/ RIE and OER. Meeting 8/24/2023		206.00	206.00	
Ross, Samue	TWG attendance	8/24/2023	1.00	206.00	206.00	
	Totals		7.50		1,407.50	
	Total Labor				_,	1,407.50
				Total this	Tack	\$1,407.50
				i otai tiit		<i>41</i> ,107,000
Task	02	Implementation Oversigh	nt and Plan D	evelo		
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri		8/6/2023	4.50	140.00	630.00	
	study survey guides, M measure life file, RICE evaluation site reports	mments - RI Electric heat leasure life study draft rep and RICG 2021 custom el , RICE 2022 sampling plar os and coordination; RI En y Q2 euqity update	oort and recon ectric and ga n memo; RI b	mmended s impact uilding		
Caesar, Adri		8/7/2023	.75	140.00	105.00	
		tudy follow ups and measu	ure source/m	easure life		
Caesar, Adri	update workbook QA an	8/8/2023	1.75	140.00	245.00	
	2024 EE Annual Plan R	eview - C-Team working s nd attachments review; Pr	sessions/coor	dination,	2 15.00	
Caesar, Adri	-	8/9/2023	7.50	140.00	1,050.00	
	C&I EM&V call prep/m Attachment 2 C&I prog 2024 EE Plan program and oversight tracker i	tg; 2024 EE Annual Plan R grams; Preliminary Q2 pro -level quantitative analysis review - 2023 plan commit	gram results ; Q2 RI imple ments	analysis; ementation	1 100 00	
Caesar, Adri	C&I Sector team mtg./ main text, Attachment	8/10/2023 prep and follow ups; 2024 2 C&I programs, Attachm n results analysis; 2024 E 2023 Q2 report review	ent 3 EM&V	olan;	1,190.00	

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000350768	
Caesar, Adr	ian	8/11/2023	6.00	140.00	840.00		
	2024 EE Annual Plan Rev Attachment 3 EM&V plar Preliminary Q2 program quantitative analysis; 20	n, Electric and Gas tables results analysis; 2024 EE	and BCR mo	odels;			
Caesar, Adr	ian	8/14/2023	2.50	140.00	350.00		
	2024 EE Plan review - M plan first draft electric ar 3YP, program -level com	nd gas BCR model analys	sis - measure				
Caesar, Adr		8/15/2023	7.25	140.00	1,015.00		
	2024 EE Plan review - M first draft electric and ga program -level comps, e mapping, savings and in Q2 report and RIE equity Electric PY21 final site re requests	s BCR model analysis - n valuation impact factors, vestment comps - lightin / update/EWG meeting n	neasure delta 3YP and AP g/gas equipr otes review;	as from 3YP, measure ment; 2024 RI Custom			
Caesar, Adr	ian	8/16/2023	3.50	140.00	490.00		
	2024 EE Plan review - M first draft electric and ga program -level comps, e mapping, savings and in Q2 report review.	s BCR model analysis - n valuation impact factors,	neasure delta 3YP and AP	as from 3YP, measure			
Caesar, Adr	ian	8/17/2023	4.00	140.00	560.00		
	2024 EE Plan review - M first draft electric and ga program -level comps, e mapping, savings and in 2026 SRP plan narrative pager review	s BCR model analysis - n valuation impact factors, vestment comps - lightin	neasure delta 3YP and AP g/gas equipr	as from 3YP, measure nent; 2024-			
Caesar, Adr		8/18/2023	3.75	140.00	525.00		
	2024 EE Plan review - M recommendations for sp goals; 2024 EE plan first measure deltas from 3YF factors, savings and inve analysis	ecific equity/program ach draft electric and gas BC P, program -level comps,	nievement m CR model and evaluation in	etrics and alysis - mpact			
Caesar, Adr	ian	8/21/2023	5.00	140.00	700.00		
July C&I and Res/IES program data review and data report development; C&I data report updates - program level data visualizations, top saving measure charts; 2024 EE Plan review - RI TRM Database measure inputs and mapping updates; EM&V study review/coordination - SBS final process evaluation report, EWSF Weatherization impact evaluation updated draft report; Monthly Res EM&V call agenda development; EM&V study tracker updates							
Caesar, Adr	ian	8/22/2023	4.50	140.00	630.00		
	2024 EE Plan review - RI updates; EM&V study re- evaluation updated draft model review and QA/QC analysis, impact factors	view/coordination - EWS report; EM&V study trac C - year-to-year plan/actor	F Weatheriza ker review, ual deltas, m	ation impact 2024 BCR easure cost			
Caesar, Adr		8/23/2023	7.50	140.00	1,050.00		

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000350768
Coosar Ad	Res/IES EM&V meeting measure inputs and ma Electric heat market ch site reports for final RR EWSF Weatherization ir study tracker review; 2 consolidation and final 2024 BCR model review measure cost analysis, DB	oordination - stom electric ne-pager, ; EM&V nts chment 3; I deltas,	770.00			
Caesar, Ac	EM&V Check-ins - C&I study; C&I FRSO/NTG Team comments conso	8/24/2023 Net to Gross study, C&I study results review; 202 lidation and final review 2021 impact evaluation	24 EE Plan nar - main text, a	ment ISP rative C- ttachment 2,	770.00	
Caesar, Ac	C&I FRSO/NTG study re draft report review; RI 2024 BCR model review	8/25/2023 esults review; RICG PY2 Commercial kitchen equ and QA/QC - year-to-y impact factors review ar uation writeup	ipment ISP fol ear plan/actua	low ups; I deltas,	595.00	
Caesar, Ac	2024 EE Plan quantitati plan/actual/MPS comps TRM; EM&V Study revie	8/28/2023 ve analysis - BCR model , BCR measure input rev ew - RICG 2021 custom ration impact evaluation	view/QA and c impact evaluat	omps to tion draft	875.00	
Caesar, Ac	2024 EE Plan quantitati plan/actual/MPS comps TRM; updated TRM dat	8/29/2023 ve analysis - BCR model , BCR measure input rev abase quant analysis an ment and study tracker	view/QA and c id input review	omps to	840.00	
Caesar, Ac	Irian 2024 EE Plan quantitati plan/actual/MPS comps TRM, BCR model impac EE measures/costs; upo review; updated C&I N review/coordination - P	8/30/2023 ve analysis - BCR model , BCR measure input rev t factors and NEI assum dated TRM database qua TG study results file revi Y2021 RICG custom gas treatment, EWSF impact	7.00 I review, year- view/QA and c options, NTG a ant analysis an ew; EM&V stu s impact evalue	omps to pplication to id input dy ation RR	980.00	
Caesar, Ac	Irian EM&V study results rev Steam trap vs. non stea August EWG meeting/p	8/31/2023 iew - RICG cust gas 202 am trap treatment and r rep; EWG recommendat	eport recomm	endations;	490.00	
Johnson, (3YP Review - review ar 3YP comparison of Inco 2024 Plan Review - pre	8/1/2023 Id respond to question fi ome Eligible Wx chart in p analysis task for Jorda sion to review task. Res res meeting.	presentation t an on comparis	o Council. Sons of cost	530.75	
Johnson, (Craig 2024 Plan - Discussion weatherization. Equity EWG meeting, coordina Review and provide cor	8/2/2023 with Sam re: strategies Working Group support ite attendance and mate mments on RI Measure I am attendees reminder	- review draft erial developm Life Study Draf	agenda for ent. EM&V - ft. Sector	482.50	

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	00000350768
Johnson, (Craig	8/3/2023	1.00	193.00	193.00	
	Plan Review - Check-in review comparisons of c	meeting and working ses cost categories.	sion with Jor	dan to		
Johnson, (Craig	8/8/2023	7.00	193.00	1,351.00	
	strategy for whether up Working Group - Check- attendance, and follow-	ernal team re: RI Measur date is needed for HERs in w/ Margie, review mai up on question from Aca gh review of first draft 20	programs. Éc terials, coord dia Center. 2	quity inate 024 Plan dential		
Johnson, (-	8/9/2023	6.75	193.00	1,302.75	
	residential sector team - Coordination with Adri	 Finish drafting and distr meeting, coordination w/ an on BC Model review. (including second read th to Council priorities. 	RIE re: sam Continue revi	e. 2024 Plan ew of		
Johnson, (Craig	8/10/2023	9.00	193.00	1,737.00	
	pulling out key themes t Also began reviewing m	tinue review of residentia for feedback to include in ain text with an eye to re of compliance with LCP s C measures analysis.	n presetnation espnsiveness	n to Council. to Council		
Johnson, (Craig	8/11/2023	5.25	193.00	1,013.25	
		narrative, including mair nd LCP standards. Res Se nform Council material.				
Johnson, (•	8/14/2023	5.75	193.00	1,109.75	
	Jordan to discuss plan r Council priorities. Res S	analysis task for Jordan eview. Work on reviewing ector Team - Lead reside review of materials and p	g plan with e intial sector t	ye towards eam call,		
Johnson, (Craig	8/15/2023	3.75	193.00	723.75	
		uss analysis of drivers be am. Read and review Ma		s from 3YP		
Johnson, (Craig	8/16/2023	7.75	193.00	1,495.75	
	3YP and 2024 Plan. Set	lysis on key drivers of ch up analysis to compare k ome eligible program in 2 plan, and 2022 actuals.	key measure	metrics for		
Johnson, (Craig	8/17/2023	5.25	193.00	1,013.25	
	Model measures and co	up investigation of incen st tables. Investigate disc renced in presentations t	crepancies. R	eview Q2		
Johnson, (Craig	8/18/2023	2.00	193.00	386.00	
	2024 in 3YP and 2024 P	tinue review of key drive lan for residential and in session with Sam and Ac n Council meeting.	come eligible	electric and		
Johnson, (Craig	8/21/2023	6.25	193.00	1,206.25	
	characterizing measure on Residential and Main	on induction cooktops to for inclusion in Plan. Initi Text from Margie, Glenr eting notes from August sidential data report.	ial review of , and Richar	comments d. Sector		
Johnson, (Craig	8/22/2023	5.50	193.00	1,061.50	

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000350768
	Plan Review - finish initia Toby with thoughts rega- inclusion in plan. Check- including coordination of TRM, and Rate and Bill I on narrative review, incl Margie, Glenn, and Rich Sector Team work - finis team meeting and upda meeting follow-ups. Con Initial brainstorm of age sector team meeting. EN correspondence with tea and approach for determ adopted for 2024 plan.					
Johnson, Cr	aig Plan Review - review an Assessments attachmen Main Text. Review comm consolidate and prepare and provide feedback or comments on EM&V atta	t. Review and provide the nents from res team or final comments from r final comments from r the C&I attachment. Revi	final set of com n Residential at res attachment	iments on tachment, Review	1,688.75	
Johnson, Cr	aig Plan Review - Final revie Residential attachment. text, residential and C&I Attachment, and PDA at re: same. Continue anal- notable measure change Analysis of incentive pro sheet.	Final review and packa attachments, EM&V a tachment; working ses ytical review of BC Moc s for residential and in	iging of comme ttachment, RI (sion with Sam dels, including i come eligible p	ents on main Cost Test and Adrian review of programs.	1,495.75	
Johnson, Cr		ram measure inputs. C programs, reviewing n NEI application. Comp s in each of the electric tial programs. Review	Comprehensive neasure inputs leted this revie c and gas BC M	review of such as w for all odels, and	1,302.75	
Johnson, Cr		8/30/2023 sinue BC Model review ligible program measu es across programs, re TG, and NEI application or all residential program measures, especially where significant ince	re inputs. Com eviewing measu n. Continued an ms in each of t gas heating an entives offered.	prehensive ure inputs nd he electric d hot water Package up	1,688.75	
Johnson, Cr					241.25	
Ross, Samu		8/4/2023 s, incl. Sue email Q, pl	.75 an review next	206.00 steps and	154.50	
Ross, Samu	el	8/9/2023	1.50	206.00	309.00	
Ross, Samu	begin to review main tex el	kt annual plan 8/10/2023	2.50	206.00	515.00	

Project	863223-0007525.00	Rhode Island EERM	C - 2023		Invoice	00000350768
	cont. review of main t	ext annual plan				
Ross, Samu	el	8/16/2023	.25	206.00	51.50	
	coord cont. review of	EE plans				
Ross, Samu	el	8/18/2023	.75	206.00	154.50	
	Council meeting debri	ef				
Ross, Samu	el	8/22/2023	1.50	206.00	309.00	
	EE plan review check	in, cont. 2024 plan revie	ew.			
Ross, Samu	el	8/23/2023	5.00	206.00	1,030.00	
	Review plan comment review to finalize com	s with Emily from Acadi ments on main text	a Center; cont. A	Annual plan		
Ross, Samu	el	8/24/2023	2.75	206.00	566.50	
	Annual plan attachme	nt review, comment fina	alization			
Ross, Samu	-	8/29/2023	.50	206.00	103.00	
		iew progress, TRM and	EWG progress.			
Ross, Samu	-	8/30/2023	.50	206.00	103.00	
,		Annual Plan quant revie				
	Totals	· · · · · · · · · · · · · · · · · · ·	219.25		37,249.75	
	Total Labor		215.25		57,215175	37,249.75
						57,245175
				Total th	is Task	\$51,668.75
Task	03	Education Initiatives				
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri	ian	8/7/2023	.25	140.00	35.00	
, ,	URI PIER lecture coor					
Caesar, Adri		8/30/2023	1.00	140.00	140.00	
,		on and PIER lecture plan				
Johnson, Cr	aiq	8/8/2023	.25	193.00	48.25	
	-	re: updated Council log	go and whether o	official		
Johnson, Cr	aig	8/9/2023	.50	193.00	96.50	
		session with Sam and F ork, and Education Com		ion RFP,		
Johnson, Cr	aig	8/23/2023	.25	193.00	48.25	
	of RFP for climate and	on education items, inclu l ee awareness campaig y Solutions tomorrow.				
Ross, Samu	-	8/2/2023	1.00	206.00	206.00	
-	advocacy solutions ch					
Ross, Samu	-	8/3/2023	.75	206.00	154.50	
,		I with advocacy solution				
Ross, Samu	-	8/9/2023	.50	206.00	103.00	
·		Rachel re: advocacy solu	itions progress a	nd next		
Ross, Samu		8/10/2023	1.00	206.00	206.00	
.,		n advocacy; corresp re;				
Ross, Samu	el	8/11/2023	.75	206.00	154.50	
		et al. re: advocacy upda	ates, meeting Mo	on. and		

Project	863223-0007525.00	0 Rhode Island EERMC -	2023		Invoice	00000035076
Ross, Sam	uel	8/30/2023	1.00	206.00	206.00	
	branding mtg w/Advo	ocacy Solutions				
	Totals Total Labo	-	7.25		1,398.00	1 209 00
		•		T . I . I II	·	1,398.00
				Total this Task Total this Phase		\$5,825.50 \$58,901.75
Phase	002	System Reliability Procur	ement			
Task	01	Council Representation				
Professio	nal Personnel					
			Hours	Rate	Amount	
Ross, Sam	uel	8/16/2023	1.00	206.00	206.00	
	SRP TWG attendance	2				
	Totals Total Labo	r	1.00		206.00	206.00
		r.				200.00
				Total th	is Task	\$206.00
 Task	02	Plan Development and O	versight			
	nal Personnel		versignt			
FIOLESSIO			Hours	Rate	Amount	
Caesar, Ad	Irian	8/16/2023	.50	140.00	70.00	
,	2024-2026 SRP plan					
Ross, Sam		8/15/2023	2.00	206.00	412.00	
	initial review of SRP 3					
Ross, Sam		8/16/2023	.25	206.00	51.50	
Ross, Sam	review of SRP plans	8/22/2023	3.00	206.00	618.00	
1055, 5411		comments on SRP 3YP.	5.00	200.00	010.00	
	Totals		5.75		1,151.50	
Total Labor						1,151.50
		Total this Task			\$1,151.50	
				Total this	\$1,357.50	
	003	Regulatory Proceedings				
Task	01	Council Representation				
Professio	nal Personnel		Useres	D-1-	A	
Johnson, C	raio	8/17/2023	Hours 2.00	Rate 193.00	Amount 386.00	
	-	nding Coordination - attend			200.00	
	meeting prep.					
Johnson, C	Craig	8/31/2023	4.50	193.00	868.50	

	863223-0007525	5.00 Rhode Island EERM	C - 2023		Invoice	000000350
		ure of Gas Stakeholder Com	-			
oss, Sam		8/31/2023	1.25	206.00	257.50	
		f Future of Gas docket proce				
	mtg w/CJohnson	ntation; confirm coverage an	u lakeaways io	r Dalance of		
	Totals		7.75		1,512.00	
	Total La	bor			_,	1,512.00
				Total th	ic Tack	, \$1,512.00
						\$1,512.00
ask	02	Develop Technical Mat	erials			
rofessio	nal Personnel					
			Hours	Rate	Amount	
aesar, Ac	Irian	8/16/2023	.50	140.00	70.00	
	RIE response to in	formal Div IR - heat pumps/	'Wx/gas heating	J		
ohnson, (-	8/1/2023	.50	193.00	96.50	
		oordination with Council lega	al to prepare fili	ng response		
		lests in Targets Docket.				
ohnson, (-	8/10/2023	.75	193.00	144.75	
	=	nses to PUC post-filing DR 4			40.25	
ohnson, (-	8/15/2023	.25	193.00	48.25	
ahnaan (P - Discuss review tasks with		102.00	296.00	
ohnson, (-	8/31/2023 Gas Meeting - review meeting	2.00	193.00	386.00	
		previous meeting materials,				
	Totals		4.00		745.50	
	Total La	ibor				745.50
				Total th	is Task	\$745.50
				Total this	Phase	\$2,257.50
hase	004	Council Sponsored Me	etings and Mate			
ask	01	Meeting Attendance				
	nal Personnel		Hours	Rate	Amount	
rofessio		8/17/2023	2.00	140.00		
	Irian					
			2.00	110.00	280.00	
aesar, Ac	August EERMC Me	eeting				
aesar, Ac	August EERMC Me Craig	eeting 8/17/2023	2.00	193.00	386.00	
aesar, Ac ohnson, C	August EERMC Me Craig Attend and presen	eting 8/17/2023 It technical materials at Augu	2.00 ust Council mee	193.00 ting.	386.00	
aesar, Ac ohnson, C	August EERMC Me Craig Attend and presen uel	eting 8/17/2023 at technical materials at Augu 8/17/2023	2.00	193.00		
caesar, Ac ohnson, C oss, Sam	August EERMC Me Craig Attend and presen uel attend, debrief fro	eting 8/17/2023 at technical materials at Augu 8/17/2023	2.00 ust Council mee 2.25	193.00 ting.	386.00 463.50	
aesar, Ac ohnson, C	August EERMC Me Craig Attend and presen uel attend, debrief fro Totals	eting 8/17/2023 at technical materials at Augu 8/17/2023 am EERMC mtg	2.00 ust Council mee	193.00 ting.	386.00	1.129.50
aesar, Ac ohnson, C	August EERMC Me Craig Attend and presen uel attend, debrief fro	eting 8/17/2023 at technical materials at Augu 8/17/2023 am EERMC mtg	2.00 ust Council mee 2.25	193.00 ting.	386.00 463.50	1,129.50

Project	863223-0007525.00	Rhode Island EERM	C - 2023		Invoice	0000035
Professio	nal Personnel					
			Hours	Rate	Amount	
Caesar, Ac	Irian	8/8/2023	.50	140.00	70.00	
	August EERMC Mtg. ma			Plan		
	presentation, preliminar					
Caesar, Ac		8/10/2023	2.25	140.00	315.00	
	August EERMC Mtg. ma presentation, prelimina			Plan		
Caesar, Ac	Irian	8/11/2023	2.00	140.00	280.00	
	August EERMC Mtg. ma presentation, prelimina			Plan		
Caesar, Ac	Irian	8/15/2023	.25	140.00	35.00	
	August EERMC mtg. pre	p/presentation coordir	ation			
Caesar, Ac		8/16/2023	2.00	140.00	280.00	
,	August EERMC mtg. pre program-level comps ta	p; 2024 EE Plan apper	ndices developm	ient -		
Caesar, Ac	Irian	8/17/2023	.50	140.00	70.00	
, -	August EERMC mtg. pre					
Caesar, Ac		8/18/2023	.25	140.00	35.00	
	August EERMC mtg. del				22100	
lohnson, (8/2/2023	.25	193.00	48.25	
	August Council meeting				10.23	
- h	with internal team.				144 75	
ohnson, (-	8/8/2023		193.00	144.75	
	August Materials - Work development. Coordinal draft slides from Jordan	e with RIE on presenta	ation materials.	Review		
ohnson, (8/10/2023	1.25	193.00	241.25	
,	August Council Material presentation, focus on o with Jordan and Adrian	s - Work on developme outline and core topics	to cover. Worki			
ohnson, (Craig	8/11/2023	2.75	193.00	530.75	
	August Council material Plan and 2023 Q2 Repo Sam re: same. Discussi meeting agenda.	rt slide decks. Working	sessions w/ Ad	rian and		
Ross, Sam	uel	8/10/2023	.75	206.00	154.50	
	coord council materials to advocacy change	dev for end of week, d	iscuss updated	agenda due		
Ross, Sam	uel	8/11/2023	2.00	206.00	412.00	
	coordinate path to final with team to finalize	zation, edit plan reviev	v deck, working	session		
	Totals		15.50		2,616.50	
	Total Labor				-	2,616.50
	-			T - 4 - 1 - 4 - 1	- T- ek	-
				Total thi	s lask 	\$2,616.50
Task		Other Council Respons	ibilities			
rofessio	nal Personnel					
			Hours	Rate	Amount	
Johnson, C	Craig	8/1/2023	.25	193.00	48.25	
	Check-in meeting with	DER on EE Implementa	ition RFP			
lohnson, (Craig	8/10/2023	1.00	193.00	193.00	

Project	863223-0007525.00	Rhode Island EERM	C - 2023		Invoice	0000003507
		ation RFP v1.5, working		m to		
		p for check-in call with				
lohnson, Cr		8/11/2023	1.00	193.00	193.00	
	-	Sam and Steve on EE In	-			
lohnson, Cr	-	8/18/2023	1.50	193.00	289.50	
	-	Sam and Steve on EE In	-		610.00	
Ross, Samu		8/10/2023	3.00	206.00	618.00	
	-	dlined EE RFP, add'tl co		206.00	200.00	
Ross, Samu		8/11/2023	1.50	206.00	309.00	
	prep for, meeting with		1 50	206.00	200.00	
Ross, Samu		8/18/2023	1.50	206.00	309.00	
	EE RFP working sessio		2.25	206.00	462 50	
loss, Samu		8/25/2023	2.25	206.00	463.50	
	Totals	o for and attend mtg wi	12.00	шркге	2,423.25	
	Total Labor		12.00		2,423.23	2,423.25
						2,423.23
				Total th	is Task	\$2,423.25
				Total this	Phase	\$6,169.25
hase	005	Research, Analysis, an	d Other Council	Su		
Profession	nal Personnel					
			Hours	Rate	Amount	
ohnson, Cr	raig	8/1/2023	.25	193.00	48.25	
	AESC - coordinate RI t	eam coverage for kicko	ff call.			
ohnson, Cr	raig	8/3/2023	.75	193.00	144.75	
	for items to include in	Jordan on Newsletter, future iterations, and d				
	steps.	0/4/2022	25	102.00	40.25	
ohnson, Cr	-	8/4/2023	.25	193.00	48.25	
		o Councilor AnderBois quess program, e-mails w		g eligiblity		
loss, Samu	iel	8/16/2023	2.00	206.00	412.00	
	prep for, attend EERM	C prep mtg with Counci	lors Case and Oa	akley		
loss, Samu	iel	8/17/2023	2.00	206.00	412.00	
	cont. prep meeting wit	h Councilor Oakley				
	Totals		5.25		1,065.25	
	Total Labor					1,065.25
				Tabal this	Phase	\$1,065.25
				Total this	Thase	φ1/000120
- 		Administrative				
		Administrative		10tal this		
		Administrative				
Profession	nal Personnel		Hours	- — — — — — — — — — — — — — — — — — — —		· -
Profession	nal Personnel	8/13/2023	.75	Rate 80.00		·
Profession	nal Personnel raig URI Energy Fellow Ove	8/13/2023 ersight - Complete mid-1	.75 term assessmen	Rate 80.00 t for URI.	Amount 60.00	· _
Phase Profession Johnson, Cr Johnson, Cr	raig URI Energy Fellow Ove raig Check-in call with URI Fellow work to date ar	8/13/2023	.75 term assessmen .50 n lead to discuss	Rate 80.00 t for URI. 80.00 s Enegy		
Profession	raig URI Energy Fellow Ove raig Check-in call with URI	8/13/2023 ersight - Complete mid-1 8/30/2023 Energy Fellows Progran	.75 term assessmen .50 n lead to discuss	Rate 80.00 t for URI. 80.00 s Enegy	Amount 60.00	·

Project	863223-0007525.00	Rhode Island EERMC - 2023	Invoid	ce 000000350768
			Total this Phase	\$203.75
				•
			Total this Project	\$69,955.00
			Total this Report	\$69,955.00

Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number:CEI RI 8-2023Invoice Date:August 31, 2023OEI Project #:7525

<u>\$1,544.00</u>

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Amount		
Services Performed 08/01/23 through			
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 8.00 0.00	<u>Hourly Rate</u> \$193.00 \$96.50	<u>Amount Due</u> \$1,544.00 \$0.00
Travel Expenses (See attached travel expense form for	\$0.00		

TOTAL DUE

Margie Lynch/Core Energy Insights, Inc. Services Performed 08/01/23 through 08/31/23

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
	Prepared for, participated in, and followed up on Equity Working							
8/8/2023	Group meeting		2.25			0.00	0.00	0.00
	Prepared for Res Sector Team meeting; reviewed and edited							
8/10/2023	EWG meeting notes and follow ups		1.00			2.25	0.00	2.25
8/14/2023	Participated in Res Sector Team meeting		1.00			1.00	0.00	1.00
	Reviewed 8.8 Equity Working Group meeting notes; reviewed							
8/22/2023	and commented on draft 2024 plan		1.50			1.00	0.00	1.00
	Prepared for, participated in, and followed up on Equity Working							
8/31/2023	Group meeting		2.25			1.50	0.00	1.50
						2.25	0.00	2.25
						0.00	0.00	0.00
	Total Hours	0.00	8.00	0.00	0.00	8.00	0.00	8.00
	Total Amount	\$0.00	\$1,544.00	\$0.00	\$0.00	\$1,544.00	0.00	\$1,544.00



BILLED TO

Optimal Energy - NV5 10600 Route 116, Suite 3 Hinesburg, VT 05461

Sam Ross

EcoMetric Consulting, LLC 41 Leopard Road, Suite 104 Paoli, PA 19301 610.400.8600 admin@ecometricconsulting.com

INVOICE

\$4,068.50

TOTAL DUE

Project NameRI EERMC ConsultantInvoice Date09/06/2023Project #7525Due Date10/06/2023Invoice #1029-P8-23Payment TermsNet 30Billing Period07/29/2023 - 09/01/2023

Task Number	Description		Amount
001-02	Implementation Oversight & Plan Development		\$4,068.50
		Subtotal	\$4,068.50

Invoice Total \$4,068.50

Invoice Number Period	1029-P8-23 07/29/2023 - 09/01/2023							
Project	Task	Person	Title	Month	Hours	Rate	Amoun	t
RI EERMC Consultant	Implementation Oversight & Plar	n DeSalil Gogte	Partner	2023-08	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plar	De Michael Frischmann	Partner	2023-08	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	DeMichael Honeychuck	Managing Consultant	2023-08	15.75	\$ 206.00	\$ 3	3,244.50
RI EERMC Consultant	Implementation Oversight & Plar	n Di Bitul Sinha	Managing Consultant	2023-08	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	D Cory Read	Data Scientist	2023-08	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plar	De Jake Fuller	Managing Consultant	2023-08	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plar	De Mary George	Sr Engineer	2023-08	0	\$ 166.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plar	n Di Kyle McKenna	Managing Consultant	2023-08	4	\$ 206.00	\$	824.00
Total					19.75		\$ 4	,068.50
Project	Task	Person	Title	Month	Hours	Rate	Amoun	t
RI EERMC Consultant		0 Salil Gogte	Partner	2023-08	0	\$ 220.00	\$	-
RI EERMC Consultant		0 Michael Frischmann	Partner	2023-08	0	\$ 220.00	\$	-
RI EERMC Consultant		0 Michael Honeychuck	Managing Consultant	2023-08	0	\$ 206.00	\$	-
RI EERMC Consultant		0 Bitul Sinha	Managing Consultant	2023-08	0	\$ 206.00	\$	-
RI EERMC Consultant		0		2023-08	0		\$	-
Total					-		\$	-

fname	local_date	hours	task		notes
					Draft 2024 EE plan review & comments
Kyle Mckenna	8/22/2023	1	. Implementation	Oversight & Plan Developmer	nt Emails
					Draft 2024 EE plan review & comments
Kyle Mckenna	8/23/2023	3	Implementation	Oversight & Plan Developmer	nt Emails
					Invoice & discussions
Michael Honeychuck	8/2/2023	2	Implementation	Oversight & Plan Developmer	t Custom electric site reports review
Michael Honeychuck	8/9/2023	0.75	Implementation	Oversight & Plan Developmer	t Monthly C&I call with RI Energy & C-Team
Michael Honeychuck	8/11/2023	1	. Implementation	Oversight & Plan Developmer	t Custom electric project report reviews
					Custom electric evaluation report reviews
Michael Honeychuck	8/17/2023	2	Implementation	Oversight & Plan Developmer	nt Emails
					Custom electric evaluation report reviews
Michael Honeychuck	8/18/2023	2	Implementation	Oversight & Plan Developmer	it Emails
					Draft 2024 EE plan review & comments
Michael Honeychuck	8/21/2023	1	. Implementation	Oversight & Plan Developmer	it Emails
					Draft 2024 EE plan review & comments
Michael Honeychuck	8/22/2023	2	Implementation	Oversight & Plan Developmer	it Emails
					Monthly residential call with RI Energy & C-Team
					Draft 2024 EE plan review & comments
Michael Honeychuck	8/23/2023	4	Implementation	Oversight & Plan Developmer	t Emails
Michael Honeychuck	8/24/2023	1	. Implementation	Oversight & Plan Developmer	t FRSO discussion with Guidehouse & TetraTech

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 5935 Invoice Date: August 31, 2023 OEI Project #: 7525

\$2,060.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Se	Description of Services						
Services Performed 08/01/2023 throug	Services Performed 08/01/2023 through 08/31/2023						
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 10.00 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$2,060.00 \$0.00				
Travel Expenses (See attached travel expense form for o	\$0.00						

TOTAL DUE

Energy Futures Group, Inc. Services Performed 08/01/2023 through 08/31/2023

		001 - EE Program Planning & Implementation						
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
8/3/2023	Res sector meeting.		1.00			0.00	0.00	0.00
8/10/2023	Attend 2nd half of C&I sector meeting		0.50			1.00	0.00	1.00
8/11/2023	Meeting prep		0.50			0.50	0.00	0.50
8/14/2023	Prep for Plan call, then call with RIE. Wx barriers information		1.50			0.50	0.00	0.50
8/18/2023	Review RI 2024 Plan and provide edits and comments		3.50			1.50	0.00	1.50
8/22/2023	Review Plan comments from Glenn and Margie		0.50			3.50	0.00	3.50
8/23/2023	Review RIE 2024 C&I plan and provide comments		2.00			0.50	0.00	0.50
8/23/2023	Glenn re. 2024 Plan		0.50			2.00	0.00	2.00
						0.50	0.00	0.50
						0.00	0.00	0.00
	Total Hours	0.00	10.00	0.00	0.00	10.00	0.00	10.00
	Total Amount	\$0.00	\$2,060.00	\$0.00	\$0.00	\$2,060.00	0.00	\$2,060.00

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 8R Invoice Date: August 31, 2023 OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Services		Amount
Services Performed 08/01/23 through			
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 16.25 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$3,347.50 \$0.00
Travel Expenses (See attached travel expense form for	details.)		\$0.00
	TOTAL DUE		<u>\$3,347.50</u>

GDR Consulting Services Performed 08/01/23 through 08/31/23

-		001 - EE Prog	ram Planning & Im	plementation			
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
					0.00	0.00	0.00
8/1/2023	Complete review of Electric customer survey instrument and landlord interview guide		1.25		1.25	0.00	1.25
	Review and comment on draft ML study		1.25		1.25	0.00	1.25
	Review and comment on Wx barriers data		0.25		0.25	0.00	0.25
8/10/2023	Response to inquiry from C. Johnson on MA and RI HVAC program requirements		0.75		0.75	0.00	0.75
	Participate in monthly RI Sector Team call		1.00		1.00	0.00	1.00
	Review and comment on EM&V and on Pilots and Demonstrations 2024 Plan attachments; provide summary email						
8/21/2023			1.50		1.50	0.00	1.50
8/21/2023	Review, comment and provide summary email comments of Residential attachment to 2024 Plan		2.25		2.25	0.00	2.25
	Review and comment on EWSF impact study		1.50		1.50	0.00	1.50
8/22/2023	Review and comment on 2024 Plan Main text, review Craig's responses to my Residential review summary comments		1.75		1.75	0.00	1.75
	Follow up responses to Craig's on Residential Plan attachment review summary comments; analysis of ENERGY STAR unit shipment data and RIE Products offers, and research on room		1.00		1.00	0.00	1.00
	Participate in monthly RI EM&V call and follow up call w/R. Faesy		1.00		1.00	0.00	1.00
8/23/2023	of code support activities		1.50		1.50	0.00	1.50
8/24/2023	Review of R. Prahl's comments on draft EWSF impact study, follow up on electric heat base usage		0.50		0.50	0.00	0.50
8/26/2023			1.25		1.25	0.00	1.25
	Review of RIE's responses to our EWSF comments and reply re: electric heat base usage estimate		0.50		0.50	0.00	0.50
					0.00	0.00	0.00
					0.00	0.00	0.00
	Total Hours	0.00	16.25	0.00	16.25	0.00	16.25
	Total Amount	\$0.00	\$3,347.50	\$0.00	\$3,347.50	0.00	\$3,347.50

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 42 Invoice Date: August 31, 2023 OEI Project #: 7525

INVOICE

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Ser	Description of Services							
Services Performed 08/01/23 through 08/31/23								
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 16.50 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$3,399.00 \$0.00					
Travel Expenses (See attached travel expense form for d	etails.)		\$0.00					

TOTAL DUE

\$3,399.00

Ralph Prahl Services Performed 08/01/23 through 08/31/23

		001 - EE Program Planning & Implementation		nplementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
8/1/2023	electric heat study		0.50			0.50	0.00	0.00
8/2/2023	measure life report		0.25			0.25	0.00	0.50
8/3/2023	measure life report; custom electric impact eval		0.25			0.25	0.00	0.25
8/4/2023	measure life study; custom electric study		0.50			0.50	0.00	0.25
8/8/2023	measure life study; 2024 plan		0.50			0.50	0.00	0.50
8/9/2023	custom electric impact eval; C&I call		0.75			0.75	0.00	0.50
	2024 plan		0.50			0.00	0.00	0.75
8/13/2023	custom electric impact eval		0.25			0.50	0.00	0.50
8/18/2023	2024 plan; custom electric impact eval		1.50			0.25	0.00	0.25
8/21/2023	2024 ev pl; EW impact report		0.75			1.50	0.00	1.50
8/22/2023	EWSF report		1.50			0.75	0.00	0.75
8/23/2023	EW report; res studies check-in call		1.50			1.50	0.00	1.50
8/24/2023	EW report; 2024 plan; C&I NTG study		2.00			1.50	0.00	1.50
	C&I NTG study; C&I kitchen eq study; EW impact report		1.75			2.00	0.00	2.00
	EW report		1.00			1.75	0.00	1.75
	EW report; custom gas report		1.25			1.00	0.00	1.00
	commercial kitchen equipment results		0.50			1.25	0.00	1.25
	custom gas impact report; EW report		1.00			0.50	0.00	0.50
8/31/2023	custom gas impact report		0.25			1.00	0.00	1.00
		ļ				0.25	0.00	0.25
	Total Hours	0.00	16.50	0.00	0.00	0.00 16.50	0.00	0.00
	Total Hours Total Amount	\$0.00		\$0.00	0.00 \$0.00		0.00	16.50 \$3,399.00
	Total Amount	ა 0.00	ຈວ,ວອອ.00	φ υ.υυ	φ υ.υυ	ສ ວ,ວອອ.00	0.00	φ3,399.00

E.

Rachel Sholly 48 Hudson Street, Providence, RI 02909

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: OEI Project #: 68 August 31, 2023 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Amount							
Services Performed 08/01/2023 through 08/31/2023								
	Hours	Hourly Rate	Amount Due					
LABOR - Regular Hours	27.50	\$161.00	\$4,427.50					
LABOR - Admin Hours	1.25	\$83.00	\$103.75					
LABOR - Travel Hours	0.00	\$80.50	\$0.00					
Travel Expenses (See attached travel expense form fo	or details.)		\$0.00					

TOTAL DUE

\$4,531.25

Rachel Sholly Services Performed 08/01/2023 through 08/31/2023

		001 - EE Prog	gram Planning & Imp	olementation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Sub-Total Admin Hrs.	Total Hours
08/02/23	C-team planning re: Council mtg agenda; Deliverables review w/Advocacy, follow-up strategizing			2.25		2.25	0.00	0.00	2.25
	Drafted & circulated talking points for Advocacy call; Call w/Advocacy re: deliverables, timeline			1.00		1.00	0.00	0.00	1.00
	Review & correspondence re: logo designs; Research,			4.05		1.05			1.05
	strategy & correspondence re: public awareness RFP			1.25		1.25	0.00	0.00	1.25
	Correspondence re: brand/comms timeline & strategy			1.00		1.00	0.00	0.00	1.00
	Reviewed & commented on Advocacy's update slides C-team planning re: RFP & Advocacy; Reviewed &			0.50		0.50	0.00	0.00	0.50
	added to OER responses to vendor RFP questions; Drafted EdComm agenda			1.50		1.50	0.00	0.00	1.50
08/10/23	Strategized w/S. Chybowski (OER) re: brand/comms work & contract; EERMC Public Forum / HEZ Learning Community Workshop, connected w/related contacts			6.25		6.25	0.00	0.00	6.25
	Strategized & updated timeline for RFP extension; Finalized EdComm agenda, related correspondence; Communications re: brand/comms work, reviewed contract & proposal; Call re: Advocacy performance			3.50		3.50	0.00	0.00	3.50
	Compiled & sent EdComm mtg materials			0.50		0.50	0.00	0.00	0.50
	Communications re: EdComm mtg; Call w/Steve re: EdComm mtg, RFP, Advocacy; Call w/Steve & Peter re: RFP, Advocacy, HEZ event			1.25		1.25	0.00	0.00	1.25
	Updated awareness campaign RFP; C-team planning re: Council mtg prep; Edu activities; Posted lecture series flyer to meeting materials; Reviewed NH marketing RFP								
	& vendor list; related correspondence			1.25	0.25	1.25	0.00	0.25	1.50
	EERMC mtg			0.50		0.50	0.00	0.00	0.50
	Updated RFP vendor list, related correspondence			0.25		0.25	0.00	0.00	0.25
	Correspondence re: Advocacy mtg & project status C-team planning re: lecture series, brand/comms; Reviewed & updated vendor contact list, followed up w/vendors on public awareness campaignRFP; Correspondence re: public events promo & prep, brand/comms mtg & mtg w/Encolor re: Clean Heat RI; Mtg w/Encolor re: Clean Heat RI program, follow-up connections; Mtg w/Advocacy & internal re: logo; Mtg			0.50		0.50	0.00	0.00	0.50
08/30/23	w/URI re: lecture series Logo design strategy, mtg prep & communication;			5.25		5.25	0.00	0.00	5.25
08/31/23	Updated website with energy lecture series info			0.75		0.75	0.00	1.00	1.75
	Total Hours	0.00	0.00	27.50	1.25	27.50	0.00	1.25	28.75
	Total Amount	\$0.00	\$0.00	\$4,427.50	\$103.75	\$4,427.50	\$0.00	\$103.75	\$4,531.25





Invoice # 135 Date: 11/13/2023 Due On: 12/13/2023

38 Bellevue Avenue, Suite B Newport, Rhode Island 02840

RI Energy Efficiency Resource Management Council

00001-RI Energy Efficiency Resource Management Council

Legal Counsel to EERMC.

Туре	Date	Notes	Quantity	Rate	Total
Service	10/03/2023	Attention to EE docket filing. Emails with C-Team re: follow up tasks.	0.80	\$275.00	\$220.00
Service	10/04/2023	Review of Documents: Review of RIPUC Docket No. 23-35-EE	2.50	\$275.00	\$687.50
Service	10/04/2023	Drafting Documents: Reviewed Docket No. 23-35-EE, Docket No. 5076, and Drafted Summary for Atty.	3.10	\$275.00	\$852.50
Service	10/04/2023	Call with C-Team, attention to PUC docket.	0.50	\$275.00	\$137.50
Service	10/10/2023	Emails: C-Team re: updated bylaws. Attention to same. Attention to last docket order for EE Plan.	0.50	\$275.00	\$137.50
Service	10/11/2023	Legal Research: Legal Research and Atty. Email Correspondence.	1.30	\$275.00	\$357.50
Service	10/11/2023	File Management: Filling and organization for 2024-2026 Energy Efficiency Three-Year Plan & 2024 Energy Efficiency Annual Plan	0.30	\$275.00	\$82.50
Service	10/12/2023	Attention to C-Team questions.	0.30	\$275.00	\$82.50
Service	10/13/2023	Drafting Documents: Drafted Summary of Docket No. 5189 for Atty.	2.20	\$275.00	\$605.00
Service	10/16/2023	Review, revise and forward bylaws. Review and forward information to C-Team on compliance with PUC order. Attention to EE docket filing and meeting materials.	1.50	\$275.00	\$412.50
Service	10/16/2023	Attn to pre-filed testimony and preparation of same.	0.30	\$275.00	\$82.50
Service	10/17/2023	Emails: Agendas for meetings. Review same. C-Team, PUC re: EE docket. Attention to order from PUC.	1.40	\$275.00	\$385.00

Service	10/18/2023	Correspondences: PUC EE docket call re: procedural schedule. Emails re: hearing dates. Attention to filings. C-Team re: meetings. EFSB re: docket 5000.	1.30	\$275.00	\$357.50
Service	10/18/2023	Attn to status and upcoming hearing.	0.20	\$275.00	\$55.00
Service	10/18/2023	Drafting Documents: Drafting Summary of Docket No. 22-33-EE	1.30	\$275.00	\$357.50
Service	10/19/2023	Emails - EE Docket re: Data Request. Review same. Attention to statute for EE motion.	0.70	\$275.00	\$192.50
Service	10/19/2023	Appearance: Executive Committee and Full Committee meetings.	4.50	\$275.00	\$1,237.50
Service	10/20/2023	Attention to EE docket.	0.20	\$275.00	\$55.00
Service	10/20/2023	Drafting Documents: Drafted Motion for Docket No. 23-35-EE.	2.50	\$275.00	\$687.50
Service	10/20/2023	Drafting Documents: Drafted Summary of Docket No. 22-33-EE for Atty.	2.00	\$275.00	\$550.00
Service	10/23/2023	File Management: Updated Docket No. 23-35-EE File Documents	0.30	\$275.00	\$82.50
Service	10/23/2023	Attention to motion to intervene and EE filing with PUC.	1.20	\$275.00	\$330.00
Service	10/23/2023	Filing of Documents: Filing Notice of Intervention and Cost Effectiveness Report	1.40	\$275.00	\$385.00
Expense	10/24/2023	Reimbursable expenses: Mailing for Notice of Intervention and Cost Effectiveness Report	1.00	\$13.46	\$13.46
Service	10/26/2023	Emails: C-Team re: filing details. Review same. Review Data Request for EE Docket.	0.90	\$275.00	\$247.50
Service	10/27/2023	Attention to budget questions for filing and DR from DPUC. Email from PUC re: meeting attendance.	1.50	\$275.00	\$412.50
Service	10/27/2023	Correspondences: Responded to Atty. Inquiry Regarding First Data Request	0.40	\$275.00	\$110.00
Service	10/27/2023	Correspondences: Responded to Atty. Inquiry on 2nd Set of Data Requests.	0.40	\$275.00	\$110.00
Service	10/29/2023	Emails: C-Team re: EE docket filings. Begin reviewing same and attention to filing.	0.50	\$275.00	\$137.50
Service	10/30/2023	Attn to status.	0.20	\$275.00	\$55.00
Service	10/30/2023	Finish review of budget pre-file. Attention to filing of same, cover letter. Finalize and approve.	1.20	\$275.00	\$330.00
Service	10/30/2023	Filing of Documents: Filing testimony of Samuel C. Ross and Craig K. Johnson	5.50	\$275.00	\$1,512.50

Total \$11,260.96

Detailed Statement of Account

Current Invoice

Invoice Number	Due On	Amount Due	Payments Received	Balance Due
135	12/13/2023	\$11,260.96	\$0.00	\$11,260.96
			Outstanding Balance	\$11,260.96
			Total Amount Outstanding	\$11,260.96

Please make all amounts payable to: Desautel Browning Law

Please pay within 30 days.

INVOICE Federal Tax ID# 03-0351557



Remit checks to: Remit ACH transfer to: **Remit Wire Transfers to: Optimal Energy, LLC** ABA Routing Number 026009593 ABA Routing Number 063100277 PO Box 74008680 Account Number 898052466590 Account Number 898052466590 Chicago, IL 60674-8680 Swift Code INTL. BOFAUS3N Email ACH/Wire remittance details to RemittanceNotifications@nv5.com September 30, 2023 Project No: 863223-0007525.00

Steven Chybowski Invoice No: 00000358226 Rhode Island Office of Energy Resources Professional Services from September 1, 2023 to September 30, 2023 001 EE Prg Planning & Implementation Oversig Phase Task 01 **Council Representation Professional Personnel** Hours Rate Amount Johnson, Craig 2.50 193.00 482.50 Ross, Samuel 1.50 206.00 309.00 4.00 791.50 Totals **Total Labor** 791.50 **Total this Task** \$791.50 02 Implementation Oversight and Plan Develo Task **Professional Personnel** Hours Rate Amount Caesar, Adrian 83.25 140.00 11,655.00 12,545.00 Johnson, Craig 65.00 193.00 17.50 3,605.00 Ross, Samuel 206.00 Totals 165.75 27,805.00 **Total Labor** 27,805.00 Consultants Glenn Reed dba: GDR Consulting 824.00 JENNIFER L. CHIODO DBA: JLC CONSULTING 515.00 CORE ENERGY INSIGHTS INC. 1,109.75 ECOMETRIC CONSULTING, LLC 1,957.00 Energy Futures Group, Inc. 1,236.00 RALPH PRAHL 927.00 **Total Consultants** 6,568.75 6,568.75 **Total this Task** \$34,373.75 03

Task

Education Initiatives

Project	863223-0007525.00	Rhode Island EERMC -	- 2023		Invoice	00000035822
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar,			3.00	140.00	420.00	
Ross, Sa	amuel		2.25	206.00	463.50	
	Totals		5.25		883.50	
	Total Labor					883.50
Consultant	ts					
Rachel S	Sholly				6,882.75	
	, Total Consu	ltants			6,882.75	6,882.75
				Total th	-	\$7,766.25
						<i>ψ/ //</i> 00.25
				Total this	s Phase	\$42,931.50
Phase	002	System Reliability Procur	 · rement			
- — — — – Fask	01	Council Representation				
	al Personnel					
			Hours	Rate	Amount	
Ross, Sa	amuel		1.25	206.00	257.50	
1000,00	Totals		1.25	200.00	257.50	
	Total Labor		1120		20/100	257.50
				Total th	is Task	\$257.50
Fask	02	Plan Development and C	Dversight			
Profession	al Personnel					
			Hours	Rate	Amount	
Ross, Sa	amuel		2.00	206.00	412.00	
	Totals		2.00		412.00	
	Total Labor					412.00
				Total th	is Task	\$412.00
				Total this	s Phase	\$669.50
- _ Phase	003	Regulatory Proceedings				
- 	01	Council Representation				
	al Personnel					
			Hours	Rate	Amount	
Johnsor	n Craig		ноигs 4.75	193.00	916.75	
Ross, Sa			4.75 6.50	206.00	1,339.00	
1,035, 30	Totals		11.25	200.00	2,255.75	
	Total Labor		11.23		2,233.13	2,255.75
				Total th	is Task	\$2,255.75
Task Profossion	02	Develop Technical Mater	rials			
roression	al Personnel		Hours	Rate	Amount	
Caesar,	Adrian		.25	140.00	35.00	
cacour			.25	1.0100	55.00	

Project	8632	23-0007525.00	Rhode Island EERMC - 2023		Invoice	0000003582
Johnsor	n, Craig		5.00	193.00	965.00	
Ross, Sa	amuel		1.00	206.00	206.00	
		Totals	6.25		1,206.00	
		Total Labor				1,206.00
				Total th	is Task	\$1,206.00
				Total this	s Phase	\$3,461.75
hase		004	Council Sponsored Meetings and Mate	erials		
ask		01	Meeting Attendance			
rofession	al Perso	onnel				
			Hours	Rate	Amount	
Caesar,			4.50	140.00	630.00	
Johnsor			4.00	193.00	772.00	
Ross, Sa	amuel		4.50	206.00	927.00	
		Totals	13.00		2,329.00	
		Total Labor				2,329.00
				Total th	is Task	\$2,329.00
— — — — ask		02	Develop Technical Materials			
rofession						
			Hours	Rate	Amount	
Caesar,	Adrian		14.50	140.00	2,030.00	
Johnsor			25.25	193.00	4,873.25	
Ross, Sa			11.50	206.00	2,369.00	
·		Totals	51.25		9,272.25	
		Total Labor			·	9,272.25
				Total th	iis Task	\$9,272.25
 _		03	Other Council Responsibilities			
rofession	al Perso	onnel				
			Hours	Rate	Amount	
Bellivea			1.75	220.00	385.00	
Johnsor			3.00	193.00	579.00	
Ross, Sa	amuel		1.50	206.00	309.00	
		Totals Total Labor	6.25		1,273.00	1,273.00
				Total th	is Task	\$1,273.00
				Total this	s Phase	\$12,874.25
·						
nase rofessiona		005 onnel	Research, Analysis, and Other Counci	i Su		
			Hours	Rate	Amount	
Caesar,	Adrian		6.00	140.00	840.00	
Johnsor	-		9.50	193.00	1,833.50	
Ross, Sa	amuel		10.75	206.00	2,214.50	
		Totals	26.25		4,888.00	
		Total Labor				4,888.00

Please Reference Our Invoice Number on your Payment

Project	863223-0007525.00	Rhode Island	EERMC - 2023		Invoice	00000358226
				Total this	s Phase	\$4,888.00
Phase	007	EERMC Intern				
Additional F	ees					
Monthly	Intern Fee (Sept 2023)				3,750.00	
	Total Additi	onal Fees		3,750.00		3,750.00
				Total this Phase		\$3,750.00
Billing Limit	ts		Current	Prior	To-Date	
Total Bill Limit	-		68,575.00	441,568.99	510,143.99 717,025.00	
	aining				206,881.01	
				Total this I	Invoice	\$68,575.00
Billings To I	Date					
		Current	Prior	Total		
Labor		51,373.50	302,987.75	354,361.25		
Consulta	int	13,451.50	120,461.25	133,912.75		
Expense		0.00	3,119.99	3,119.99		
Add-on		3,750.00	15,000.00	18,750.00		
Totals		68,575.00	441,568.99	510,143.99		

Project	863223-0007525.00	Rhode Island EERMC	2 - 2023		Invoice	000000358226
Billing	Backup				Thursday, Nove	mber 2, 2023
NV5, Inc.		Invoice 0	00000358226 E	Dated 9/30/2023		2:23:36 PM
				 -		
Phase	001	EE Prg Planning & Imp		ersig		
Task Brofession	01	Council Representation				
Profession	al Personnel		Hours	Rate	Amount	
Johnson, Cr	aiq	9/7/2023	1.25	193.00	241.25	
,	Monthly-check-in w/ C					
Johnson, Cr	-	9/26/2023	1.00	193.00	193.00	
1.1	Bi-Weekly meeting w/		25	102.00	40.25	
Johnson, Cr	aıg EE TWG meeting.	9/29/2023	.25	193.00	48.25	
Ross, Samu	-	9/12/2023	1.00	206.00	206.00	
,	prep for, meeting with	OER to discuss Council		neeting,		
	next steps on plan rev				400.00	
Ross, Samu	el EE TWG	9/29/2023	.50	206.00	103.00	
	Totals		4.00		791.50	
	Total Labor					791.50
				Total this	Task	\$791.50
Task	02	Implementation Oversi	ght and Plan D	evelo		
Profession	al Personnel					
			Hours	Rate	Amount	
Caesar, Adri		9/1/2023 EWG 2024-2026 EE plan	3.25	140.00	455.00	
	development; RICE P	2024-2026 EE plan 2021 custom electric im quipment ISP master res	pact evaluation	report draft		
Caesar, Adri		9/5/2023	4.25	140.00	595.00	
	RICEPY2021 custom e ISP report review, EM ups/responses - secor	e and attachments OER of electric evaluation report &V study tracker updates adary heating assumption primary Elec heating con	review, Kitchen s; EWSF study f ns, participant y	Equipment		
Caesar, Adri		9/6/2023	.25	140.00	35.00	
		s/responses - secondary nent vs. pre Wx, primary				
Caesar, Adri		9/7/2023	3.50	140.00	490.00	
·	2024-2026 EE/SRP pla attachments, Rate and check in - kitchen ISP	an review - updated EE p d bill impact models and report, RICE/RICG PY20 2021 Custom Gas impac	narrative; C-Te 21 comments, I	am EM&V updated		
Caesar, Adri		9/8/2023	6.25	140.00	875.00	
		an review - updated EE p and spending comps, ma w				

Project 863223-0007525.0	0 Rhode Island EERMC -	- 2023		Invoice	00000358226
Caesar, Adrian	9/11/2023	7.00	140.00	980.00	
tracked changes and RI Energy responses agenda development	updated narrative and plan RI Energy responses to C-t to C-team data-related que ; RIE Participation dashboa d recommended metrics for	team narrative estions; C&I E rd walkthroug	e comments, M&V mtg. Jh; equity		
Caesar, Adrian	9/12/2023	8.50	140.00	1,190.00	
tracked changes and RI Energy responses for pre-Wx barriers a	updated narrative and plan RI Energy responses to C-t to C-team data-related que nd program BCR impacts so n cost and savings deltas; (analysis	team narrative estions; increr cenario analys	e comments, nental costs sis; 2024-		
Caesar, Adrian	9/13/2023	5.25	140.00	735.00	
attachments review, narrative comments, questions; increment impacts scenario ana deltas; equity recom 2024/2024-2026 3YP	ntg; 2024-2026 EE Plan - u tracked changes and RI En- RI Energy responses to C-t al costs for pre-Wx barriers lysis; 2024-2026 EE plan pr mendations and recomment ; TRC, incentive, and partic ort review and comments	ergy response eam data-related and program rogram cost a ded metrics for	es to C-team ated BCR nd savings or		
Caesar, Adrian	9/14/2023	4.50	140.00	630.00	
tracked changes and RI Energy responses plan program cost ar recommended metric participant cost QA/Q		team narrative estions; 2024- commendation TRC, incentive	e comments, 2026 EE ns and ve, and		
Caesar, Adrian	9/19/2023	4.50	140.00	630.00	
Plan narrative redline	eview - updated plan main tes, BCR model analysis and p; RICEPY2022 custom elect	program/mea	isure		
Caesar, Adrian	9/20/2023	5.00	140.00	700.00	
savings and spending	eview - BCR model analysis g, end use savings trend an factor QA; RICE lifetime sa	alysis, correct	ed TRM		
Caesar, Adrian	9/21/2023	6.75	140.00	945.00	
savings and spending database and impact	eview - BCR model analysis g, end use savings trend an factor QA; 3YP comps to ta data review and monthly da is analysis	alysis, correct argets and pla	ed TRM ms/actuals;		
Caesar, Adrian	9/22/2023	4.75	140.00	665.00	
development; 2024-2 program/measure sa 3YP comps to targets comments/additional	group recommendations m 2026 EE Plan review - BCR r vings and spending, end us and plans/actuals; RIE res flags; RI customer demogr nergy and OER; TRM databa om RI energy	model analysis se savings tren sponses to C- ⁻ raphic analysis	s and nd analysis; Feam plan s; EE Plan		
Caesar, Adrian	9/25/2023	4.00	140.00	560.00	
C&I Kitchen ISP repo EE plan review and k	rt review, EM&V study trac ey takeaways/issues	ker updates;	2024-2026		
Caesar, Adrian	9/26/2023	3.00	140.00	420.00	

Project	863223-0007525.00 R	hode Island EERMC - 2	023		Invoice	000000358226
	2024-2026 EE plan review responsiveness to EERMC p input corrections/impact qu	priorities, EM&V update				
Caesar, Ac		9/27/2023	5.50	140.00	770.00	
	Updated 2024-2026 EE plan sector level savings and cos QA, Main text and plan atta	st analysis, EMV impact				
Caesar, Ac		9/28/2023	1.75	140.00	245.00	
	Updated 2024-2026 EE plan sector level savings and cos review; EWG recommendat	st analysis, Main text ar	nd plan atta			
Caesar, Ac	rian	9/29/2023	5.25	140.00	735.00	
	Updated 2024-2026 EE plan sector level savings and cose EWG Report and recommer meeting and follow ups	st analysis, plan attachr	nents redli	ne review;		
Johnson, C	Craig	9/1/2023	3.75	193.00	723.75	
	Plan review - coordinate wi review. EWG - debrief w/ S including plan for providing Sector Team - coordinate w check-in with sector team s and sector team topics.	am/Adrian on EWG med additional feedback to v/ Adrian on Sector tear	eting and n Council on n meetings	iext steps, EWG input. 5. Monthly		
Johnson, C	raig	9/5/2023	.50	193.00	96.50	
	Coordinate/check-in w/ OEl for first draft in prep for see		comments s	submitted		
Johnson, C	Craig	9/8/2023	2.00	193.00	386.00	
	Plan Review - Check-in mea and timeline for reviewing s second draft materials deliv and quantitative review.	second draft plan mater	ials. Initial	review of		
Johnson, C		9/10/2023	1.25	193.00	241.25	
	Plan Review - Initial review models, rate and bill impac redline documents.					
Johnson, C	raig	9/11/2023	5.25	193.00	1,013.25	
	Plan Review - Review and c subs for review with detailed timeline. Review 2024 Plan responsiveness to feedback meeting, including equity a spending for Gas HVAC pro Sam re: same. EM&V - Rev notes on EMSW IE study. R upcoming meeting scheduk same. Meeting with Cadeo participant dashboard.	ed instructions about rev materials, with focus o provided on first draft nd gas incentives. Analy gram. Ongoing discussi iew RIE responses and leview notes from last E e for group, discussion	view proces n assessing at August ysis of ince ons with A C-Team fo WG meetin with interna	ss and Council ntive drian and llow-up ng and al team re:		
Johnson, C		9/12/2023	7.75	193.00	1,495.75	
	Equity Working Group/Plan specific equity metrics base provided to-date. Plan Revi much funding could be allo remediation while maintain changes between drafts for Residential Attachment of s responsiveness to key resid meeting.	Review - Work on pulli ed on feedback C-Team ew - Conduct analysis t cated towards pre-weat ing cost-effective progra- planned weatherization second draft annual plar	ng togethe and stakeh o determin herization ams. Analy n activity. F n, focus on	r table of holders have e if and how barrier sis on Review	-, ····· -	
Johnson, (-	9/13/2023	6.75	193.00	1,302.75	

Project	863223-0007525.00 Rhode Island EERMC - 2023	Invoice	00000358226
	Plan Review - Continue plan review with focus on Residential and DPA attachments to evaluate responsiveness to key residential items flagged at August Council meeting. Review comment responses from Company on Residential Attachment, Main Text, DPA attachment, and 3YP Main Text. Review comments from residential sector team subs. Continue review of responses to data questions.		
Johnson, C	Craig9/14/20235.25193.00Plan Review - Read through Main text and attachments for 3YP. ReviewRIE responses to data questions on annual and 3YP. Work on reviewingBC Models to cross-check and confirm responses to data questionsincorporated. EWG - Work on matrix of potential specific metrics for EWGto consider.	1,013.25	
Johnson, C	Craig9/15/20234.75193.00EWG - Quick initial review of EWG metrics matrix, emails w/ internal team re: same. Plan Review - Initial review of updated responses to data requests from RIE on annual and 3YPs. Review and provide updated plan materials to sector subs. Continue review of updated residential and main text attachments. Begin putting together list of key items to flag for RIE for final draft work. Plan BC Model Review - set up top measures by program analysis workbook for final review.	916.75	
Johnson, C		96.50	
	Communications with res sector subs on plan review.		
Johnson, C	Craig9/18/20232.00193.00Plan Review - Continue review of Main Text with an eye towards responsiveness to Council priorities. Continue review and centralization of key outstanding comment to send to Company.	386.00	
Johnson, C	Craig9/19/20236.75193.00EM&V/Plan Review - Review internal team discussion on savings assumptions for codes support. Plan Review - Continue reviewing RIE responses to data questions on annual and 3YP, flag outstanding items that still need to be addressed and tag items for follow-up with Company post-plan filing. Continue reviewing RIE responses to comments in residential attachment. Develop memo to Company on outstanding items we would like to see addressed in final draft.	1,302.75	
Johnson, C		675.50	
Johnson, C	-	289.50	
	Plan Review - Coordination with Adrian re: incorporation of EM&V study results into Plan, strategize on message to send back to RIE.		
Johnson, C	Craig9/22/20235.75193.00EWG - Review EWG matrix and plan material, draft thoughts and comments to EWG regarding process improvements for EWG moving forward. Discussion w/ Adrian, Sam, and Margie regarding same. Plan Review - Review RIE responses to C-Team memo on outstanding comments, prep for call w/ RIE, call w/ RIE to review and discuss.	1,109.75	
Johnson, C		820.25	
Johnson, C		193.00	
	Review updated plan materials to ID any remaining flags for Council. Initial review of Draft EWG report.		
Johnson, C	Draig 9/29/2023 2.50 193.00	482.50	

Project	863223-000752	5.00 Rhode Island EERMC -	2023		Invoice	0000003582
	Review Residentia October sector te	al data report and working on m am meeting.	eeting agen	da for		
oss, Samı		9/1/2023	1.00	206.00	206.00	
,	Team debrief on I	Plan review, future of gas, EWG				
	workstreams for e	•				
oss, Samı		9/5/2023	.50	206.00	103.00	
		m to coord meeting materials, e iew when Plan materials receive		ps, establish		
oss, Samı	uel	9/7/2023	1.50	206.00	309.00	
	morning check in,	, afternoon call with Steve				
oss, Samı	uel	9/11/2023	4.50	206.00	927.00	
	begin detailed rev changes	view of Annual Plan comment re	sponses and	other		
oss, Samı	uel	9/12/2023	4.25	206.00	875.50	
	Annual Plan Main	re: path to finishing plan review Text, extract key issues/remain 3 3YP main text, extract remaini	ing concerns			
oss, Samı	uel	9/19/2023	.75	206.00	154.50	
	coord review, ear 3YP.	ly comments back to RIE on sec	cond drafts a	nnual and		
oss, Samı	uel	9/20/2023	2.00	206.00	412.00	
	morning meeting next steps	coord cont plan review and ass	essment, EW	/G & educ		
oss, Samu	uel	9/22/2023	1.00	206.00	206.00	
	meeting with RIE 3YP and annual p	to review comments from C-Te lan	am in memo	to RIE re:		
oss, Samı	uel	9/26/2023	1.50	206.00	309.00	
	morning status ch and RIE	neck in, prep for and attend afte	ernoon meeti	ng with OER		
oss, Samı	uel	9/29/2023	.50	206.00	103.00	
		lebrief and next steps				
	Totals	·	165.75		27,805.00	
	Total La	abor				27,805.00
				Total th	is Task	\$34,373.75
ask	03	Education Initiatives				
rofessio	nal Personnel					
			Hours	Rate	Amount	
aesar, Ad	rian	9/12/2023	.50	140.00	70.00	
		ategy and coordination call				
aesar, Ad		9/13/2023	.50	140.00	70.00	
, -		and communications strategy m				
aesar, Ad	-	9/19/2023	2.00	140.00	280.00	
,		moderation - Participation in EE				
oss, Samı		9/1/2023	1.00	206.00	206.00	

Ross, Samuel	9/1/2023	1.00	206.00	206.00
Council branding me	eeting			
Ross, Samuel	9/8/2023	.75	206.00	154.50
prep for, participate	in branding working session			
Ross, Samuel	9/21/2023	.50	206.00	103.00
Logo dev next steps	5			
Totals		5.25		883.50
Total Lab	or			

883.50

	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	000000358
				Total th	is Task	\$7,766.25
				Total this Phase		\$42,931.50
hase	002	System Reliability Procur	- ement			
– – – – –	01	Council Representation				
	I Personnel					
roressiona	il Personnel		Hours	Data	A	
Ross, Samuel	1	9/20/2023	1.25	Rate 206.00	Amount 257.50	
-	SRP TWG + follow up	9/20/2023	1.25	200.00	257.50	
	Totals		1.25		257.50	
	Total Labor					257.50
				Total th	is Task	\$257.50
- Task	02	Plan Development and O	versight			
Professiona	l Personnel					
			Hours	Rate	Amount	
Ross, Samuel		9/13/2023	2.00	206.00	412.00	
	review SRP 3YP second comments on 1st draft	l draft, incl. review of resp	oonse to EER	MC		
	Totals		2.00		412.00	
	Total Labor					412.00
				Total th	is Task	\$412.00
				Total this	Phase	\$669.50
Phase	003	Regulatory Proceedings	· ·			
ask	01	Council Representation				
Professiona	l Personnel					
ahness C	ia.	0/0/2022	Hours	Rate	Amount	
ohnson, Crai	-	9/8/2023 ting on EE Implementatio	1.00	193.00	193.00	
ohnson, Crai	-	9/18/2023	3.75	193.00	723.75	
unison, Cid	Attend FoG meeting on		5.75	199.00	123.13	
Ross, Samuel	-	9/8/2023	2.00	206.00	412.00	
	listening in on PUC tecl		2.00	200.00	112.00	
Ross, Samuel	-	9/18/2023	2.50	206.00	515.00	
	Listen in to, catch up o	n recent Future of Gas Do G meeting Tuesday 9/19			010100	
loss, Samuel		9/19/2023	2.00	206.00	412.00	
	attendance at FoG TWO					
	Totals	-	11.25		2,255.75	
					-	2,255.75
	Total Labor					
	Total Labor			Total th	is Task	\$2,255.75

Project	863223-0007525.	.00 Rhode Island EERMO	2 - 2023		Invoice	0000035
Professior	nal Personnel					
			Hours	Rate	Amount	
Caesar, Adı	rian	9/1/2023	.25	140.00	35.00	
	Future of Gas Dock	ket WG mtg. debrief				
ohnson, Ci	-	9/1/2023	.75	193.00	144.75	
	Summarize meeting Sam re: same.	g notes from 8/31 Future of	f Gas Meeting, o	debrief w/		
ohnson, Ci	raig	9/15/2023	1.25	193.00	241.25	
	Prep for FoG meeti	ng - review materials.				
ohnson, Ci	raig	9/18/2023	1.50	193.00	289.50	
	Prep for FoG meeti	ng, review materials, and fi	nalize notes.			
ohnson, Ci	raig	9/20/2023	.50	193.00	96.50	
	Annual and 2024-2	iveness Report - Begin worl 026 Three-Year EE Plans. B ng items that need to be up	egin by reviewi	ing past filed		
ohnson, Ci	raig	9/21/2023	1.00	193.00	193.00	
	Cost-Effectiveness for 3YP and Annual	Report - Work on outlining I Plans.	draft of update	d C-E report		
loss, Samu	ıel	9/19/2023	.50	206.00	103.00	
	continued prep for	FoG TWG meeting				
loss, Samu	lel	9/22/2023	.50	206.00	103.00	
	FoG TWG follow up) CODV				
,	r og r wg ronow up					
,	Totals		6.25		1,206.00	
,			6.25		1,206.00	1,206.00
,	Totals		6.25	Total th		
	Totals		6.25	Total th		1,206.00 \$1,206.00
	Totals		6.25	Total thi Total this	is Task	
	Totals			Total this	is Task	\$1,206.00
hase	Totals Total Lab	bor Council Sponsored Mee		Total this	is Task	\$1,206.00
nase mase mask	Totals Total Lat 	bor		Total this	is Task	\$1,206.00
nase ask	Totals Total Lab	bor Council Sponsored Mee	etings and Mate	Total this	is Task Phase — — — — — — — — — — — — — — — —	\$1,206.00
hase ask rofessior	Totals Total Lab 004 01 nal Personnel	bor Council Sponsored Mee Meeting Attendance	etings and Mate	Total this 	is Task Phase — — — — — — — — — — — — — — — — — — —	\$1,206.00
hase ask rofessior	Totals Total Lab 004 01 nal Personnel	bor Council Sponsored Mee Meeting Attendance 9/14/2023	etings and Mate	Total this	is Task Phase — — — — — — — — — — — — — — — —	\$1,206.00
hase ask rofessior aesar, Adr	Totals Total Lat 004 01 nal Personnel	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep	etings and Mate Hours 2.50	Total this	is Task Phase — — — — — — — — — — — — — — — — Amount 350.00	\$1,206.00
hase ask rofessior aesar, Adr	Totals Total Lat 004 01 nal Personnel rian September EERMC rian	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023	etings and Mate	Total this 	is Task Phase — — — — — — — — — — — — — — — — — — —	\$1,206.00
hase ask rofessior aesar, Adr aesar, Adr	Totals Total Lab 004 01 nal Personnel rian September EERMC rian September 28 EERI	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg.	Hours 2.50 2.00	Total this erials Rate 140.00 140.00	is Task Phase 	\$1,206.00
hase ask Professior aesar, Adr	Totals Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023	etings and Mate Hours 2.50	Total this	is Task Phase — — — — — — — — — — — — — — — — Amount 350.00	\$1,206.00
hase ask Profession Caesar, Adr Caesar, Adr ohnson, Cr	Totals Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance	etings and Mate Hours 2.50 2.00 2.00	Total this erials Rate 140.00 140.00 193.00	is Task Phase — — — — — — — — — Amount 350.00 280.00 386.00	\$1,206.00
hase ask	Totals Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023	etings and Mate Hours 2.50 2.00 2.00 2.00	Total this erials Rate 140.00 140.00	is Task Phase 	\$1,206.00
hase ask Professior aesar, Adr aesar, Adr ohnson, Cr ohnson, Cr	Totals Total Lat Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig Attend and present	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023 tendance 9/28/2023 tendance	Hours 2.50 2.00 2.00 2.00	Total this erials Rate 140.00 140.00 193.00 193.00	is Task Phase Amount 350.00 280.00 386.00 386.00	\$1,206.00
hase ask rofessior aesar, Adr aesar, Adr ohnson, Cr	Totals Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig Attend and present	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023 t materials at EERMC meetir 9/14/2023	etings and Mate Hours 2.50 2.00 2.00 2.00	Total this erials Rate 140.00 140.00 193.00	is Task Phase — — — — — — — — — Amount 350.00 280.00 386.00	\$1,206.00
hase ask Professior aesar, Adr aesar, Adr ohnson, Cr ohnson, Cr ohnson, Cr oss, Samu	Totals Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig Attend and present uel attend Council mee	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023 tendance 9/28/2023 tendance 9/28/2023 tendance 9/28/2023 tendance 9/14/2023 tendance	etings and Mate Hours 2.50 2.00 2.00 2.00 2.00 2.25	Total this Perials Rate 140.00 140.00 193.00 193.00 206.00	is Task Phase Amount 350.00 280.00 386.00 386.00 463.50	\$1,206.00
hase ask Professior aesar, Adr aesar, Adr ohnson, Cr ohnson, Cr ohnson, Cr	Totals Total Lat Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig Attend and present iel attend Council mee	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023 t materials at EERMC meetin 9/14/2023 eting 9/28/2023	etings and Mate Hours 2.50 2.00 2.00 2.00 10 2.25 2.25 2.25	Total this erials Rate 140.00 140.00 193.00 193.00	is Task Phase Amount 350.00 280.00 386.00 386.00	\$1,206.00
hase ask rofessior aesar, Adr aesar, Adr ohnson, Cr ohnson, Cr ohnson, Cr oss, Samu	Totals Total Lat Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig Attend and present uel attend Council mee uel prep for, attend and	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023 tendance 9/28/2023 tendance 9/28/2023 tendance 9/28/2023 tendance 9/14/2023 tendance	Hours 2.50 2.00 2.00 10 2.25 2.25 2.25	Total this Perials Rate 140.00 140.00 193.00 193.00 206.00	is Task Phase Amount 350.00 280.00 386.00 386.00 463.50 463.50	\$1,206.00
hase ask Professior aesar, Adr aesar, Adr ohnson, Cr ohnson, Cr ohnson, Cr	Totals Total Lat Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig Attend and present iel attend Council mee iel prep for, attend an Totals	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023 t materials at EERMC meetin 9/14/2023 eting 9/28/2023 d present at EERMC meetin	etings and Mate Hours 2.50 2.00 2.00 2.00 10 2.25 2.25 2.25	Total this Perials Rate 140.00 140.00 193.00 193.00 206.00	is Task Phase Amount 350.00 280.00 386.00 386.00 463.50	\$1,206.00 \$3,461.75
hase ask Profession Caesar, Adr Caesar, Adr ohnson, Cr	Totals Total Lat Total Lat 004 01 nal Personnel rian September EERMC rian September 28 EERI raig EERMC meeting att raig Attend and present uel attend Council mee uel prep for, attend and	bor Council Sponsored Mee Meeting Attendance 9/14/2023 mtg/prep 9/28/2023 MC mtg. 9/14/2023 tendance 9/28/2023 t materials at EERMC meetin 9/14/2023 eting 9/28/2023 d present at EERMC meetin	Hours 2.50 2.00 2.00 10 2.25 2.25 2.25	Total this Perials Rate 140.00 140.00 193.00 193.00 206.00	is Task Phase Amount 350.00 280.00 386.00 386.00 463.50 463.50	\$1,206.00

Professional Personnel

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000358226
		0/1/2022	Hours	Rate	Amount	
Caesar, Ad		9/1/2023	.25	140.00	35.00	
	September 14 mtg. mat updates	eriais development/prep) - 2024-2026	pian		
Caesar, Ad	rian	9/5/2023	.25	140.00	35.00	
	September EERMC mtg	prep - EE plan update p	resentation			
Caesar, Ad		9/7/2023	.25	140.00	35.00	
	2024-2026 EE Plan upda work	ate presentation develop	oment - begin	initial set up		
Caesar, Ad	rian	9/8/2023	.75	140.00	105.00	
	2024-2026 EE Plan upda up work	ate presentation develop	oment - contin	ue initial set		
Caesar, Ad	•	9/11/2023	.25	140.00	35.00	
,	2024-2026 EE plan pres					
	highlight slides.					
Caesar, Ad		9/12/2023	1.50	140.00	210.00	
	2024-2026 EE plan pres sector highlight slides.	entation development -	Continue wor	k on C&I		
Caesar, Ad	rian	9/13/2023	1.25	140.00	175.00	
	2024-2026 EE plan pres highlight slides.	entation development -	Finish work o	n C&I sector		
Caesar, Ad	rian	9/20/2023	.25	140.00	35.00	
	EERMC October LEAD se	ession planning				
Caesar, Ad	rian	9/21/2023	2.00	140.00	280.00	
	2024-2026 EE Plan/2024 budgets slides, Cost-effe					
Caesar, Ad	rian	9/22/2023	.50	140.00	70.00	
	continue work on 2024- development	2026 EE Plan/2024 Ann	ual plan prese	ntation		
Caesar, Ad	rian	9/25/2023	1.50	140.00	210.00	
	2024-2026 EE Plan/202 on C&I sector highlight		ion developme	ent - Work		
Caesar, Ad	rian	9/26/2023	3.00	140.00	420.00	
	2024-2026 EE Plan/202- work on slides.	4 Annual plan presentat	ion developme	ent - finish		
Caesar, Ad		9/27/2023	1.00	140.00	140.00	
	Updates to 2024-2026 E on final data received fr		l plan present	ations based		
Caesar, Ad		9/29/2023	1.75	140.00	245.00	
	C-Team check in - EERN potential topics, develop 2024 Annual Plans					
Johnson, C	raig	9/5/2023	.50	193.00	96.50	
	Review September 14 n deliverables.	neeting agenda, coordin	ate with team	re:		
Johnson, C		9/11/2023	1.25	193.00	241.25	
·	September Council Mate 3YP and Annual Plan pro	erials - Work on outline a	and content fo	or 2nd draft		
Johnson, C		9/12/2023	1.50	193.00	289.50	
, -	Council Materials - Work meeting with OER on de Working session with Sa	c on content for EE Plan evelopment of Septembe	review deck. er Council mat	Check-in erials.		
Johnson, C	RIE presentation on 2nd Traig	l draft plan update. 9/13/2023	.50	193.00	96.50	

Project	863223-0007525.00	Rhode Island EERMC -	2023		Invoice	00000358226
Johnson, Cra	Council Materials - Revie consolidating materials, a priorities, discuss with te slides. Final review, polis	assessment of responsiv am re: same. Finish ado	eness to cour	ncil	193.00	
	Council Materials - prep t and Adrian, review mate session to review conten Council meeting.	talking points. Prep for (rials and discuss presen	Council meetin tation rolls. W	ng with Sam /orking	190100	
Johnson, Cra	aig	9/15/2023	1.00	193.00	193.00	
	Begin assembling materi			-		
Johnson, Cra		9/20/2023	3.00	193.00	579.00	
	Working session with Sau development. September assembling C-E Report re outlining two C-Team pre draft agenda for Septem and recommended updat same.	r Council Materials Deve eference materials and s esentation on Annual ar ber Council Meeting, pro	elopment - Beg slide deck. Beg ad 3YR EE Plan ovide extensiv	gin gin work on ns. Review re feedback		
Johnson, Cra		9/21/2023	3.75	193.00	723.75	
	September Council Mater development needs with include in deck with Sam populating content. Annu with Sam and Adrian. LE deck from Rachel, make Report Presentation - Be with Rachel on developm with RIE and OER on age feedback from RIE.	Sam and Adrian. 3YP D and Adrian. Work on o ual Plan Deck - Discuss i AD Session Topics Prese edits and begin final po gin draft of deck. EERM nent of deck. Meeting Ag	eck - Discuss utline and beg items to includ entation - Rev lish. Cost-Effe C Logo Vote - genda - corres	items to gin de in deck iew draft ectiveness coordinate spondence		
Johnson, Cra		9/22/2023	1.75	193.00	337.75	
	September Council Mater development. Review, ec Presentation, Cost-Effect Effectiveness Report mat	rials - Check-in w/ team lit, and final polish on L iveness Report Presenta	on materials EAD Session ation, and Cos	t-		
Johnson, Cra	aig	9/25/2023	3.00	193.00	579.00	
	September Council Mater and vote. Draft updated Check-in on materials de	version of slide deck, sh	nare internally			
Johnson, Cra	aig	9/26/2023	6.75	193.00	1,302.75	
	September Council Mater 3YP deck. Develop and f OER. Work on and finaliz provide feedback on reco	inalize content for 3YP r e slides for Annual Plan	eview deck, c deck. Review	listribute to		
Johnson, Cra	aig	9/27/2023	.50	193.00	96.50	
	Check-in meeting w/ Rac		-			
Johnson, Cra	-	9/28/2023	.50	193.00	96.50	
Johnson Co	Prep talking points for Co			102.00	40.25	
Johnson, Cra	Council debrief with Sam agendas and materials th	nrough balance of the y		-	48.25	
Ross, Samue		9/13/2023	2.00	206.00	412.00	
_	Review, add content to, Plans, disc. same with te	am				
Ross, Samue	Morning coordination of			206.00 are for,	721.00	
Poss Samur	meet with Councilor Oak	9/20/2023	-	206.00	103.00	
Ross, Samue	51	5/20/2025	.50	200.00	102.00	

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000035822
	coord dev of council ma	terials for 9/28				
Ross, Sam	uel	9/21/2023	1.25	206.00	257.50	
	review and finalize CE p	presentation, LEAD session	ion presentatic	n		
Ross, Sam	uel	9/22/2023	.75	206.00	154.50	
	confirm plan for finaliza materials early following	· ·	y 9/22 and rer	naining		
Ross, Sam	uel	9/25/2023	1.00	206.00	206.00	
	review current status, g	uide next steps on Cou	ncil materials			
Ross, Sam	uel	9/26/2023	2.50	206.00	515.00	
	finalization of Council M	aterials for Thursday				
	Totals		51.25		9,272.25	
	Total Labor					9,272.25
				Total th	is Task	\$9,272.25
 Task	03	Other Council Responsi	 . bilities			

Duefeesteuel	Deveewal
Professional	Personnei

FIORESSIONA			Hours	Rate	Amount	
Belliveau, Eric	2	9/5/2023	1.25	220.00	275.00	
	RI RFP scope rev	iew, compare to EVT, review funding, TRM and evaluatio	ı funding path, e			
Belliveau, Eric		9/6/2023	.50	220.00	110.00	
	continued review	of RFP				
Johnson, Crai	g	9/1/2023	.25	193.00	48.25	
	Discussion w/ Sar	m re: next steps on EE Imple	ementation RFP			
Johnson, Crai	g	9/6/2023	1.50	193.00	289.50	
		of EE Implementation RFP in IC tech session. Emails w/ Er				
Johnson, Craig	g	9/12/2023	.25	193.00	48.25	
	Check-in w/ Sam	and Steve on EE Implement	ation RFP next s	steps.		
Johnson, Craig	g	9/22/2023	1.00	193.00	193.00	
	Check-in call with reviewing update	RIE on updated draft of EE s.	Implementation	n RFP. Begin		
Ross, Samuel		9/12/2023	.50	206.00	103.00	
	prep for, call with	OER and Craig re: EE RFP I	next steps			
Ross, Samuel		9/22/2023	1.00	206.00	206.00	
	EE RFP meeting v	vith OER				
	Totals		6.25		1,273.00	
	Total L	abor				1,273.00
				Total th	is Task	\$1,273.00
				Total this	Phase	\$12,874.25
Phase	005	Research, Analysis, ar	nd Other Counci			
Professional	l Personnel					
			Hours	Rate	Amount	
Caesar, Adria	n	9/12/2023	.50	140.00	70.00	
•		treach and coordination stra		10100	, 0.00	
Caesar, Adria		9/27/2023	3.25	140.00	455.00	
	C-Team Council b	priefing w/ Chair Oakley; 202 mmary/issues memo develo	24-2026 EE plan		155100	
.	Li lat process su					

2.25

9/28/2023

140.00

315.00

C-Team Council briefing w/ Chair Oakley

Caesar, Adrian

Project	863223-0007525.00	Rhode Island EERMC	- 2023		Invoice	00000358226
Johnson, Cı	raig	9/12/2023	.50	193.00	96.50	
	Meeting with Encolor to	discuss Clean Heat RI (Outreach Strate	egy.		
Johnson, Cı	raig	9/25/2023	1.00	193.00	193.00	
	Review and provide com	ment on September Ne	ewsletter for Co	ouncil.		
Johnson, Cı	-	9/27/2023	1.50	193.00	289.50	
	Councilor briefing meeting of Newsletter.	ng with Councilor Oakle	y. Review upd	ated version		
Johnson, Cı	raig	9/28/2023	5.00	193.00	965.00	
	Councilor briefing prep	vith Chair Oakley.				
Johnson, Cı	raig	9/29/2023	1.50	193.00	289.50	
	EC4 Meeting.					
Ross, Samu	iel	9/12/2023	.50	206.00	103.00	
	Encolor intro call re: Cle	an Heat program				
Ross, Samu		9/19/2023	.50	206.00	103.00	
	corresp with Councilors of final vote on 9/28.	re: meetings to discuss	plan versions	in advance		
Ross, Samu	iel	9/21/2023	3.25	206.00	669.50	
	several separate meetin prep re: same	gs with Councilors re: 3	YP and Annua	l Plan input,		
Ross, Samu	ıel	9/25/2023	.50	206.00	103.00	
	brief call with Harry to c set stage for Council mt		s and topics la	ter in week,		
Ross, Samu	ıel	9/27/2023	1.00	206.00	206.00	
	cont. conversation with	Harry				
Ross, Samu	iel	9/28/2023	5.00	206.00	1,030.00	
	extended prep session v plan, equity, PIM, EM&V		C-Team on 3Y	'P, annual		
	Totals		26.25		4,888.00	
	Total Labor					4,888.00
				Total this Phase Total this Project		\$4,888.00
						\$64,825.00
				Total this	Report	\$64,825.00

Margie Lynch/Core Energy Insights, Inc. 4445 E. Hoback River Road, Jackson, WY 83001

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

Invoice Number: CEI RI 9-2023 Invoice Date: September 30, 2023 OEI Project #: 7525

\$1,109.75

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Amount							
Services Performed 09/01/23 through 09/30/23								
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 5.75 0.00	<u>Hourly Rate</u> \$193.00 \$96.50	<u>Amount Due</u> \$1,109.75 \$0.00					
Travel Expenses (See attached travel expense form for	\$0.00							

TOTAL DUE

Margie Lynch/Core Energy Insights, Inc. Services Performed 09/01/23 through 09/30/23

		001 - EE Prog	ıram Planning & In	plementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
9/1/2023	Met w/res team to discuss next steps in 2024 planning		0.50			0.00	0.00	0.00
	Reviewed Acadia Center comments and draft presentation; conducted initial review of 2024 Plan draft 2 and compiled		1.00			0.50	0.00	0.50
	comments Discussed equity metrics w/Councilor Koo		1.00			1.00	0.00	1.00
	Reviewed and revised draft equity recommendations, metrics, and targets spreadsheet		1.00			1.00	0.00	1.00
	Determined next steps for Equity Working Group		0.25			1.00	0.00	1.00
	Prepared for and participated in EWG meeting		2.00			0.25	0.00	0.25
0/20/2020			2.00			2.00	0.00	2.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	5.75	0.00	0.00	5.75	0.00	5.75
	Total Amount	\$0.00	\$1,109.75	\$0.00	\$0.00	\$1,109.75	0.00	\$1,109.75

г

٦



BILLED TO

Optimal Energy - NV5

Hinesburg, VT 05461

10600 Route 116, Suite 3

Sam Ross

EcoMetric Consulting, LLC 41 Leopard Road, Suite 104 Paoli, PA 19301 610.400.8600 admin@ecometricconsulting.com

INVOICE

\$1,957.00

Invoice Total

\$1,957.00

TOTAL DUE

Project NameRI EERMC ConsultantInvoice Date10/04/2023Project #7525Due Date11/03/2023Invoice #1029-P9-23Payment TermsNet 30

Billing Period 09/02/2023 - 09/29/2023

Task Number	Description		Amount
001-02	Implementation Oversight & Plan Development		\$1,957.00
		Subtotal	\$1,957.00

Invoice Number Period	1029-P9-23 09/02/2023 - 09/29/2023							
Project	Task	Person	Title	Month	Hours	Rate	Amou	nt
RI EERMC Consultant	Implementation Oversight & Plan	D Salil Gogte	Partner	2023-09	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	D Michael Frischmann	Partner	2023-09	0	\$ 220.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	D Michael Honeychuck	Managing Consultant	2023-09	9.5	\$ 206.00	\$	1,957.00
RI EERMC Consultant	Implementation Oversight & Plan	D Bitul Sinha	Managing Consultant	2023-09	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	D Cory Read	Data Scientist	2023-09	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	D Jake Fuller	Managing Consultant	2023-09	0	\$ 206.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	D Mary George	Sr Engineer	2023-09	0	\$ 166.00	\$	-
RI EERMC Consultant	Implementation Oversight & Plan	D Kyle McKenna	Managing Consultant	2023-09	0	\$ 206.00	\$	-
Total					9.50		\$	1,957.00
Project	Task	Person	Title	Month	Hours	Rate	Amou	nt
RI EERMC Consultant		0 Salil Gogte	Partner	2023-09	0	\$ 220.00	\$	-
RI EERMC Consultant		0 Michael Frischmann	Partner	2023-09	0	\$ 220.00	\$	-
RI EERMC Consultant		0 Michael Honeychuck	Managing Consultant	2023-09	0	\$ 206.00	\$	-
RI EERMC Consultant		0 Bitul Sinha	Managing Consultant	2023-09	0	\$ 206.00	\$	-
RI EERMC Consultant		0		2023-09	0		\$	-
Total					-		\$	-

fname	local_date	hours task	notes
Michael Honeychuck	9/6/2023	0.5. Implementation (Invoice & discussions
Michael Honeyenaek	5/0/2025	0.5 implementation (Emails
Michael Honeychuck	9/7/2023	0.5 Implementation (Oversight & Plan Development Monthly check-in with Adrian
			Monthly C&I call with RIE and C-Team
Michael Honeychuck	9/13/2023	2.5 Implementation (Oversight & Plan Development Kitchen equipment ISP review & comments
			Emails
Michael Honeychuck	9/15/2023	1.5 Implementation (Oversight & Plan Development2021 Custom Gas & Electric reports review
Michael Honeychuck	9/18/2023	1 E Implementation (Oversight & Plan Development 2021 custom electric report review &
	9/18/2023		comments
			2021 custom electric report review &
Michael Honeychuck	9/19/2023	1.5 Implementation (Oversight & Plan Development comments
			2021 custom gas report review & comments
Michael Henovehuek	0/22/2022	1 E Implementation (Oversight & Plan Development 2022 custom electric workplan review
Michael Honeychuck	9/22/2023	1.5 implementation (Emails

Energy Futures Group, Inc. PO Box 587 Hinesburg, VT 05461

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 5983 Invoice Date: September 30, 2023 OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of S	Services		Amount		
Services Performed 09/01/2023 throug	gh 09/30/2023				
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 6.00 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$1,236.00 \$0.00		
Travel Expenses (See attached travel expense form for	details.)		\$0.00		

TOTAL DUE

\$1,236.00

Energy Futures Group, Inc. Services Performed 09/01/2023 through 09/30/2023

		001 - EE Program Planning & Implementation							
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
9/1/2023	Res Team meeting		0.50				0.00	0.00	0.00
9/5/2023	2024 plan follow-ups		0.50				0.50	0.00	0.50
9/16/2023	Review 2024 Annual Plan		1.50				0.50	0.00	0.50
9/17/2023	Review 2024 Annual Plan.		3.50				1.50	0.00	1.50
							3.50	0.00	3.50
							0.00	0.00	0.00
							0.00	0.00	0.00
							0.00	0.00	0.00
_	Total Hours	0.00	6.00	0.00	0.00	0.00	6.00	0.00	6.00
	Total Amount	\$0.00	\$1,236.00	\$0.00	\$0.00	\$0.00	\$1,236.00	0.00	\$1,236.00

GDR Consulting 576 Rutland St Carlisle MA 01741

INVOICE

-

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: Invoice Date: Sept OEI Project #:

9R September 5, 2023 7525

\$824.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of	Services		Amount		
Services Performed 09/01/23 through	09/30/23				
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 4.00 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$824.00 \$0.00		
Travel Expenses (See attached travel expense form for	r details.)		\$0.00		

TOTAL DUE

		001 - EE Prog	ram Planning & In	plementation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
							0.00	0.00	0.00
	Continued follow up w/J. Newberger on C&S savings attribution and 2024 Plan savings		0.50				0.50	0.00	0.50
	Follow up on EWSF Impact evaluation: base electric heat consumption		0.25				0.25	0.00	0.25
	Follow up w/J. Newberger on C&S savings attribution and 2024 Plan savings. Review and comment on revised draft Plan.								
9/13/2023	Summary and analysis of appliance NTG impacts		2.25				2.25	0.00	2.25
	Internal email discussion on C&S savings and EM&V		0.25				0.25	0.00	0.25
	Follow up on CT MF program activity. Review and questions on Clean Heat RI		0.75				0.75	0.00	0.75
	Total Hours	0.00	4.00	0.00	0.00	0.00		0.00	4.00
	Total Amount	\$0.00		\$0.00					\$824.00

Make Payable to: Jennifer Chiodo JLC Consulting 52 Bent Creek Road Hinesburg, VT 05416

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 INVOICE

 Invoice Number:
 R-23.05

 Invoice Date:
 9/30/2023

 OEI Project #:
 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Services	5		Amount		
Services Performed 9/01/23 through 9/30/2	3				
LABOR - Regular Hours LABOR - Travel Hours Travel Expenses (See attached travel expense form for detail	<u>Hours</u> 2.50 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$515.00 \$0.00 \$0.00		

TOTAL DUE

<u>\$515.00</u>

Make Payable to: Jennifer Chiodo Services Performed 9/01/23 through 9/30/23

		001 - EE Prog	ram Planning & Im	plementation				
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.	Sub-Total Travel Hrs.	Total Hours
9/20/23	RI Plan review and comments		2.50			2.50	0.00	2.50
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
						0.00	0.00	0.00
		ļ				0.00	0.00	0.00
		 				0.00	0.00	0.00
						0.00	0.00	0.00
	Total Hours	0.00	2.50	0.00	0.00	2.50	0.00	2.50
	Total Amount	\$0.00	\$515.00	\$0.00	\$0.00	\$515.00	0.00	\$515.00

Ralph Prahl 7001 Stanhope Place, University Park FL 34201

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 43 Invoice Date: September 30, 2023 OEI Project #: 7525

\$927.00

Work Performed for RI Energy Efficiency & Resource Management Council

Description of Se	Description of Services					
Services Performed 09/01/23 through 0)9/30/23					
LABOR - Regular Hours LABOR - Travel Hours	<u>Hours</u> 4.50 0.00	<u>Hourly Rate</u> \$206.00 \$103.00	<u>Amount Due</u> \$927.00 \$0.00			
Travel Expenses (See attached travel expense form for o	details.)		\$0.00			

TOTAL DUE

Ralph Prahl Services Performed 09/01/23 through 09/30/23

Date	Description of Services	001 - EE Prog 001-01 Council Representation	ram Planning & Im 001-02 Implementation Oversight & Plan Development	plementation 001-03 Education Initiatives	Travel Time	Sub-Total Regular Hrs.		Total Hours
9/1/2023	custom electric impact report		0.25			0.25	0.00	0.00
9/4/2023	EW study; cust elec		0.75			0.75	0.00	0.25
9/6/2023	EW report		0.50			0.50	0.00	0.75
9/7/2023	kitch eq report		0.25			0.25	0.00	0.50
9/11/2023	2024 EM&V plan		0.25			0.25	0.00	0.25
9/12/2023	custom electric impact eval		0.25			0.25	0.00	0.25
9/17/2023	2024 plan; custom impact evals		0.50			0.00	0.00	0.25
9/20/2023	2024 plan		0.25			0.50	0.00	0.50
9/21/2023	custom gas impact report		0.25			0.25	0.00	0.25
9/25/2023	2024 plan; custom gas impact report; custom electric res plan		1.00			0.25	0.00	0.25
9/27/2023	custom impact evals		0.25			1.00	0.00	1.00
						0.25	0.00	0.25
						0.00	0.00	0.00
	Total Hours	0.00	4.50	0.00	0.00	4.50	0.00	4.50
	Total Amount	\$0.00	\$927.00	\$0.00	\$0.00	\$927.00	0.00	\$927.00

Rachel Sholly 48 Hudson Street, Providence, RI 02909

INVOICE

TO : Optimal Energy Inc. 10600 Route 116, Suite 3 Hinesburg, VT 05461 Invoice Number: 69 Invoice Date: September 30, 2023 OEI Project #: 7525

Work Performed for RI Energy Efficiency & Resource Management Council

Description	Amount					
Services Performed 09/01/2023 through 09/30/2023						
LABOR - Regular Hours LABOR - Admin Hours LABOR - Travel Hours	<u>Hours</u> 42.75 0.00 0.00	<u>Hourly Rate</u> \$161.00 \$83.00 \$80.50	<u>Amount Due</u> \$6,882.75 \$0.00 \$0.00			
Travel Expenses (See attached travel expense form	for details.)		\$0.00			

TOTAL DUE

\$6,882.75

Rachel Sholly Services Performed 09/01/2023 through 09/30/2023

001 - EE Program Planning & Implementation

		UUT - EE PIOG	ram Planning & Imple	mentation					
Date	Description of Services	001-01 Council Representation	001-02 Implementation Oversight & Plan Development	001-03 Education Initiatives	006-00 Administrative	Sub-Total Regular Hrs.		Sub-Total Admin Hrs.	Total Hours
	Logo design mtg, incl. prep & follow-up call, notes &								
09/01/23	communication			2.25		2.25	0.00	0.00	2.25
	Reviewed round 2 vendor questions for awareness								
	campaign RFP and draft Council mtg agenda, related								
	correspondence; Strategized on mission & elevator pitch								
	incl. reviewing prior mtg notes, slides, timeline & work								
	plan; Emailed brand/comms working group with summary								
	& key questions			3.25		3.25	0.00	0.00	3.25
	Working session w/Council members re: mission								
	statement; Scheduled logo review mtg			1.00		1.00	0.00	0.00	1.00
	Synthesized language for mission, purpose & elevator								
	pitch; Compiled & circulated slides w/language & new								
	logos; Draft EdComm agenda, sent to OER for review;								
	Mission & logo review mtg & follow-up			6.50		6.50	0.00	0.00	6.50
	Workshopped logo designs			3.00		3.00	0.00	0.00	3.00
	Workshopped logo designs			2.75		2.75	0.00	0.00	2.75
	Updated timelines & strategy for brand/comms & public								
	awareness campaign; Finalized & sent EdComm mtg								
	agenda & materials; Finalized & circulated logo designs								
	for Council presentation; Coordinated w/Advocacy to			4.00		4.00	0.00	0.00	4.00
	finalize & post slides			4.00		4.00	0.00	0.00	4.00
	Logo design; EdComm mtg; Logo design; Advocacy presentation prep call; Finalized new logo options,								
	updated & posted final Advocacy slides; Prepared presentation notes			5.50		F FO	0.00	0.00	5 50
	EERMC mtg - brand presentation			0.50		5.50 0.50	0.00	0.00	5.50 0.50
	URI Energy Lecture #1			1.50		1.50	0.00	0.00	1.50
	Compiled LEAD topics prior & potential; C-team planning			1.50		1.50	0.00	0.00	1.50
	re: LEAD session & brand/comms work; Logo mtg								
	scheduling; Prep for brand check-in mtg; Drafted LEAD								
	slides for Council mtg			3.00		3.00	0.00	0.00	3.00
	Logo design & related communications			5.25		5.25	0.00	0.00	5.25
	Prepared slides for logo presentation at Council mtg,			0.20		0.20	0.00	0.00	0.20
	related communications			2.00		2.00	0.00	0.00	2.00
	C-team planning re: Council mtg education topics;			2.00	1		0.00	0.00	
	Energy lecture promo; Call w/P. Case (Councilor) re: logo								
09/27/23				1.00		1.00	0.00	0.00	1.00
	EERMC mtg - logo & LEAD presentations, EE Plan;								
09/28/23	Lecture series promotion			0.75		0.75	0.00	0.00	0.75
09/29/23	Updated timeline for awareness campaign RFP review			0.50		0.50	0.00	0.00	0.50
	Total Hours	0.00	0.00	42.75	0.00	42.75	0.00	0.00	42.75
	Total Amount	\$0.00		\$6,882.75			1		\$6,882.75
	i otai Alloulli	φυ.00	φ 0.00	ψ0,00Z.75	φυ.00	ψ0,002.75	φ0.00	φ υ. 00	ψ0,002.75

Certificate of Service

I hereby certify that a copy of the cover letter and any materials accompanying this certificate was electronically transmitted to the individuals listed below.

The paper copies of this filing are being hand delivered to the Rhode Island Public Utilities Commission and to the Rhode Island Division of Public Utilities and Carriers.

December 13, 2023 Date

Joanne M. Scanlon

Docket No. 22-33-EE – Rhode Island Energy's Energy Efficiency Plan 2023 Service list updated 8/4/2023

Name /Address	E-mail Distribution List	Phone
The Narragansett Electric Company	amarcaccio@pplweb.com;	
d/b/a Rhode Island Energy	cobrien@pplweb.com;	
Andrew Marcaccio, Esq.	jhutchinson@pplweb.com;	401-784-4263
280 Melrose St.	jscanlon@pplweb.com;	
Providence, RI 02907	dmmoreira@rienergy.com;	
	MOCrayne@rienergy.com;	
	BSFeldman@rienergy.com;	
	ACLi@rienergy.com;	
	DJTukey@rienergy.com;	
	SBriggs@pplweb.com;	
	BJPelletier@rienergy.com;	
	JOliveira@pplweb.com;	
	mjshafer@pplweb.com;	
	kgrant@rienergy.com;	
Leticia C. Pimentel, Esq. Steve Boyajian, Esq. Robinson & Cole LLP	sboyajian@rc.com;	
One Financial Plaza, 14th Floor	LPimentel@rc.com;	
Providence, RI 02903	HSeddon@rc.com;	
Division of Public Utilities and	Margaret.L.Hogan@dpuc.ri.gov;	401-780-2120
Carriers	Jon.hagopian@dpuc.ri.gov;	
Margaret L. Hogan, Esq.	john.bell@dpuc.ri.gov;	
	Joel.munoz@dpuc.ri.gov;	
	Ellen.golde@dpuc.ri.gov;	
	Machaela.Seaton@dpuc.ri.gov;	
	Paul.Roberti@dpuc.ri.gov;	

Synapse Energy Economics	twoolf@synapse-energy.com;	
Tim Woolf	twoon(a)synapse-energy.com,	
Jennifer Kallay	jkallay@synapse-energy.com;	-
22 Pearl Street	jkanay(a)synapse-energy.com,	
Cambridge, MA 02139		
RI EERMC	marisa@desautelbrowning.com;	401-477-0023
Marisa Desautel, Esq.	,	
Desautel Browning Law		
38 Bellevue Ave., Unit H	Adrian.Caesar@nv5.com;	
Newport, RI 02840	Craig.Johnson@nv5.com;	-
	Samuel.Ross@nv5.com;	
Office of Energy Resources (OER)	Albert.Vitali@doa.ri.gov;	401-222-8880
Albert Vitali, Esq.	Nancy.Russolino@doa.ri.gov;	
Dept. of Administration	Christopher.Kearns@energy.ri.gov;	
Division of Legal Services	Anika.Kreckel@energy.ri.gov;	
One Capitol Hill, 4 th Floor	William.Owen@energy.ri.gov;	
Providence, RI 02908	Steven.Chybowski@energy.ri.gov;	
	Nathan.Cleveland@energy.ri.gov;	
Original & 9 copies file w/:	Luly.massaro@puc.ri.gov;	401-780-2107
Luly E. Massaro, Commission Clerk John Harrington, Commission Counsel	John.Harrington@puc.ri.gov;	
Public Utilities Commission	Alan.nault@puc.ri.gov;	
89 Jefferson Blvd. Warwick, RI 02888	Todd.bianco@puc.ri.gov;	
	Emma.Rodvien@puc.ri.gov;	
Interested Party		
Dept. of Human Services Frederick Sneesby	Frederick.sneesby@dhs.ri.gov;	
RI Infrastructure Bank	cvitale@hvlawltd.com;	
Chris Vitale, Esq.,	SUsatine@riib.org;	-
Green Energy Consumers Alliance	Larry@massenergy.org;	
Larry Chretien, Executive Director		
Amanda Barker	amanda@greenenergyconsumers.org;	
Acadia Center Emily Koo	ekoo@acadiacenter.org;	401-276-0600 x402